
MATERIAL SPECIFICATIONS:
W SHAPES: ASTM A992 (Fy = 50 ksi).
HSS: ASTM A500 (GRADE B).
PLATES: ASTM A36 OR ASTM A572 (GRADE 50).
ANGLES: ASTM A36.
C SHAPES: ASTM A36.
BOLTS: ASTM A325N.
LIGHT GUAGE STEEL: ASTM A653 OR ASTM A924.
WELDS  Field Welding Not Required; Shop Electrodes E71T-1

COLORS SELECTED:
BUILDING COLOR: CREAM BEIGE
WINDOW AND DOOR TRIM COLOR: DESERT TAN
EXTERIOR DOOR OTHER THAN BURN DOORS: BRONZE
NOTE:  Burn room doors and all shutters are Galvanized Steel

“

”

EXHIBIT D

AutoCAD SHX Text
TITLE PAGE

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
SPW

AutoCAD SHX Text
SITE CLASS: D

AutoCAD SHX Text
SEISMIC DESIGN CAT: A

AutoCAD SHX Text
ROOF LIVE LOAD: 100 PSF

AutoCAD SHX Text
FLOOR LIVE LOAD: 100 PSF

AutoCAD SHX Text
WIND LOAD: 130 MPH; EXP C; RISK CAT. I

AutoCAD SHX Text
DESIGN LOADS:

AutoCAD SHX Text
GENERAL DATA Occupancy Group:  Unoccupied fire training  simulator/nonbuilding structure Construction Type:  Type II-B Area:  2541 sq. ft. Height:  30 ft Stories:  3 Allowable Area:  N/A Fire Sprinkler:  N/A

AutoCAD SHX Text
SPECIAL INSPECTIONS (cont. reports required for submittal to city inspector): 1.  HIGH STRENGTH BOLTS 2.  REINF. CONC W/ F'c > 2.5ksi 3.  WELDING - NO FIELD WELDING REQUIRED INSPECTIONS FOR REINF. CONCRETE SHALL TAKE PLACE PRIOR/DURING FOUNDATION CONSTRUCTION AND INSPECTIONS FOR HIGH STRENGTH BOLTS DURING SUPERSTRUCTURE PLACEMENT.

AutoCAD SHX Text
DESIGN CODE: FBC 2014 AND NFPA 1402

AutoCAD SHX Text
DRAWING INDEX PAGE 01 - FLOOR PLANS PAGE 02 - FLOOR PLANS CONT. PAGE 03 - ELEVATIONS PAGE 04 - ELEVATIONS CONT. PAGE 05 - ANCHOR BOLT PLAN PAGE 06 - STRUCTURAL FRAMING PLAN PAGE 07 - STRUCTURAL ELEVATIONS  PAGE 08 - STRUCTURAL ELEVATIONS  PAGE 09 - STRUCTURAL SECTIONS  PAGE 10 - STRUCTURAL SECTIONS CONT. PAGE 11 - JOIST PLAN PAGE 12 - STUD WALL ELEVATIONS PAGE 13 - MISC. DETAILS PAGE 14 - MISC. DETAILS CONT. PAGE 15 - MISC. DETAILS CONT. PAGE 16 - HOUSE WRAP INFORMATION PAGE 17 - MOVABLE PARTITION SYSTEM DETAILS PAGE 18 - STAIR DETAILS PAGE 19 - STAIR DETAILS

AutoCAD SHX Text
NFPA 1402 is the Guide to Building Fire Service Training Centers.  Chapter 1.3 states the following “Some of the Some of the structures in a fire training facility are designed to be training props and are not required to meet all of the requirements of the jurisdiction's building codes. However, the structural integrity of all props must be assured.”   

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
00 of 19

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



NOTE: 

'0 
I 

N N 

"' 
I 

"' 

N'-
N 

I 
"' 

' 
N '-
0) 
I 
"'-

ALL SHUTTERS ARE PDL #103401 AND SWING IN 
ALL DOORS ARE SET AT RN/SHED FLOOR UNLESS OTHERWISE SHOWN 

r

TYP. 3040 POL SHUTTER (#103401) 

:X
L L L 

I

L L L 

Lf 

L L w 

INSTALL WITH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR 
MOUNTED JAMB ANGLE, SUPPLIED BY POWER JAMB, 1'11LL NEED 
TO BE FIELD DRILLED TO ACCEPT DEAD BOLT. 

3070 POL DOOR (#103402) 
INSTALL RIGHT HAND (INTERIOR) POWER JAMB 
ON THIS DOOR (#329901) 

�INSTALL (2) 12 GA. STUDS (#330318) 
ON BOTH SIDES OF DOOR 

I 

I!/ L 

±
L L L 

� - 5'-7"
� 

/ 

TYPICAL FINISHING TRIM #358140 co 
LOAD BEARING STUDS ARE CLOUDED. I AT ALL LINER PANEL ENDS ;,. LOCATE (1) STUD DIRECTLY UNDER " 12'-Q" I EACH UNSUPPORTED JOIST. 

"/ 
� 

� 

-
'si-

:...J':._i- I 
I • . ,-..

� "' 
II II 

' ' -- -
:..J r---'. @

@ (fl (fl 0 "' « 
WW 

:...J � a::"' r-
m CO 
--

� 

J 

I 

J J J 

8'-8" 

3'-8" 

II 
3'-8" 

I 

! 
I 

l.l..... � 
..._) 

J 

--

<X) 
I 
"' 

--

LINER PANEL #466311000 --
Jil THIS SIDE OF WALL ONLY 

l28 TOTAL! (23) MOVABLE PARTITION WALLS #329026 
(5) PARTITION WALL TO HAVE A WORKING

r DOOR #329102. CONNECT TRACKS #329007 TO
UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL
(SEE PAGE 17)

r 

� TYP. INTERIOR WALL 
STUDS #330215 r F.O. STUDS #330225 

r 

r--------
• 

I co 
I I 
I " I 
I 

-
I 
I 
L ________ 

INSTALL WITH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR 

LINER PANEL #466311000 __/ 
r MOUNTED JAMB ANGLE, SUPPLIED BY POWER JAMB, WILL NEED 

TO BE FIELD DRILLED TO ACCEPT DEAD BOLT. 
THIS SIDE OF WALL ONLY 

/ 

3070 POL DOOR (#103402) 

,..,.--
-

L 

INSTALL ""EI �8�Q (l��BIQB) eQll'.sB J8M6 
ON THIS DOOR (#329900) 

TYP. OUTSIDE CORNER 

INSTALL (2) 12 GA. STUDS (#330311) 
TRIM #358340 

r, 

. 

' 

h 

h 

., L1 - '
M 

3'-8" 

� 3070 POL DOOR (#103402) ON BOTH SIDES OF DOOR 

A 

SCALE 

r r r r h- "o r 

11'-4" 

1/4" - 1'-0"

l20 TOTAL} (16) MOVABLE PARTITION WALLS #329031. 
(4) PARTITION WALL TO HAVE A WORKING
DOOR #329120. CONNECT TRACKS #329007 TO
UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL
(SEE PAGE 17)

23'-4" 

r h r r ,., r 

11'-4" 11'-4" 

46'-o" 

FIRST FLOOR PLAN 

\ 
\

�- RESIDENCE FLOOR 
PANELS #352323 

46'-o" 

(THIS RECESSED BALCONY 
LOCATION ONLY) 
(LOCATED BELOW CONCRETE) 

11'-o" 

h� r r 

12·-o" 

BILCO 3' x 3' FLOOR DOOR #390801 
INSTALL J SHAPED CHANNEL 
#340090 AROUND ENTIRE OPENING 
FOR DOOR SEAT. FASTEN WITH 3/8" 
DIA. BOLTS #760100 & NUTS 
#760300 TO JOIST /HEADER @ 6" 
O.C. (SEE DETAIL TO RIGHT)

11'-8" I 

I 

..l 

-

L 

L 

L 

L 

L 

L 

L 

L 

L 

;L 

�TYP. 3040 POL SHUTTER (#103401) \ 3070 POL DOOR (#103402

7 
/ / 

North arrow for reference only -
coordinate actual orientation on site 

EJ @]

@]' 
co I 
I • N 

0 - II 
II , 

0 
<X) 

@ 

BJ� [l:'.

@ 
U) 
0 
<{ 

�@]
-

BJ 

"' 

@]

RESIDENCE FLOOR PANELS #352809 
(THIS LOCATION ONLY) 
(LOCATED BELOW CONCRETE) 

FIELD TOOL GROOVES IN CONCRETE, IN 
THIS LOCATION, FOR SAFETY PURPOSES 

INSTALL (2) 12 GA. STUDS (#330335) 
ON BOTH SIDES OF DOOR 

INSTALL 1'11TH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR 
MOUNTED JAMB ANGLE. SUPPLIED BY POWER JAMB, 1'11LL NEED 
TO BE FIELD DRILUED TO ACCEPT DEAD BOLT. r

:

3070 POL DOOR (#103402) 
NSTALL RIGHT HAND (INTERIOR) POWER JAMB 

ON THIS DOOR (#j29901) 

L , L 

I
L L 

TOWER FLOOR PANELS #3523237 
ca (LOCATED BELOW CONCRETE) 

L -

..l t:.. 'LI 
-...cl--RECESSED SIDE WALL� " 

r � PANELS #366520 

I\ ca
7/.b. I 

--,/ y 

3'-6" ' 
N '

12'-0" I ' 
- THIS SIDE OF WALL ONLY 

- CONCRETE FLOOR (BY OTHERS) 
co SLOPE CONCRETE TO EXTERIOR 
I OF BUILDING RESIDENCE r-a------

>' 

0 
I 
"' 

I 

--- ------- ---. ? 

. "? 
--- -- ----- -"' 

• �

PANEL JOINT �

FLOOR PANEL---
x 1" 18 GA. T \ T6 .. 

f�-'------,� 
' ' 

FLOOR PANEL SPLICE 

JOIST 
8" X 2-1 /2" 

BACK PLATE, 6" x 1" 26 GA. #382200 

"CEE" 

FLOOR PANEL SPLICE PLATE 
scale: 1 1 /2" = 1 '-0" 

FLOOR PANELS-- -� 
6" x 1" 18 GA. 

1 
i 
! 

i 
f 

�---FASTEN FLOOR/ROOF PANELS TO 
JOISTS WITH #12 x 1 1/4" S.D. 
SCREWS #760602 AT 2'-0" O.C. 
(EACH JOIST) 

Li 
I 

IMPORTANT: I 

6" 
PLEASE NOTE ONE LEG OF THE
FLOOR PANELS IS LONGER. THE 
LONGER LEG SHOULD BE PLACED
UNDER THE SHORTER LEG TO 
ENSURE A FLAT FLOOR SYSTEM. 

FLOOR JOISTS 
8" x 2 1 /2" "CEE" 

TYPICAL FLOOR PANEL FASTENING DETAIL 
scale: 1 1 /2" = 1 '-0" 

IMPORTANT: 
AT THE TOP AND BOTTOM OF STAIRS, 
THE OUTSIDE CORNERS OF TOE 
ANGLES SHALL BE FOLDED AT A 
45· ANGLE TO FLOOR PANEL TO 
PREVENT SHARP EDGE SITUATION. 4" 

INSTALL FLOOR OPENING TOE ANGLE-­
#399000 (INSTALL WITH HEMMED LEG 
UP)(ONL Y DIRECTLY BELOW INT. GUARD 

,, .. --- _.,/,,"'-----
' ' 

� 

�// 

-�- APROXIMATE
FOLD LINE, 45 ° 

2" CONCRETE COVER 
RAILING) FASTEN ANGLE TO CONCRETE \ 
WITH TAPCONS #502840 @ 2' O.C. (MAX) \..._c=. =F7'--....-r--,---:.,---,--�.-.�-,.--l

'C"C1· 
�-· 4 . . . 

3" LEG ---:;1c;=====�============�
2"x3" CONCRETE POUR STOP ANGLE 
#397016 ATTACH TO JOIST /END TRACK 
WITH SCREWS #760600 AT 2'-0" O.C. 2" LEG 

FLOOR PANELS 
6" X f' 18 go. �- FLOOR JOISTS

TYPICAL FLOOR OPENING TRIM DETAIL 
scale: 1 1 /2" = 1'-0" 

2" LEG 
2" CONCRETE COVER

' .. 
,; LI• 

2" x3" CONCRETE POUR STOP -11f1L�,::=:::;-;:=:=::-;:::==:;--::==j 

3" LEG 
-+--=-,L �<v 

LINER PANEL #466310800 

� 

r co

/1\,_ C / .i 

ANGLE #397016 ATTACH TO 
FLOOR PANELS WITH SCREWS
#760600 AT 2' -0" O.C. 

'0 
I 

N 
N 

N'-
"' 

I 
"'-

"' 
I . --

' 
N '

\\2_V1515 "j.jt, ::tt:����:::::::t�. _ J 'L L L t.. .:....i 

3070 POL DOOR (#103408) 

..:> 

h � 
r 

� 
" 

I ..... r 

rF=========h --

" 
a·-a· 'io r

I 

�

TYP. INTERIOR WALL 

I 
3'-8" 

II 
3'-8" 

I 
;.-, (STUDS #330215) 

=o="<t
"_ I I 

"' 1---

" II II 
r---- =.-"' -

:-J (0 @ 
@ (fl 
(fl 0
"' « w

" w Ct'.
!,Q r-Ct'. 

0) 

" 

c:::) --

� --
� r--.

_\v " 
. \ � 
c- ::::>=

0 

tf-cG. STUDS #330225) r 
: STUps SIT ON FLOOR PANELS 
I I 
I I 
I I r I I 
I I 
L-------� 

r 

r 
IMeQBIAtH �Q�· 
CONCRETE MUST BE 

' , POURED IN THIS 4" AREA 
I/ 

,._ ... ...  ,._ ,._ ... 

---'-
3070 POL DOOR (#103402) ____________ ,.,-

------------

1---
>'-
>' 

' -----RESIDENCE FLOOR---� 
PANELS #352500 

(LOCATED BELOW CONCRETE) f-; �-
,.. ___ ...,...,....,__ .. _.,....,_ .. __ TYP. INTERIOR WALL-�-

2" OF 108 PCF FIBER (STUDS #330215) ----......---..... 
REINFORCED CONCRETE (F.O. STUDS #330225) n 

COVER, SLOPED FOR STUDS SIT ON FLOOR PANELS 

-
- r 

/'\ r 

r 

5'-7" r 
DRAINAGE WITH A 

LIGHTLY BROOMED FINISH. 
CROWN CONCRETE @ 

CENTER OF FLOOR. 
(CONCRETE BY OTHERS) 

TYP. OUTSIDE CORNER:---:f;z� /t,��r._,r _ _Jrc_..J"TRIM #358340 
/ ____::-----

• LINER PANEL #466310800� 
THIS SIDE OF WALL ONLY 

' 
co

;...'-
IX) 
I 

� 
N 

-
IX) 
I 

O> -

- " TYPICAL FINISHING TRIM #358140 

�-�-;,.-l�J:, ,::=---=�c_�:�=--1::::::�·r--

A

�r

T

_

A

4

L

=

L

=

L

=

IN

=

ER

=

P

�

A

�

NE

-

L

-

EN

_J��

S

--1r�I_
.
J;__J�rc_ _ _Jr;..l 

----..D 

'L, 
,! '--TOWER FLOOR PANELS #352323

\ r r 

I 
;,.

SCALE: 

-.If--;; U
,....-1, 

\
Ht-

TI· (LOCATED BELOW CONCRETE) 

¥ 'l'f 3070 PDL DOOR (#103408) 
;,. FIELD TOOL GROOVES IN CONCRETE, IN 

THIS LOCATION, FOR SAFETY PURPOSES 

3070 POL DOOR (#103402) 

(HOT DIPPED GALVANIZED) BAR GRATING ON 
CANTILEVER BALCONY AND FIRE ESCAPE 

RESIDENCE FLOOR PANELS #352807-
(THIS LOCATION ONLY) 
(LOCATED BELOW CONCRETE) 

f" 

� 
\ 2,, 

5" 45'-7 3/4" Y 4'-o" -H�----------------------------�--------------------------
1
-��--

1 

SECOND FLOOR PLAN 

1/4" 1'-0" 

� 
::s::: 
C) 
[ ."\ 

' , 

I 3·-0 .. I 

- -

� 
;,. ' --
+ I � 

0 
"' -
I II 

N ,- "'
II Zci 

,-.. 

S' @ 
@ (fl 
U) w
0 (fl 
<{ [l:'. w 
� ;e 

' 

0 
I 

;.-, 

'0 
I 

N 
N 

'n 
0 
I 

;,. 

WALL STUDS-----+->---
4" x 2" 20 go. "CEE" 

FLOOR PANELS 
6" X 1" 18 go. 

FLOOR JOISTS 

TYPICAL FLOOR EDGE TRIM DETAIL 
scale: 1 1 /2" = 1'-0" 

r�-;� FLUSH WITH
f TOP OF CONCRETE. 
���-._,_,-I 

2" CONCRETE COVER 
·.,;. .. ; .. �---·-�-: 

FLOOR PANELS-� 

J CHANNEL #340090 
FASTEN WITH 3/8" DIA. BOLTS 

BILCO 3'x3' FLOOR
DOOR #390801 

\ 
\ 

3'-7 1/2" 

�-FASTEN CURB TO CHANNEL WITH 
#12 x 1-1/4" SCREWS #760602 AT 1'-0" 
O.C. (AROUND ENTIRE PERIMETER)

2"x3" CONCRETE POUR
STOP ANGLE #397016 

-.- .. �, : ... .:.. 

#760100 & NUTS #760300 @ 6" O.C. FLOOR JOIST /HEADER 

3'x3' BILCO FLOOR DOOR WITH CONCRETE DETAIL 
scale: 3/4" = 1'-0"

REVISIONS by 

e 
j 
0: 
C 

I 

i::' 
� 
,9-
ti "'
c:, 

.Q 
� 

ill 

g :i �" �
E ain 

:::J !; .:L 
�e« 
;o.. er 
.-co 
i;�:iil 

w >
V1 
....J 
0 
Xw 
w 
i!: 
V1 
u.. 
0 wa:: w 
i!: 
V1f-a:: 
<( 
0.. 
....J....J
<( 

0 
z 
<( ""
z 
3: 
<( a:: 
0 

:r:f-

�" 
:8 
w .. 
.. 
8 

V1 
::,; 
� V1>-V1 ""
z 
z 
<( a:: f-
....J 
<( 
0 
f-
0
;:':
u..
0 

>-f-a::w
0.. 
0 a:: 
0.. 

lll!'i 

•.,, �. 
� --

......
I 

(.) 
:I: 

.....J 
w 

Cl 
0 
:i? 

0 
(.) 
(/) 
w 

3: 

Date: 

Drawn by: 

Checked by: 

Scale: 

Order Na. 

Sheet Na. 

01 

f-
:::, 
0 

:r:f-
§' 
f-a:: 
<( "' 0..

0 .... a::
0) 00 0 '° -
"' I w '° .... ....J "' 0 

3: 00 
i� 

00 w 0 z 
a:: (!) 
<( 

� 0 w a:: X 
0.. <( 0u.. :::,
z 0 
:::, 0 0 

V1 0 a:: 
:;;: w 
I a:: 0 r-

<( N w 
0 "' (D a:: - f-
z 00 0 
a:: 0 z 
:::, (!) 
(D 

� >-
....J <( 

3: w 
0 ::,; .... u.. 0 

;;:; u.. z 
0 <( 

Cl) 

� 

w 

I- 0
z

Cl) VJ 

> 
w 
f-
....J 

Cl) 
0 
-0: u.. 
wa::

CJ 
u..
u..
0 

z
z 

0 
VJ -
0 

z -0:

I -
<C 
er: 
I-

_J 
LL 

2 
0 -

<( f--
(f) I

=:) f--
u _J 

MARCH 5, 

GWL 

SPW 

z 
0 

V1 V1 
::,; a::w
0.. 
z 

�f-

\)§ 

I') N ..,. 50 co r-C]) I I{) I O>I') ..,. ..., 
I{) I') <O 

3: co 
<O � a:, 

w co -- 0 X Cl:'. (!) < 
<{ � u... 
Cl:'. X w 
a. w 

-0: B:u.. 
z --' 
:::, 0 --' VJ 0 F'-..,. <O 
0 I 

N r-
-0: I'- ..., 
0 N I 
Cl:'. I') O>

N 

z 
O> � 

Cl:'. co -
:::, 0 8 
(D (!) a:, ....J �� 
§' www "" ..,. 0 u...- u.. ::lI') u.. 0

0 ,... 

(/) 
z 
<( 
_J 
o._ 

� 0::: 
i:: 0 
_o 
" _J 
" LL 
i5i 

2018 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
       ALL DOORS ARE SET AT FINISHED FLOOR UNLESS OTHERWISE SHOWN

AutoCAD SHX Text
NOTE:  ALL SHUTTERS ARE PDL #103401 AND SWING IN

AutoCAD SHX Text
FLOOR PLANS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
SECOND FLOOR PLAN

AutoCAD SHX Text
FIRST FLOOR PLAN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
UP

AutoCAD SHX Text
LOAD BEARING STUDS ARE CLOUDED. LOCATE (1) STUD DIRECTLY UNDER EACH UNSUPPORTED JOIST.

AutoCAD SHX Text
LINER PANEL #466311000 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
TYP. OUTSIDE CORNER TRIM #358340 

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
LINER PANEL #466310800 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
RESIDENCE FLOOR PANELS #352809 (THIS LOCATION ONLY)  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
LINER PANEL #466311000 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
UP

AutoCAD SHX Text
TYP. INTERIOR WALL   STUDS #330215  F.O. STUDS #330225 

AutoCAD SHX Text
TYPICAL FINISHING TRIM #358140  AT ALL LINER PANEL ENDS

AutoCAD SHX Text
FIELD TOOL GROOVES IN CONCRETE, IN THIS LOCATION, FOR SAFETY PURPOSES

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
LINER PANEL #466310800 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
TYPICAL FINISHING TRIM #358140  AT ALL LINER PANEL ENDS

AutoCAD SHX Text
IMPORTANT NOTE: CONCRETE MUST BE POURED IN THIS 4" AREA

AutoCAD SHX Text
TYP. INTERIOR WALL   (STUDS #330215) (F.O. STUDS #330225) STUDS SIT ON FLOOR PANELS 

AutoCAD SHX Text
16 RISERS @ 7.625" = 10'-2"

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
2" OF 108 PCF FIBER REINFORCED CONCRETE COVER, SLOPED FOR DRAINAGE WITH A LIGHTLY BROOMED FINISH. CROWN CONCRETE @ CENTER OF FLOOR. (CONCRETE BY OTHERS)

AutoCAD SHX Text
TOWER FLOOR PANELS #352323 (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
RESIDENCE FLOOR  PANELS #352500  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
INSTALL WITH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR MOUNTED JAMB ANGLE, SUPPLIED BY POWER JAMB, WILL NEED TO BE FIELD DRILLED TO ACCEPT DEAD BOLT.  

AutoCAD SHX Text
3070 PDL DOOR (#103402) #103402) ) INSTALL RIGHT HAND (INTERIOR) POWER JAMB RIGHT HAND (INTERIOR) POWER JAMB ON THIS DOOR (#329901)#329901))

AutoCAD SHX Text
INSTALL (2) 12 GA. STUDS (#330335) #330335) ) ON BOTH SIDES OF DOOR 

AutoCAD SHX Text
INSTALL WITH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR MOUNTED JAMB ANGLE, SUPPLIED BY POWER JAMB, WILL NEED TO BE FIELD DRILLED TO ACCEPT DEAD BOLT.  

AutoCAD SHX Text
3070 PDL DOOR (#103402) #103402) ) INSTALL RIGHT HAND (INTERIOR) POWER JAMB RIGHT HAND (INTERIOR) POWER JAMB ON THIS DOOR (#329901)#329901))

AutoCAD SHX Text
INSTALL (2) 12 GA. STUDS (#330318) #330318) ) ON BOTH SIDES OF DOOR 

AutoCAD SHX Text
INSTALL WITH POWER JAMB LOGO OUTSIDE OF TOWER. EXTERIOR MOUNTED JAMB ANGLE, SUPPLIED BY POWER JAMB, WILL NEED TO BE FIELD DRILLED TO ACCEPT DEAD BOLT.  

AutoCAD SHX Text
INSTALL (2) 12 GA. STUDS (#330311) #330311) ) ON BOTH SIDES OF DOOR 

AutoCAD SHX Text
RECESSED SIDE WALL PANELS #366520

AutoCAD SHX Text
{28 TOTAL} (23) MOVABLE PARTITION WALLS #329026.  #329026.  .  (5) PARTITION WALL TO HAVE A WORKING  DOOR #329102. CONNECT TRACKS #329007 TO  #329102. CONNECT TRACKS #329007 TO  . CONNECT TRACKS #329007 TO  #329007 TO   TO  UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL (SEE PAGE 17)

AutoCAD SHX Text
BILCO 3' x 3' FLOOR DOOR #390801 #390801 INSTALL J SHAPED CHANNEL #340090 AROUND ENTIRE OPENING  AROUND ENTIRE OPENING FOR DOOR SEAT.  FASTEN WITH 3/8" DIA. BOLTS #760100 & NUTS #760100 & NUTS  & NUTS #760300 TO JOIST/HEADER @ 6"  TO JOIST/HEADER @ 6" O.C. (SEE DETAIL TO RIGHT)

AutoCAD SHX Text
{20 TOTAL} (16) MOVABLE PARTITION WALLS #329031.  #329031.  .  (4) PARTITION WALL TO HAVE A WORKING  DOOR #329120. CONNECT TRACKS #329007 TO  #329120. CONNECT TRACKS #329007 TO  . CONNECT TRACKS #329007 TO  #329007 TO   TO  UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL (SEE PAGE 17)

AutoCAD SHX Text
TYPICAL FLOOR PANEL FASTENING DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FLOOR PANEL SPLICE PLATE

AutoCAD SHX Text
PANEL JOINT

AutoCAD SHX Text
BACK PLATE, 6" x 1" 26 GA. #382200

AutoCAD SHX Text
FLOOR PANEL SPLICE

AutoCAD SHX Text
FLOOR PANEL

AutoCAD SHX Text
6" x 1" 18 GA.

AutoCAD SHX Text
IMPORTANT:  PLEASE NOTE ONE LEG OF THE FLOOR PANELS IS LONGER. THE LONGER LEG SHOULD BE PLACED UNDER THE SHORTER LEG TO ENSURE A FLAT FLOOR SYSTEM. 

AutoCAD SHX Text
JOIST  8" x 2-1/2"  "CEE"

AutoCAD SHX Text
FASTEN FLOOR/ROOF PANELS TO  JOISTS WITH #12 x 1 1/4" S.D. SCREWS #760602 AT 2'-0" O.C. (EACH JOIST)

AutoCAD SHX Text
FLOOR JOISTS 8" x 2 1/2"  "CEE"

AutoCAD SHX Text
FLOOR PANELS 6" x 1" 18 GA.

AutoCAD SHX Text
TYPICAL FLOOR OPENING TRIM DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL FLOOR EDGE TRIM DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
6" x 1" 18 ga.

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
INSTALL FLOOR OPENING TOE ANGLE #399000 (INSTALL WITH HEMMED LEG UP)(ONLY DIRECTLY BELOW INT. GUARD RAILING) FASTEN ANGLE TO CONCRETE WITH TAPCONS #502840 @ 2' O.C. (MAX)

AutoCAD SHX Text
2" CONCRETE COVER

AutoCAD SHX Text
IMPORTANT:    AT THE TOP AND BOTTOM OF STAIRS, THE OUTSIDE CORNERS OF TOE  ANGLES SHALL BE FOLDED AT A 45° ANGLE TO FLOOR PANEL TOPREVENT SHARP EDGE SITUATION. 

AutoCAD SHX Text
APROXIMATE FOLD LINE, 45°

AutoCAD SHX Text
4"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4" x 2" 20 ga. "CEE"

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
6" x 1" 18 ga.

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
2"x3" CONCRETE POUR STOP ANGLE #397016 ATTACH TO FLOOR PANELS WITH SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
2" CONCRETE COVER

AutoCAD SHX Text
2" LEG

AutoCAD SHX Text
3" LEG

AutoCAD SHX Text
2"x3" CONCRETE POUR STOP ANGLE #397016 ATTACH TO JOIST/END TRACK WITH SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
3" LEG

AutoCAD SHX Text
2" LEG

AutoCAD SHX Text
3070 PDL DOOR (#103402) #103402) ) INSTALL LEFT HAND (INTERIOR) POWER JAMB LEFT HAND (INTERIOR) POWER JAMB ON THIS DOOR (#329900)#329900))

AutoCAD SHX Text
(HOT DIPPED GALVANIZED) BAR GRATING ON CANTILEVER BALCONY AND FIRE ESCAPE

AutoCAD SHX Text
D

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
D

AutoCAD SHX Text
15 TREADS @ 10" = 12'-6"

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4"

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4"

AutoCAD SHX Text
POSITION THE DOOR TO SIT FLUSH WITH TOP OF CONCRETE.

AutoCAD SHX Text
BILCO 3'x3' FLOOR DOOR #390801#390801

AutoCAD SHX Text
J CHANNEL #340090 #340090 FASTEN WITH 3/8" DIA. BOLTS  #760100 & NUTS #760300 @ 6" O.C. & NUTS #760300 @ 6" O.C.#760300 @ 6" O.C. @ 6" O.C.@ 6" O.C.

AutoCAD SHX Text
scale:  3/4" = 1'-0"

AutoCAD SHX Text
3'x3' BILCO FLOOR DOOR WITH CONCRETE DETAIL

AutoCAD SHX Text
FLOOR JOIST/HEADER 

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
2"x3" CONCRETE POUR STOP ANGLE #397016

AutoCAD SHX Text
2" CONCRETE COVER

AutoCAD SHX Text
FASTEN CURB TO CHANNEL WITH  #12 x 1-1/4" SCREWS #760602 AT 1'-0" O.C. (AROUND ENTIRE PERIMETER)

AutoCAD SHX Text
TYP. 3040 PDL SHUTTER (#103401)#103401))

AutoCAD SHX Text
3070 PDL DOOR (#103402)#103402))

AutoCAD SHX Text
TOWER FLOOR PANELS #352323 (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
RESIDENCE FLOOR PANELS #352807 (THIS LOCATION ONLY)  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
TYP. INTERIOR WALL   (STUDS #330215) (F.O. STUDS #330225) STUDS SIT ON FLOOR PANELS 

AutoCAD SHX Text
FIELD TOOL GROOVES IN CONCRETE, IN THIS LOCATION, FOR SAFETY PURPOSES

AutoCAD SHX Text
3070 PDL DOOR (#103408)#103408))

AutoCAD SHX Text
RESIDENCE FLOOR  PANELS #352323  (THIS RECESSED BALCONY LOCATION ONLY)  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
TYP. OUTSIDE CORNER TRIM #358340 

AutoCAD SHX Text
CONCRETE FLOOR (BY OTHERS) SLOPE CONCRETE TO EXTERIOR OF BUILDING RESIDENCE 

AutoCAD SHX Text
3070 PDL DOOR (#103408)#103408))

AutoCAD SHX Text
3070 PDL DOOR (#103402)#103402))

AutoCAD SHX Text
3070 PDL DOOR (#103402)#103402))

AutoCAD SHX Text
3070 PDL DOOR (#103402)#103402))

AutoCAD SHX Text
TYP. 3040 PDL SHUTTER (#103401)#103401))

AutoCAD SHX Text
15

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
15

AutoCAD SHX Text
A

AutoCAD SHX Text
15

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
01 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



SIDE TOWARDS
RAPPELLING OPENING

AutoCAD SHX Text
TOWER ROOF PLAN

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
FLOOR PLANS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
TOWER ROOF PANELS #351317

AutoCAD SHX Text
SPW

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
TYPICAL ROOF PANEL OVERLAP

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FLOOR JOISTS  8" x 2-1/2"  "CEE"

AutoCAD SHX Text
FASTEN ROOF PANELS TO JOISTS WITH #12 x 1-1/4" S.D. SCREWS #760502 AT 2'-0" O.C. (EACH JOIST)

AutoCAD SHX Text
ROOF PANELS  36" x 1-1/2" 18 GA.

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL ROOF PANEL FASTENING DETAIL

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
THIRD FLOOR / RESDIENCE ROOF PLAN

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
STEP TRIM #381320

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
RESIDENCE ROOF PANELS #351317

AutoCAD SHX Text
FIELD TOOL GROOVES IN CONCRETE, IN THIS LOCATION, FOR SAFETY PURPOSES

AutoCAD SHX Text
LINER PANEL #466310800 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
IMPORTANT NOTE: CONCRETE MUST BE POURED IN THIS 4" AREA

AutoCAD SHX Text
TYP. INTERIOR WALL   (STUDS #330215) (F.O. STUDS #330225) STUDS SIT ON FLOOR PANELS 

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
TYPICAL FINISHING TRIM #358140  AT ALL LINER PANEL ENDS

AutoCAD SHX Text
RESIDENCE FLOOR  PANELS #352500  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
SHIPS LADDER #824489

AutoCAD SHX Text
4'-2 1/2"

AutoCAD SHX Text
3/8"-16 X 1" BOLT #760100 & 3/8"-16 NUT #760300 ON BOTH ENDS OF ANGLE

AutoCAD SHX Text
6" X 4" X 1/2" STRUCTURAL ANGLE #391024

AutoCAD SHX Text
NOTE:  THE THREE JOISTS ARE SHOWN AT MAXIMUM SPACING (2'-0" O.C.).  ONLY THREE JOIST NEED TO BE CONNECTED, THEREFORE THE ENTIRE LENGTH OF THE ANGLE MAY NOT NEED TO BE UTILIZED (I.E., IF THE JOISTS HAVE A SMALLER SPACING).

AutoCAD SHX Text
3/4"-10 x 3.25" A325 STRUCTURAL BOLT #391029

AutoCAD SHX Text
(1) 3/4" -10 X 2  " COUPLING 14" COUPLING NUT #391023 (THREAD APPROX. 1" OF NUT ONTO EACH BOLT)

AutoCAD SHX Text
(2) RINGBOLT SPACERS #391008  1 BETWEEN PANEL & JOIST  1 BETWEEN JOIST & NUT

AutoCAD SHX Text
INSTALL COTTER PIN #502960

AutoCAD SHX Text
(1) 1/4"THICK FLAT WASHER 

AutoCAD SHX Text
8" FLOOR OR ROOF JOIST

AutoCAD SHX Text
scale:  3" = 1'-0"

AutoCAD SHX Text
DO NOT INSTALL MORE THAN ONE RAPPELLING ANCHOR ON A SINGLE BUILDING JOIST OR MAKE SURE OR MAKE SURE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
IMPORTANT NOTE: 

AutoCAD SHX Text
THIS RAPPELLING ANCHOR SYSTEM 

AutoCAD SHX Text
IS RATED FOR 5,000 LBS WORKING 

AutoCAD SHX Text
LOAD LIMIT. 

AutoCAD SHX Text
4" LEG

AutoCAD SHX Text
SLOPE CONCRETE AWAY FROM ENCLOSURE

AutoCAD SHX Text
3/4" x 6" FORGED SWIVEL RAPPELLING ANCHOR  #391031 (GALVANIZED ANCHOR HOUSING)

AutoCAD SHX Text
(4) FLAT WASHERS #391003 FOR ROOF PANEL (ONLY - NO WASHERS REQ. FOR FLOOR PANEL)

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
RAPPELLING RING ENCLOSURE #391041  WITH PVC PLUG #391040  (FIELD CUT ENCLOSURE TO 3 1/2" TALL)

AutoCAD SHX Text
FIELD CUT CLIPS #380020 TO 3" LONG.  FASTEN CLIPS TO ROOF PANEL WITH (2) #760600 SCREWS AND BOLT TO PIPE WITH 5/16" X 1" BOLT #502920 & WIZNUT #625053 (PRE-DRILL HOLES IN PIPE TO PREVENT CRACKING)

AutoCAD SHX Text
ROOF PANEL OR FLOOR PANEL

AutoCAD SHX Text
PLUG PANEL GROOVES AROUND ENCLOSURE TO ENSURE CONCRETE WILL NOT FILL IN

AutoCAD SHX Text
RECESSED RAPPELLING ANCHOR INSTALLATION DETAIL FOR CONCRETE

AutoCAD SHX Text
(5) RAPPELLING ANCHOR(S) INSTALL NO MORE THAN ONE ANCHOR PER JOIST OR MAKE SURE OR MAKE SURE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE) (SEE DETAIL ON RIGHT)

AutoCAD SHX Text
BILCO 3' x 3' FLOOR DOOR #390801 #390801 INSTALL J SHAPED CHANNEL #340090 AROUND ENTIRE OPENING  AROUND ENTIRE OPENING FOR DOOR SEAT.  FASTEN WITH 3/8" DIA. BOLTS #760100 & NUTS #760100 & NUTS  & NUTS #760300 TO JOIST/HEADER @ 6"  TO JOIST/HEADER @ 6" O.C. (SEE DETAIL ON PAGE 1)

AutoCAD SHX Text
IMPORTANT NOTE: FLAT ROOF WORKING DECKS WITHOUT FALL PROTECTION (RAILING) DO NOT MEET OSHA STANDARDS.  RESOLUTION OF THIS DISCREPANCY IS THE CUSTOMER'S RESPONSIBILITY.

AutoCAD SHX Text
IMPORTANT NOTE: FLAT ROOF WORKING DECKS WITHOUT FALL PROTECTION (RAILING) DO NOT MEET OSHA STANDARDS.  RESOLUTION OF THIS DISCREPANCY IS THE CUSTOMER'S RESPONSIBILITY.

AutoCAD SHX Text
(3) RAPPELLING ANCHOR(S) INSTALL NO MORE THAN ONE ANCHOR PER JOIST OR MAKE SURE OR MAKE SURE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE) (SEE DETAIL ON RIGHT)

AutoCAD SHX Text
SECTION 'D' THRU CANT. BALCONY HANDRAIL

AutoCAD SHX Text
BAR GRATE

AutoCAD SHX Text
12 GA. JOIST

AutoCAD SHX Text
FLOOR TOE ANGLE #399226 INSTALL UNDER BAR GRATE AND ALONG RAIL POSTS

AutoCAD SHX Text
BALCONY TRIM #387820 INSTALL UNDER TOE ANGLE AND BEHIND RAIL POSTS

AutoCAD SHX Text
2" OF 108 PCF FIBER REINFORCED CONCRETE COVER, SLOPED FOR DRAINAGE. (CONCRETE BY OTHERS) {CREATE 11' O.C. EXPANSION JOINTS ON CONCRETE ROOF}

AutoCAD SHX Text
TOWER FLOOR PANELS #352323 (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
TOWER FLOOR PANELS #352323 (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
MITER CUT OR COPE ALL RAKE TRIMS AT CORNERS (OUTSIDE) TYP.

AutoCAD SHX Text
MITER CUT OR COPE ALL RAKE TRIMS AT CORNERS (OUTSIDE) TYP.

AutoCAD SHX Text
TYP. OUTSIDE CORNER TRIM #358340 

AutoCAD SHX Text
3070 PDL DOOR (#103408)#103408))

AutoCAD SHX Text
3070 PDL DOOR (#103402)#103402))

AutoCAD SHX Text
TYP. 3040 PDL SHUTTER (#103401)#103401))

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
02 of 19

AutoCAD SHX Text
CONCRETE IS COVERED WITH (2 COATS) OF DURABAK SLIP 2 COATS) OF DURABAK SLIP  COATS) OF DURABAK SLIP RESISTANT FINISHING DURABAK-18 POLYURETHANE PAINT (BLACK) #351999 WITH EMBEDDED RUBBER AGGREGATE  XYLENE WIPE DOWN CONCRETE SURFACE BEFORE APPLYING ROOF PAINT. . FOR APPLICATION INSTRUCTIONS SEE BACK OF PAINT CANS.  SHOULD BE APPLIED AT TEMPERATURES  BETWEEN 60°F & 95°F FOR BEST RESULTS.

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
2" OF 108 PCF FIBER REINFORCED CONCRETE COVER, SLOPED FOR DRAINAGE WITH A LIGHTLY BROOMED FINISH. CROWN CONCRETE @ CENTER OF FLOOR. (CONCRETE BY OTHERS)

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
IMPORTANT NOTE: CONCRETE ON FLOOR AND ROOF SYSTEMS MUST HAVE EXPANSION JOINTS PLACED AT MAX 11'-0" O.C. ALSO MUST PUT ISOLATION JOINTS AROUND RAPPELLING ANCHORS AND COLUMNS TO CONTROL CRACKING. *MUST BE DONE BEFORE APPLYING ROOF PAINT*

AutoCAD SHX Text
CONCRETE IS COVERED WITH (2 COATS) OF DURABAK SLIP 2 COATS) OF DURABAK SLIP  COATS) OF DURABAK SLIP RESISTANT FINISHING DURABAK-18 POLYURETHANE PAINT (BLACK) #351999 WITH EMBEDDED RUBBER AGGREGATE  XYLENE WIPE DOWN CONCRETE SURFACE BEFORE APPLYING ROOF PAINT. . FOR APPLICATION INSTRUCTIONS SEE BACK OF PAINT CANS.  SHOULD BE APPLIED AT TEMPERATURES  BETWEEN 60°F & 95°F FOR BEST RESULTS.

AutoCAD SHX Text
2" OF 108 PCF FIBER REINFORCED CONCRETE COVER, SLOPED FOR DRAINAGE. (CONCRETE BY OTHERS) {CREATE 11' O.C. EXPANSION JOINTS ON CONCRETE ROOF}

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 

AutoCAD SHX Text
SLOPE CONCRETE FOR DRAINAGE 



" 
I 

0 
'1 

'o 
I

CJ

CJ 
I 

0 
-

ROOF 
(CONCRETE) 

3RD FLOOR 
(CONCRETE) 

2ND FLOOR 
(CONCRETE) 

TOP OF 6"' CUR B 

-

22· o"-

CONCRETE POUR STOP ANGLE #387620
�

, 
{ 

I 

END WALL PANELS
"366020 TYP. I 

I 

I 

/ 
/ 

IYPQRTANJ; 

(SEE PAGE 18 FOR WEAlHERPROOFING DETAILS) 

Wraps need to be installed around exterior walls 
prior to installing the exterior wall panels. 

or Tyvek The details shown are standard details f 
omewrap and Tyvek Flexwrap. Both of 
roducts were not included in Fire Facilit 
ackage and are required to be supplied 

p 

p 

T 
in 

he G.C. will be held accountable to use 
stallation procedures provided by the 
anufacturers of all weatherproofing ma m 

s upplied by the G.C.

N OTES: 
1 WALL PANEL MUST BE FIELD 

FRAMED OPENINGS 

these 
ies material 
by the G.C. 

proper 

terials 

CUT AROUND 

2. TRIMS ARE IN STANDARD 10'
SOME FIELD CUTTING OF TRIM 

LENGTHS 
S IS REQUIRED 

vcORNER TRIMS #380320 
CONCRETE PO UR STOP ANGLE #387620 

RAKE TRIM #380820 

CORNER TRIM #380320 

4'-o" 

I 
I 7'-6" 

I --

DDL ' II 
DD[ 

� 

<D II I 
;r, 

-

' 
N 
I

CJ
-

TO P OF 6" CURB 

vv 
TO P OF FINISH FLOOR 

-- 1 

� 

ID 
10 � 

-

45' o" -

22'-8" 23'-4" 

CONCRETE POUR STOP ANGLE #387620 

� 
INSTALL END CAP #380220 

/ 
RAKE TRIM #380820

ONLY AT LIGHT CIRCLED AREAS
SH OWN ON TH IS PAGE FA STEN ' 
WITH POP RIVETS #762020 

COLUMN WRAP TRIM #376320 &
#376420 AROUND COLUMN AND 
FASTEN WITH POP RIVETS #762020 
@ 6" O.C. (TRIM #376420 FITS 
INSIDE OF #376320) *INSTALL 
BEFORE PLACING WALL PANELS* " 
USE INSIDE CORNER TRIM #380420 ����ts "'ll'Jss120 \ 
ON BOTH SIDES OF COLUMN \ - '

I 'i l 

1- C::lr)J:'" \AIAI I I • 1 • :H TRIM #..:.'""" 
.. _ _,,,\i\J�k9f,n<i-o����, .. 1RI�" #380420

I PANELS "366420 ' I I BUILDING NOTCH 

I 
, 

z 

z ,,, 
� ./ 

WALL PANELS 
- f- ,, / <D� , ' "'"� , DI Ill 1no 

81 Ill IHB 
0 

0.. 

-'==11 rlF 
f-

II CORNER TRIM "380320 
-, , , l ' 

\, _ _..,, L_ RAKE TRIM 11380820 ' ><'·- -
\ 

\ 
\ 

I'-.._ 
I \ -
l \ 

\ -
l \ 
l \ 
I 
l 

0 
\ 

\ 
\ 

\ 

I \ -

\ \ / 

SILL PANEL #380120 
INSTALL END CAP #380220 ONLY AT LIGHT 
CIRCLED AREAS SHOWN ON THIS PAGE 
FASTEN WITH POP RIVETS #762020 

_J TYP. CONCRETE POUR STOP ANGLE 3 8 7 6 2 0 _____..:", 
(SEE POUR STOP /CEILING DETAILS ON PG. 15) 

TYP. AROUND ENTIRE PERIMETER 

SOUTH END ELEVA noN 
SCALE: 1/4" = 1'-0" 

WALL PANELS 
6" x 3/4" 18 GA. 

FASTEN WALL PANELS TO STUDS--<.. 
WITH #12 x 1 1/4" S.D. SCREWS 
#104172 AT 2'-0" O.C. (EACH STUD) 

II-=---- - ----­

- ----- ---

C 
\ 

) .. 

WALL STUDS 
4" x 2" 20 GA. "CEE" 

ENSURE THAT THE BOTTOM EDGE OF 
THE UPPER PANEL IS DIRECTLY IN 
THE CORNER BEND OF THE LOWER PANEL 
TO ENSURE INTERIOR DARKNESS 

-�\

-�-
) 

ENSURE THAT THE SCREW IS
DRIVEN HARD ENOUGH TO 
BRING THE PANELS TOGETHER 
IN FIRM CONTACT 

TYPICAL WALL PANEL FASTENING DETAIL 
scale: 1 1 /2" = 1'-0" 

PANEL JOINT 

SCALE: 1/4" 1'-0" 

�-WALL PANEL SPLICE BACK---� 
PLATE #382420, 6" x 3/4" 26 GA. 

WALL PANEL 
6" x 3/4" 18 GA. 

WALL PANEL SPLICE PLATE 
scale: 1 1 /2" = 1'-0" 

WEST SIDE ELEVA noN 

�-WALL STUD
4" x 2" 20 GA. "CEE" 

WALL PANEL 

ROOF 
(CONCRETE) 

CJ 

3RD FLOOR/FLAT ROOF 
CONCRETE 

CJ " 
I I 

0 0 
- '1 

2ND FLOOR 
(CONCRETE) 

...... 
- FR 

'
N AMED OPENING TRIM #381170CL I
CJ
-

FR AMED OPENING SILL TRIM #381620CL

TOP OF 6" CURB 

6" x 3/4" 18 GA. 

�·- ·(
·---·-· of--·r-· ·r·---· 

>-- WALL STUDS

WALL STUD --=-=-"-J­

OUTSIDE CLOSURES #360091=---:���::2
(INSTALL UNDER ANGLE TRIMS) 

WALL PANEL---�::--
fX 6" 18 GA. 

ANGLE TRIM #388020 AND --� 
FASTEN WITH POP RIVETS 
#762020 @ 18" ON CENTER 

CORNER TRIM #380420 

FASTEN TRIM TO PANEL WITH #12 x 3/4" S.D. SCREWS 
#104082 @ 6" O.C. (CENTER OF EACH PANEL) 

TYPICAL INSIDE CORNER TRIM DETAIL 
scale: 1 1 /2" = 1 '-0" 

WALL STUD:��;:::::
WALL PANEL-- -------
3/4" x 5" 18 GA. 

0 U TS I D E CLOS U R ES # 3 6 0 0 91--;,,<....:::--:::::::::..,n 
(INSTALL UNDER ANGLE TRIMS) 

ANGLE TRIM #388020 AND 
FASTEN WITH POP RIVETS 
#762020 @ 18" ON CENTER 

CORNER TRIM #380320 

'-..._WALL PANEL 
3/4" x 6" 18 GA. 

FASTEN TRIM TO PANEL 
WITH #12 x 3/4" S.D. 
SCREWS #104082 @ 6" O.C. 
(CENTER OF EACH PANEL) 

TYPICAL EXTERIOR CORNER TRIM DETAIL 
scale: 1 1 /2" = 1 '-0" 

FASTEN TRIM TO STUDS WITH " 

#12 x 1 1/4" S.D. SCREWS #�
"' -·-· --­

AT 2'-0" O.C. (EACH STUD) ' 
<D 

SILL TRIM #380120-- - -� 
+----- ·��v

4" x 2" 20 GA. "CEE" 

STUD WALL TRACK #340162 
4" x 2" 16 GA. CHANNEL 

....------t INSTALL TWO CONTINUOUS STRIPS OF 

ID ' "' 
<D => 

CAULK TAPE #760703 AS SHOWN 
(EXTERIOR WALLS ONLY) 

, FOUNDATION� 

TYPICAL SILL DETAIL 
scale: 1 1 /2" = 1'-0" 

REVISIONS by 

I 
.: 

i 
2"'
"• • •• � 

i:: 
.5:! 
-

-�"'"
c::, 
.Q 

ill
"� 

0 � 

&li�-� 
E.!! I 
::::i�OI � e« 
ii 0.. 'f 
... co 
;; ,ii iii 
"; � 

w 
> 
VJ 
::::, 

u
X w 
w 
I 
f-

VJ 

"-
0w 
c::w 

VJ 
f-c::
<"-
_J 
_J 
<
0 
z 
<
C) 
z 
3:
<
c:: 
0 
VJ 
I 
f-

� 
w 
Q. 

...
8

0 � 
• 

VJ"'
�
VJ
>-
VJ 
C) 
z 
z 
< c:: 
f-
_J 
< 
u 

f-
u 

i'.!: 
"-
0 

>-
f-
c::w "-
0 
c:: "-

� 

• 
.,, 
�. 
'111111. 
--

'I""" 

I 
(.) 
:I: 

.....J 
w 

0 

0 
� 

0 
(.) 
Cf) 
w 

3:: 

Date: 

Drawn by: 

Checked by: 

Scale: 

Order Na. 

Sheet No. 

03 

f-
::::, 
0 

:r: 
f-
;;: 
f-
c::
<

"' "-
0 ... c:: "' 0:, 0 
ll) 

-"' I w 
ll) ... _J"' 0

3: 0:, 
i-

0:, w 0 z 
c:: co 
< 

� 0 w c:: X 
"- < u 

"-
z 0 
::::, 0 0 

VJ 0 c:: 
:;,: w 
I c:: 0 r--< N w 

0 "' CD c:: 
- f-

z 0:, 0 
c:: 0 z 
::::, co 
CD 

� >-
_J < 
3: w 

u 
"' 

... "- 0 

;;, 
"- z 
0 < 

Cl) 

� 

w

I- 0
z

Cl) VJ 

> 
w 
f-
_J 

Cl) 
0 
<"-
w
c:: 

(!J 
"-
"-
0 

z
z 
0 

VJ 
-

0 

z < 

-

<( 
a: 
I-

_J 
LL 

2 
0 

" 
<( 

f-
(/) :r::
=> f-

u _J 

MARCH 5,

z 
0 

VJ 
VJ "'c::w"-
z 

� 
f-

� 

"' N
... 50 0:, ,_a, - I I{) I 0, "' ... ,.., 

ll) "' <O 

;;: 0:, 
<O 

� 0:, 

w- co -- 0 X c:: co <
< � "-
c:: X 

w
"- w< El:"-z _J 
::, 0 _J 
VJ 

0 F' 
-
... <O 

0 I N ,_< " ,.., 
0 N I 
c:: "' 0, N 
z 

0, � 
c:: 0:, -
::, 0 8 
CD co 0:, 
_J �� 
3: ww"'
... 0 "-
- "- ::l"' "- 0 

0 f-

(/) 
z 0 

•, I-
� :;; 
_w 
" _J 
"w 

6i 

2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
SOUTH END ELEVATION

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
TOP OF FINISH FLOOR

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
CORNER TRIMS #380320

AutoCAD SHX Text
END WALL PANELS

AutoCAD SHX Text
#366020 TYP.

AutoCAD SHX Text
CORNER TRIM #380320

AutoCAD SHX Text
WEST SIDE ELEVATION

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
ELEVATIONS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
PANELS #366120

AutoCAD SHX Text
TOWER SIDE WALL 

AutoCAD SHX Text
SILL PANEL #380120  

AutoCAD SHX Text
TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
RESIDENCE SIDE WALL 

AutoCAD SHX Text
PANELS #366420

AutoCAD SHX Text
SPW

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
NOTCH TRIM #384620

AutoCAD SHX Text
CORNER TRIM #380320

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
#366020

AutoCAD SHX Text
BUILDING NOTCH

AutoCAD SHX Text
@ INSIDE CORNER OF 

AutoCAD SHX Text
INSIDE CORNER TRIM #380420

AutoCAD SHX Text
COLUMN WRAP TRIM #376320 & #376420 AROUND COLUMN AND FASTEN WITH POP RIVETS #762020  @ 6" O.C. (TRIM #376420 FITS INSIDE OF #376320) *INSTALL *INSTALL BEFORE PLACING WALL PANELS*  PLACING WALL PANELS* USE INSIDE CORNER TRIM #380420 ON BOTH SIDES OF COLUMN 

AutoCAD SHX Text
TYP. CONCRETE POUR STOP ANGLE #387620 (SEE POUR STOP/CEILING DETAILS ON PG. 15)

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR (CONCRETE)

AutoCAD SHX Text
3RD FLOOR (CONCRETE)

AutoCAD SHX Text
ROOF (CONCRETE)

AutoCAD SHX Text
INSTALL END CAP #380220 ONLY AT LIGHT CIRCLED AREAS SHOWN ON THIS PAGE FASTEN WITH POP RIVETS #762020

AutoCAD SHX Text
FRAMED OPENING TRIM #381170CL

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #381620CL

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR (CONCRETE)

AutoCAD SHX Text
3RD FLOOR/FLAT ROOF (CONCRETE)

AutoCAD SHX Text
ROOF (CONCRETE)

AutoCAD SHX Text
     SOME FIELD CUTTING OF TRIMS IS REQUIRED

AutoCAD SHX Text
1.   WALL PANEL MUST BE FIELD CUT AROUND

AutoCAD SHX Text
2.   TRIMS ARE IN STANDARD 10' LENGTHS

AutoCAD SHX Text
     FRAMED OPENINGS

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
TYPICAL WALL PANEL FASTENING DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FASTEN WALL PANELS TO STUDS

AutoCAD SHX Text
WITH #12 x 1 1/4" S.D. SCREWS

AutoCAD SHX Text
#104172 AT 2'-0" O.C. (EACH STUD)

AutoCAD SHX Text
FOUNDATION

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
SILL TRIM #380120

AutoCAD SHX Text
FASTEN TRIM TO STUDS WITH

AutoCAD SHX Text
#12 x 1 1/4" S.D. SCREWS #104172

AutoCAD SHX Text
AT 2'-0" O.C. (EACH STUD)

AutoCAD SHX Text
STUD WALL TRACK #340162

AutoCAD SHX Text
4" x 2" 16 GA. CHANNEL

AutoCAD SHX Text
TYPICAL SILL DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
WALL PANEL SPLICE PLATE

AutoCAD SHX Text
PANEL JOINT

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
PLATE #382420, 6" x 3/4" 26 GA.

AutoCAD SHX Text
WALL PANEL SPLICE BACK

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
ENSURE THAT THE BOTTOM EDGE OF

AutoCAD SHX Text
THE UPPER PANEL IS DIRECTLY IN

AutoCAD SHX Text
THE CORNER BEND OF THE LOWER PANEL

AutoCAD SHX Text
TO ENSURE INTERIOR DARKNESS

AutoCAD SHX Text
ENSURE THAT THE SCREW IS 

AutoCAD SHX Text
DRIVEN HARD ENOUGH TO 

AutoCAD SHX Text
BRING THE PANELS TOGETHER 

AutoCAD SHX Text
IN FIRM CONTACT

AutoCAD SHX Text
(CENTER OF EACH PANEL)

AutoCAD SHX Text
SCREWS #104082 @ 6" O.C. 

AutoCAD SHX Text
WITH #12 x 3/4" S.D. 

AutoCAD SHX Text
FASTEN TRIM TO PANEL 

AutoCAD SHX Text
3/4" x 6" 18 GA. 

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
3/4" x 6" 18 GA. 

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
CORNER TRIM #380320

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL EXTERIOR CORNER TRIM DETAIL

AutoCAD SHX Text
OUTSIDE CLOSURES #360091 (INSTALL UNDER ANGLE TRIMS)

AutoCAD SHX Text
FASTEN TRIM TO PANEL WITH #12 x 3/4" S.D.  SCREWS #104082 @ 6" O.C. (CENTER OF EACH PANEL)

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
"X 6" 18 GA. 

AutoCAD SHX Text
ANGLE TRIM #388020 AND 

AutoCAD SHX Text
FASTEN WITH POP RIVETS 

AutoCAD SHX Text
#762020 @ 18" ON CENTER

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
CORNER TRIM #380420

AutoCAD SHX Text
TYPICAL INSIDE CORNER TRIM DETAIL

AutoCAD SHX Text
ANGLE TRIM #388020 AND  FASTEN WITH POP RIVETS  #762020 @ 18" ON CENTER

AutoCAD SHX Text
OUTSIDE CLOSURES #360091 (INSTALL UNDER ANGLE TRIMS)

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
03 of 19

AutoCAD SHX Text
IMPORTANT: (SEE PAGE 16 FOR WEATHERPROOFING DETAILS) Wraps need to be installed around exterior walls prior to installing the exterior wall panels. The details shown are standard details for Tyvek Homewrap and Tyvek Flexwrap.  Both of these products were not included in Fire Facilities material package and are required to be supplied by the G.C.  The G.C. will be held accountable to use proper installation procedures provided by the manufacturers of all weatherproofing materials supplied by the G.C. 

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
INSTALL END CAP #380220 ONLY AT LIGHT CIRCLED AREAS SHOWN ON THIS PAGE FASTEN WITH POP RIVETS #762020

AutoCAD SHX Text
INSTALL TWO CONTINUOUS STRIPS OF CAULK TAPE #760703 AS SHOWN (EXTERIOR WALLS ONLY) 



IMPORTAT : 
KEEP WALL PANEL SCREW WITHIN
3/4" FROM THE INSIDE EDGE OF 
FRAMED OPENING TO ENSURE THAT 
THE CLOSURE WILL FIT BEHIND THE

F.O. TRIM W/0 STICKING OUT

SHUTTER DRIP 
LEDGE #388320 
(DOOR DRIP LEDGE

#388420) FASTEN

@ 9" O.C. WITH 
SCREWS #104172 

TAPE CAULK 
#760703 
OUTSIDE CLOSURE 
#360091 

SEAL BEHIND DRIP LEDGE AS SHOWN

TAPE CAULK #760703 SHOULD 
OVER LAP CLOSURE AS SHOWN

OUTSIDE CLOSURE #360091 
(RUN CLOSURE PAST TRIM) 

OUTSIDE CLOSURE -� 
#360091 

FASTEN WITH SCREWS #760600 @ 6" O.C. 

CONCRETE STOP ANGLE #387620 
(ALIGN EDGE OF ANGLE TO EDGE OF WALL STUD) 

CAULK TAPE #7 CONCRETE 60703 ' / 

/ 

-,n 'lT--T-==---- WALL PAN EL 

STEP TRIM #381320 

WALL STUDS-�-1

RAKE TRIM #38 

WALL 
6" X 

-..;: 

0820 \ I \ I \ I 

+---- � I 

PANELS / L ROOF JOIST

3/4" 18 GA. 
� 
/ WALL STUDS 

A 

V 

FLAT ROOF RAKE TRIM DETAIL 
NOTE: 
USE CONCRETE STOP ANGLE #387620 

' r
'> 

FASTEN TRIM TO ROOF PANEL WITH #12 x AROUND ENTIRE PERIMETER OF FLAT ROOF AREA TYP. 
TAPE CAULK #760703- ---tt -ttt-, 1-1/4" SCREWS #104172 AT 1'-0" O.C.

ROOF PANELS 
36" X 1-1/2" 18 GA. 

SET DRIP LEDGE -� 
DIRECTLY ABOVE F.O. 
TRIM F.O. TRIM 

#381170CL 
INSTALL BOTH END CAPS ----...._ 
#380220CL AND FASTEN WITH (4) 

EXTERIOR WALL 
ADFF'""=rt-- P AN EL 

��<� 

�___,_,_-�:cc-c--=-c�:::_=-::cs--- CAULK #7 6 0800 FOR WATER 1--_u_JJ L.L ____ ;;;..l_ �Lf_\...L___!J___JJ__�-- ROOF PAN EL
RESISTANCE ON BOTH SIDES 
AT BOTTOM EDGE AS SHOWN 

�--- FASTEN WITH SCREWS 
#760600 @ 6" O. C. 

POP RIVETS #762020 

BEFORE INSTALLING END CAP ___ _,, 
CAULK BETWEEN END CAP AND 
SILL TRIM 

END CAP----// 
EXTERIOR WALL _ __....,, 
PANEL 

\,,, OUTSIDE CLOSURE 
#360091 

F.O. TRIM 
#381170CL 

VIEW 

-----� 

SILL TRIM 
#381620CL ISOMETRIC VIEW 

.,..-c-- FASTEN TRIM TO WALL 
PANELS @ 1'-0" O. C. 
W/POP RIVETS #762080 
(START AT BOTTOM EDGE) 

FRAMED OPENING SHUTTER CLOSURE DETAIL (DOOR SIMILAR) 

0 
I 

0 
-

ROOF 
(CONCRETE) 

3RD FLOOR/FLAT 
CONCRETE 

' 

ROOF 

23'-4" 

CONCRETE POUR STOP ANGLE #387620 

/ RAKE TRIM #380820 

" 
lu SI I n· WALi ----.
PANELS "366120 

45' o" -

� 

\ 

\ - -.'' 
' ' 

22'-8" 

NOTES: 
1. WALL PANEL MUST BE FIELD CUT AROUND

FRAMED OPENINGS
2. TRIMS ARE IN STANDARD 1 o· LENGTHS

SOME FIELD CUTTING OF TRIMS IS REQUIRED

INSTALL END CAP #380220 
ONLY AT LIGHT CIRCLED AREAS 
SHOWN ON THIS PAGE FASTEN 
WITH POP RIVETS #762020 

�
CONCRETE POUR STOP ANGLE #387620 

r 

> 
> 

> 

> 
> 

FLA T RESIDENCE ROOF STEP TRIM 

. . . 

INPABIANT! 

(SEE PAGE 18 FOR WEA :ntERPROOFING DETAILS) 

Wraps need to be install 
prior to installing the ex 

ed around exterior walls 
terior wall panels. 

The details shown are st andard details for Tyvek
Homewrap and Tyvek Fie xwrap. Both of these 
products were not includ ed in Fire Facilities material 

d to be supplied by the G.C.package and are require 

The G.C. will be held ace ountable to use proper
ovided by theinstallation procedures pr 

manufacturers of all wea 
supplied by the G.C. 
. . . 

therproofing materials 

CONCRETE POUR STOP ANG 

CONCRETE POUR STOP ANG 

CONCRETE STOP ANGLE #387620 
(ALIGN EDGE OF ANGLE TO EDGE

-===
CO

=
N

=
C

=
R

=
E

=
T

=
E 

==:::;;;£� ----------CAULK TAPE #760703
- -..----- RAKE/EAVE TRIM 

#380820 

OF WALL STUD) 

NOTE: 
ROOF PANELS 
18 ga. ------INSIDE CLOSURE #351302 TAPE- -� CAULK BOTH TOP AND BOTTOM OF 

1. SEE ROOF PANEL DETAIL FOR
FASTENER PATTERN

WALL STUDS 

CLOSURE

�-WATER TIGHT EAVE ANGLE #380015 
INSTALL BELOW INSIDE CLOSURE AND 
OUTSIDE OF WALL PANELS 

-------STUD WALL 

,�------WALL PANELS 
6" X 3/4" 18 ga. 

FLAT ROOF EAVE TRIM DETAIL 

22· o" -

LE #387620
� 

C 

LE #387620 
3RD 

ROOF 
(CONCRETE) 

0 
I 

0 
-

FLOOR/FLAT ROOF 
CONCRETE 

RAKE TRIM #380820 RAKE TR IM #380820 

\ 
\ 

.. �CORNER TRIM #380320 CORNER TRIM #380320 
f-

.NL t' 11-1' I 1 • 

' 
N 
I 

0 
n 

0 
I 

0 

' 
N 
I 

0 

2ND FLOOR 
(CONCRETE) 

TOP OF FINISH FL OOR 

TOP OF 6" CUR B 

Bl 
Ell 

I 

\ 

" 

SCALE: 1/4" 

'\ 
' 

'' ' 

II Ii 
II 
II 

II Ii 
" 
II 

I I 

\ 
I 
I 

I 

\ 
\ 

FRAMED OPENING SILL \ 

TRIM #381620CL TYP. 

1 '-0" 

,I 11 1 
I 111 

II 

I I 

/ 
I 
I / 
I / 

\\ / 
I I / / 

\ I / / 

\ I / / 

\\ // 
\\ // 
v; FRAMED OPENING TRIMS

#381170CL TYP. 

I 
II 

I 

RESIDENCE SIDE WALL
PANELS 11366420 

I 
' 

I '=°I 

0 

-TACTICAL SIGN #300006
(FIELD LOCATE)

EAST SIDE ELEVATION 

4'-0" 3'-6" 

I 

DI 
II 

,BJ I III 

D EDI I 
"' 
I 

n 

-

� -

I 

� 

1
--

I 

f-
f-

f-

4'-o" f-

f-

11 
I

I 

I 

/ �. 

/ 

1: 
I 

'I II 

II II 

� 
� 

ff ff ff /II 

�:>' 
� I / 

.T / 

/ / "
/ / ,-,L w /r

,�,, \\ 
/ / 

/ / 

/ / 
/ / 

I/ 

__/SILL PANEL #380120 TYP. 
AROUND ENTIRE PERIMETER 

, 

/ 

RRI 
�ul 

LJ 

NORTH END ELEVATION 
SCALE: 1/4" = /'-0" 

-

-
-
-
-

1[8 
l[EJ 

� 
6'-0" 

2ND FLOOR 
(CONCRETE) 

TOP OF 6" CURB 

C ' 
0 N 
I I 

0 0 - n 

' 
N 
I 

0-

REVISIONS by 

e 

1 
a: 

J 

c:' 
.� 
-

-�.,
..c::, 
.Q 

��
� 
0 " 

&:I:� 

E,f7 ,_., 
� e« 
ii 0.. 'f
.. co 
;;;�:i: 

w > 
V1 
:::, 

u 
Xw
w 
f-
V1 

LL 
0 w 
a:: w 

V1
f-
a:: 
<( 
o._ 
_J 
_J 
<( 

0z 
<( 

c.,) z 
3: 
<( 
a:: 

V1 :r:
f-

��
:8 
w 
.. 

.. 

8 

(/) "" 
� 
(/) 
>-
(/) 

c.,) z 
z 
<( 
a::
f-
_J 
<( 
u 
f-
u 

� 
LL 
0 

>-
f-
a:: w
o._ 
D 
a:: 
o._ 

lll!'i 

• 
.,, 
�. 
�

--

T'"" 

I 
(.) 
I 

w 

0 
� 

0 
(.) 
en 
w 

3: 

Date: 

Drawn by: 

Checked by: 

Scale: 

Order No. 

Sheet No. 

04 

f-

0 

:r:
f-
§' 
f-
a:: 
<( 

"' o._ 

D 
.... a:: 

a, 00 0 
LO -

"' I w 
LO .... _J"' 0 

3: 
00 

i � 
00 w D z 

a:: <D 

<( 
� 0 w a:: X 

o._ <( u 
LL :::, 

z 0 
:::, D 0 

V1 D a:: 
;;:: o._w
I a:: 0 ,..._ 

<( N w 
0 "' CD 
a:: � f-z 00 0

a:: D z 
:::, <D 

CD � >-
_J <( 

3: w 
u 

"" 
.... LL 0 

;;:; 
LL z 
D <( 

Cl) 

� 

w 

I- r_j z
Cl)

(/) 

> 
w 
f-
_J 

Cl) 
u 
<( 
LL 

wc:: 

CJ 
LL 

LL 

z 
z 
D 
(/) 

-

0 

z <( 

-

<C 
a: 

I-

_J 
LL 

2 
0 " 

<( 
f-
(/) I 
=:) f-

u _J 

MARCH 5, 

GWL 

SPW 

z 
0 

(/) 
V1
""
a:: w
o._
z 
�
f-

\)§ 

"' N + 5D 00 r--
a, I LO I O> "' + ...,
LO "' ""

3: 00 
� 00 

w co -
- 0 X a:: <D < 
<( � u... 
c:: X 

w 
o._ w 

<( e: LL z
_J 

:::, D _J 

(/) D 
+ ""

0 I N 

<( r-- ..., 
D N I c:: "' O> 

N 

z O> � c:: 00 -
:::, D 8 
CD <D 00 
_J �� 
3: www c:: .... u u...
-

LL ::l "' LL 00 ,...

I.I) 

z 
0 

.. I-
� <( 
I:: >
_w 
.. _J 
.. w 
i5i 

2018 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
FRAMED OPENING TRIMS

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
EAST SIDE ELEVATION

AutoCAD SHX Text
#381170CL TYP.

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
NORTH END ELEVATION

AutoCAD SHX Text
END WALL PANELS TYP.

AutoCAD SHX Text
#366020

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
ELEVATIONS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
2.   TRIMS ARE IN STANDARD 10' LENGTHS

AutoCAD SHX Text
1.   WALL PANEL MUST BE FIELD CUT AROUND

AutoCAD SHX Text
     SOME FIELD CUTTING OF TRIMS IS REQUIRED

AutoCAD SHX Text
     FRAMED OPENINGS

AutoCAD SHX Text
SPW

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
CORNER TRIM #380320

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #381620CL TYP.

AutoCAD SHX Text
CORNER TRIM #380320

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
TOP OF FINISH FLOOR

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
TM

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC. -

AutoCAD SHX Text
TACTICAL TRAINING 

AutoCAD SHX Text
SYSTEMS,  INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
TACTICAL SIGN #300006

AutoCAD SHX Text
(FIELD LOCATE)

AutoCAD SHX Text
SILL PANEL #380120 TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR (CONCRETE)

AutoCAD SHX Text
3RD FLOOR/FLAT ROOF (CONCRETE)

AutoCAD SHX Text
ROOF (CONCRETE)

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR (CONCRETE)

AutoCAD SHX Text
3RD FLOOR/FLAT ROOF (CONCRETE)

AutoCAD SHX Text
ROOF (CONCRETE)

AutoCAD SHX Text
PANELS #366120

AutoCAD SHX Text
TOWER SIDE WALL 

AutoCAD SHX Text
RESIDENCE SIDE WALL 

AutoCAD SHX Text
PANELS #366420

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387620

AutoCAD SHX Text
SILL TRIM #381620CL 

AutoCAD SHX Text
F.O. TRIM #381170CL

AutoCAD SHX Text
EXTERIOR WALL PANEL

AutoCAD SHX Text
WALL PANEL CLOSURE

AutoCAD SHX Text
F.O. TRIM

AutoCAD SHX Text
TAPE CAULK #760703

AutoCAD SHX Text
OUTSIDE CLOSURE #360091

AutoCAD SHX Text
F.O. TRIM #381170CL

AutoCAD SHX Text
SET DRIP LEDGE DIRECTLY ABOVE F.O. TRIM

AutoCAD SHX Text
FASTEN TRIM TO WALL PANELS @ 1'-0" O.C. W/POP RIVETS #762080 (START AT BOTTOM EDGE)

AutoCAD SHX Text
CAULK #760800 FOR WATER RESISTANCE ON BOTH SIDES AT BOTTOM EDGE AS SHOWN

AutoCAD SHX Text
FRAMED OPENING SHUTTER CLOSURE DETAIL (DOOR SIMILAR)

AutoCAD SHX Text
ISOMETRIC VIEW

AutoCAD SHX Text
EXTERIOR WALL PANEL

AutoCAD SHX Text
OUTSIDE CLOSURE #360091

AutoCAD SHX Text
END CAP

AutoCAD SHX Text
OUTSIDE CLOSURE #360091  (RUN CLOSURE PAST TRIM)

AutoCAD SHX Text
SHUTTER DRIP LEDGE #388320 (DOOR DRIP LEDGE #388420) FASTEN @ 9" O.C. WITH SCREWS #104172

AutoCAD SHX Text
RUN CONTINUOUS LINE OF TAPE CAULK #760703 LINE BEHIND DRIP LEDGE AS SHOWN

AutoCAD SHX Text
SEAL BEHIND DRIP LEDGE AS SHOWN

AutoCAD SHX Text
CAULK #760800 MITERED F.O TRIM

AutoCAD SHX Text
EXTERIOR WALL PANEL

AutoCAD SHX Text
OUTSIDE CLOSURE #360091

AutoCAD SHX Text
INSTALL DRIP LEDGE PAST F.O. TRIM

AutoCAD SHX Text
SECTION VIEW

AutoCAD SHX Text
IMPORTAT: KEEP WALL PANEL SCREW WITHIN 3/4" FROM THE INSIDE EDGE OF FRAMED OPENING TO ENSURE THAT THE CLOSURE WILL FIT BEHIND THE F.O. TRIM W/O STICKING OUT  

AutoCAD SHX Text
INSTALL BOTH END CAPS #380220CL AND FASTEN WITH (4) POP RIVETS #762020 BEFORE INSTALLING END CAP CAULK BETWEEN END CAP AND SILL TRIM

AutoCAD SHX Text
TAPE CAULK #760703 SHOULD OVER LAP CLOSURE AS SHOWN

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
CONCRETE

AutoCAD SHX Text
NOTE:  USE CONCRETE STOP ANGLE #387620 AROUND ENTIRE PERIMETER OF FLAT ROOF AREA TYP.

AutoCAD SHX Text
 FLAT ROOF RAKE TRIM DETAIL

AutoCAD SHX Text
CONCRETE

AutoCAD SHX Text
CONCRETE STOP ANGLE #387620 (ALIGN EDGE OF ANGLE TO EDGE OF WALL STUD)

AutoCAD SHX Text
STUD WALL

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
NOTE:

AutoCAD SHX Text
1.  SEE ROOF PANEL DETAIL FOR

AutoCAD SHX Text
    FASTENER PATTERN

AutoCAD SHX Text
 FLAT ROOF EAVE TRIM DETAIL 

AutoCAD SHX Text
ROOF PANELS  18 ga.

AutoCAD SHX Text
INSIDE CLOSURE #351302 TAPE CAULK BOTH TOP AND BOTTOM OF CLOSURE

AutoCAD SHX Text
WATER TIGHT EAVE ANGLE #380015 INSTALL BELOW INSIDE CLOSURE AND OUTSIDE OF WALL PANELS

AutoCAD SHX Text
6" x 3/4" 18 ga.

AutoCAD SHX Text
FASTEN WITH SCREWS #760600 @ 6" O.C.

AutoCAD SHX Text
FASTEN WITH SCREWS #760600 @ 6" O.C.

AutoCAD SHX Text
36" x 1-1/2" 18 GA.

AutoCAD SHX Text
ROOF PANELS

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
CONCRETE STOP ANGLE #387620 (ALIGN EDGE OF ANGLE TO EDGE OF WALL STUD)

AutoCAD SHX Text
RAKE/EAVE TRIM #380820

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
04 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
FLAT RESIDENCE ROOF STEP TRIM

AutoCAD SHX Text
FASTEN TRIM TO ROOF PANEL WITH #12 x 

AutoCAD SHX Text
1-1/4" SCREWS #104172 AT 1'-0" O.C.

AutoCAD SHX Text
TAPE CAULK #760703

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #381320

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
INSTALL END CAP #380220 ONLY AT LIGHT CIRCLED AREAS SHOWN ON THIS PAGE FASTEN WITH POP RIVETS #762020

AutoCAD SHX Text
IMPORTANT: (SEE PAGE 16 FOR WEATHERPROOFING DETAILS) Wraps need to be installed around exterior walls prior to installing the exterior wall panels. The details shown are standard details for Tyvek Homewrap and Tyvek Flexwrap.  Both of these products were not included in Fire Facilities material package and are required to be supplied by the G.C.  The G.C. will be held accountable to use proper installation procedures provided by the manufacturers of all weatherproofing materials supplied by the G.C. 



" 
-fx COLUMN 

HORIZONTAL y 

COLUMN (ANY DIRECTION) 

A-1 10 KIPS 
B-1 4 KIPS 
A-2 10 KIPS 
B-2 7 KIPS 
A-3, B-3 6 KIPS 
A-4 ' B-4 5 KIPS 
A-5, B-5 3 KIPS 

REACTIONS 

VERTICAL 
(DOWNWARD) 

51 KIPS 
49 KIPS 
99 KIPS 
99 KIPS 
86 KIPS 
70 KIPS 
36 KIPS 

VERTICAL 
(UPLIFT) 

27 KIPS 
3 KIPS 

24 KIPS 
3 KIPS 
3 KIPS 
3 KIPS 
3 KIPS 

1. ALL COLUMNS, STUD WALLS AND EXTERIOR BALCONY / STAIR PADS ARE
SET AT TOP OF CURB (FINISHED FLOOR IS 6" BELOW TOP OF CURB).

2. ALL PADS OUTSIDE OF EXTERIOR DOORS SHOULD BE SET AT
FINISHED FLOOR (IF APPLICABLE).

3. ALL DOOR OPENINGS THAT ARE DIMENSIONED SHOULD BE HELD EXACT
(DOOR LOCATIONS NOT DIMENSIONED CAN BE FIELD LOCATED).

NOTE: 

EXCLUDES ANY AND ALL PREPARATIONS 
INVOLVED IN PROVIDING SUITABLE CONCRETE 
PADS AND /OR FOUNDATIONS 

ALSO EXCLUDES ANY ANCHORS REQUIRED 
TO SECURE THE BUILDING TO THE FOUNDATION. 

DESIGN REACTIONS SHOWN: 1. PER FBC 2012 AND LRFD LOAD COMBINATIONS

0 I 
N 
N 

©-

2. WIND CRITERIA: 130 MPH, EXP C; RISK CAT. I
3. SEISMIC CRITERIA: SDC A; SITE CLASS D

EXTERIOR BALCONY / 
STAIR PAD SET AT 
TOP OF CURB 

' 

;,. I 
0 
N 

8" 10'-8" 11 '-4" 

26'-8" 

53'-11 1/4" OUT-TO-OUT OF CONCRETE 

46'-Q" 

11 '-4" 

I 3'-4" 

I I 
I I 

11 '-4" 8" 

r- s
-+-----

-

'T 
-

I+• I 
-

L _J 
N"--

- - -------*J------
4'-o" Lr_ 

-

N"--
<D -1

1 I 
I 

N I I 
N 

I 
I 

;,. I I
I 

I 
12'-o" 

'11 
28'-5" I 5'-7" I 

' 

I 
n 

L 
, -� -� n---------------------�

I 
I 

I 
I 
I 
I 

I 

I 

I 

I 

I 
I 
I 
I 

I I 
00 I 
;,. 

2 KIP PER SQUARE FOOT 
THIS 4' -8" X 11'-4" 

AREA ONLY 
11'-4" 

I 
I I I I 

I 
I 
I 

I 

I 

I 

. . . . . . . . . . . . . I

I I
I 

I 

4" TYP. I I 

I I 
I I I I I
I 

I I 
I I 
I I 

I I I 

(J) I --- ' N "--
(J) 

I 

<D -
�-�-LIGHT DASHED LINES ARE NON 

LOAD BEARING STUD WALLS 

LJ --+-
8" TYP. 

1.50 KIP PE.� FOOT AT LOAD 
BEARING STUD WALLS 

I 
I 
I 
I <D I 

N -

LJ -+-

\ .,_ 
I 8" TYP. I o_ 8" TYP. I

8" TYP. 0..: N

'\ I\ ' n � I 
4"-0" '\ /, � :=:- I 

1
+

1 
1 

1 - 1
+

1 -
1 

;;_ , 

I 

7'-11 1 /4" 

;,. 
I 

V 
<r: z 

>- s
00 
oI 
LL (11 

fr'. (/] 
wZ 
(l_ 0 

F 
(l_ <{ 
'<'. u 

0 
-_J 

z 

� (,.,,/:;

! 

,--, 

I I I 
I I I 
I I I 
I I I 

;,. 
I --

'sa-"-
n 

-
I "-

I I L _ _J --+--�' 
1'-4" 2'-1 1/2' 1'-7" 1'-4" i--

1 1 oo 

� I 

1 1 'ro 

::: _J-+----+- - - - I + + I V - - - I ++ - - -- - - I +"+ I - .,;::.- - - - + +
2 ++L _________________ ���L--�--�-------------J• + ______ 1 ,-----���L __ � ________________ J+ +

i/ � 1'-6 3/4"
I I 

,' X. 

SCALE: 3/8" = 1'-0" 

�-3/4" DIA. ANCHORS 

L\vll >
I I 

v " � 
� 

b 

<]LJ 
� <l >

6 �-1-'\..---,..,1 �>- NOTE: EMBEDMENT DEPTH
6 " � \ v DETERMINED BY ENGINEER 
C>

v � v DESIGNING THE FOUNDATION 

26'-8" 3'-4" 

ANCHOR BOLT PLAN 

2 3/4" 2 3/4" 

g" x 11" x 1/2" PLATE 

N 
-+------,--<1ffi I @) =--i------(4) 3/4" DIA. F1554 (GRADE

� ----iit-- - i_ ANCHOR BOLTS TYP. 
-+------,--<1ffi <@ 

N "--
N 

����--- COLUMN CENTER LINES 

4 1/2"41/2" 
g" 

36) 

NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION 
AND CENTER LINE LOCATIONS (A 1,A2,B1, & B2). 

3 1/4" 

N"--
N 

N"--
N 

@> 
I 

@ 

� -

@> @> 

1'-5 1/4" 

3 1/4" 

/:4'-4"i 3'-8 1/2" 
I I I 

L __ J 

.,_
I --

g" x 11" x 1/2" PLATE 

(4) 3/4" DIA. F1554 (GRADE 36)
� - ANCHOR BOLTS TYP. 

E��;;:J---L COLUMN CENTER LINES -
4 1/2" 4 1/2" 

g" 

NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION 
AND CENTER LINE LOCATIONS (A3,A4,A5,B3,B4, & B5). 

m 
fr'. ::Ju
' 
<D

;,. "-
n 

(J) 
I 

(J) -

00 
I 

<D 

North arrow for reference only -
coordinate actual orientation on site 

- -y'- c----- WALL STUDS
4" x 2" 20 GA. "CEE" 
STUD WALL TRACK #340162 4" x 2" 16 GA. 
CHANNEL. FASTEN TO FLOOR WITH EXPANSION 
ANCHORS AT 4'-0" O.C. (RATED FOR A MINIMUM 
SHEAR VALUE OF 1 KIP) AND POWDER ACTUATED 
FASTENERS AT MID POINT BETWEEN EXPANSION 
ANCHORS (POWDER ACTUATED FASTENERS RATED 
FOR 105 LB MINIMUM SHEAR VALUE) 

-+--- :--=�'9----'-1NSTALL. Two· coNTINuous STRIPS OF 
CAULK TAPE #760703 AS SHOWN 
(EXTERIOR WALLS ONLY) 

\ FOUNDATION � > 

. - . . ) 

ANCHOR BOLT PROJECTION DETAIL TOWER COLUMN ANCHOR BOLT DETAIL RESIDENCE COLUMN ANCHOR BOLT DETAIL TYPICAL STUD WALL BASE DETAIL 
scale: 1 1 /2" = 1 '-0" scale: 1 1 /2" = 1'-0" scale: 1 1 /2" = 1'-0" 

� 
,; 
0: 
C 

l 

ii •
-g,.c 

C: 
.5:! -
-� "' " 
c::, 

.Q 

� 

REVISIONS 

�� 
g�� " " 
E:1!7 .s egJ
ii n.1 
... a

i;:;�&1 • •
� 
"

w 
> 
(/) ::, 
0 
X 
w 

w 
:r: 
f-
(/) 

LL 
0 
w 
a:: 
w 

(/) 
f-
a::""' 
a_ 
_J 
_J 
""' 
0
z""' 
C) 
z 
3:""' 
a:: 0 
(/) 

:r: 
f-

i!l��� w ..
.,.• u 
ii � 
,!I"C" 

(/) 

::,; 
� 
(/) 
>-
(/] 

C) 
z 
z 
""' 
a:: 
f-
_J ""' 
0 
f-
0 

� 
LL 
0 

>-
f-
a:: 
u..J 
a_ 
0
a:: 
a_ 

....,
0 .... 
a> 00 '° � 
...., I '° ........,
3: 00 

� 
00 u..J 0 

a::""' <D �
a:: X 
a_ ""' 

LL 
z ::, 0 
(/] 0 

:;,: 
I 0 " ""' N 

0 ...., a:: � 
z 00 
fr'. 0 ::, <D 

CD � 
_J 

3: u..J 
0.... LL 

;;, 
LL 
0 

Cl) 

� 

lll!i w

Cl) 

CJ.z 
.,,-
111 I�.... <:( 

er: 

-- I-

...... 
I 

() 
I 

...J 
w 

Cl 
0 
� 

_J 
LL 

0 2 

() 0 
. 

<( 
Cf) f- -

(.I) I 
w f-=:, 
� u _J 

by�

f-::, 
0 

:r: 
f-
� 
f-
a::
a_ 
a:: 
0 

w 
_J 
0 

i 
z 

0 
u..J 
0 
::, 0
0
a:: 
a_ 
u..J 
a:: z

0 
w 

Cf) m Cf) 

f- ::,; 
0 a:: 
z w 

>- a_ 
""' z 
::,; � 0 f-
z � ""' 

z 

CL 

I--' 0 

O:'. 

�� "' u 
-z � <t: 
6i 

Date MARCH 5, 2018 
Drawn by GWL 
Checked by SPW 
Scale 

SHOWN 
Order Na. TTS-105/#199204 
Sheet No. 

05 of 19 ... 

AutoCAD SHX Text
B

AutoCAD SHX Text
ANCHOR BOLT PLAN

AutoCAD SHX Text
A

AutoCAD SHX Text
ANCHOR BOLT PLAN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
51 KIPS

AutoCAD SHX Text
49 KIPS

AutoCAD SHX Text
86 KIPS

AutoCAD SHX Text
70 KIPS

AutoCAD SHX Text
A-3, B-3

AutoCAD SHX Text
A-4, B-4

AutoCAD SHX Text
B-1

AutoCAD SHX Text
A-1

AutoCAD SHX Text
6 KIPS

AutoCAD SHX Text
5 KIPS

AutoCAD SHX Text
10 KIPS

AutoCAD SHX Text
4 KIPS

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
27 KIPS

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
A-5, B-5

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
36 KIPS

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
LIGHT DASHED LINES ARE NON LOAD BEARING STUD WALLS

AutoCAD SHX Text
1.

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
FINISHED FLOOR (IF APPLICABLE).

AutoCAD SHX Text
ALL DOOR OPENINGS THAT ARE DIMENSIONED SHOULD BE HELD EXACT 

AutoCAD SHX Text
(DOOR LOCATIONS NOT DIMENSIONED CAN BE FIELD LOCATED).

AutoCAD SHX Text
ALL PADS OUTSIDE OF EXTERIOR DOORS SHOULD BE SET AT 

AutoCAD SHX Text
ALL COLUMNS, STUD WALLS AND EXTERIOR BALCONY / STAIR PADS ARE

AutoCAD SHX Text
SET AT TOP OF CURB (FINISHED FLOOR IS 6" BELOW TOP OF CURB).

AutoCAD SHX Text
NOTE: EXCLUDES ANY AND ALL PREPARATIONS INVOLVED IN PROVIDING SUITABLE CONCRETE PADS AND/OR FOUNDATIONS    ALSO EXCLUDES ANY ANCHORS REQUIRED TO SECURE THE BUILDING TO THE FOUNDATION.

AutoCAD SHX Text
COLUMN

AutoCAD SHX Text
HORIZONTAL

AutoCAD SHX Text
(ANY DIRECTION)

AutoCAD SHX Text
%%UCOLUMN REACTIONS

AutoCAD SHX Text
SCALE:  3/8" = 1'-0"

AutoCAD SHX Text
SPW

AutoCAD SHX Text
VERTICAL (DOWNWARD)

AutoCAD SHX Text
VERTICAL (UPLIFT)

AutoCAD SHX Text
DESIGN REACTIONS SHOWN:	1.  PER FBC 2012 AND LRFD LOAD COMBINATIONS 1.  PER FBC 2012 AND LRFD LOAD COMBINATIONS 2.  WIND CRITERIA: 130 MPH, EXP C; RISK CAT. I 3.  SEISMIC CRITERIA:  SDC A; SITE CLASS D

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
X

AutoCAD SHX Text
Y

AutoCAD SHX Text
FOUNDATION

AutoCAD SHX Text
%%UTYPICAL STUD WALL BASE DETAIL

AutoCAD SHX Text
%%URESIDENCE COLUMN ANCHOR BOLT DETAIL

AutoCAD SHX Text
COLUMN CENTER LINES

AutoCAD SHX Text
9" x 11" x 1/2" PLATE

AutoCAD SHX Text
STUD WALL TRACK #340162 4" x 2" 16 GA. CHANNEL. FASTEN TO FLOOR WITH EXPANSION ANCHORS AT 4'-0" O.C. (RATED FOR A MINIMUM SHEAR VALUE OF 1 KIP) AND POWDER ACTUATED FASTENERS AT MID POINT BETWEEN EXPANSION ANCHORS (POWDER ACTUATED FASTENERS RATED FOR 105 LB MINIMUM SHEAR VALUE)

AutoCAD SHX Text
WALL STUDS  4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
%%UANCHOR BOLT PROJECTION DETAIL

AutoCAD SHX Text
3/4" DIA. ANCHORS

AutoCAD SHX Text
NOTE:  SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION AND CENTER LINE LOCATIONS (A3,A4,A5,B3,B4, & B5).

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
NOTE:  EMBEDMENT DEPTH DETERMINED BY ENGINEER DESIGNING THE FOUNDATION

AutoCAD SHX Text
(4) 3/4" DIA. F1554 (GRADE 36) ANCHOR BOLTS TYP.

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
%%UTOWER COLUMN ANCHOR BOLT DETAIL

AutoCAD SHX Text
9" x 11" x 1/2" PLATE

AutoCAD SHX Text
COLUMN CENTER LINES

AutoCAD SHX Text
NOTE:  SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION AND CENTER LINE LOCATIONS (A1,A2,B1, & B2).

AutoCAD SHX Text
(4) 3/4" DIA. F1554 (GRADE 36) ANCHOR BOLTS TYP.

AutoCAD SHX Text
1.50 KIP PER FOOT AT LOAD BEARING STUD WALLS

AutoCAD SHX Text
EXTERIOR BALCONY / STAIR PAD SET AT TOP OF CURB

AutoCAD SHX Text
1 KIP PER FOOT AT LOCATIONS SHOWN

AutoCAD SHX Text
99 KIPS

AutoCAD SHX Text
99 KIPS

AutoCAD SHX Text
B-2

AutoCAD SHX Text
A-2

AutoCAD SHX Text
10 KIPS

AutoCAD SHX Text
7 KIPS

AutoCAD SHX Text
24 KIPS

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
2 KIP PER SQUARE FOOT  THIS 4'-8" X 11'-4" AREA ONLY

AutoCAD SHX Text
INSTALL TWO CONTINUOUS STRIPS OF CAULK TAPE #760703 AS SHOWN (EXTERIOR WALLS ONLY) 

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
05 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



@-

@-

@-

@-

@-

©-

' 
0 

I 
N 
N 

' 
0 

I 
N 
N 

' 
ro 

Cl 
I 

-:.,. 

00 
I 

N -

' 
0 

I 

-:.,. 

00 

ro 

' 
ro 
I 

i::, 
N 

3 

46'-o"

8" 10'-8" 11'-4" 11'-4" 11'-4" 8' �+-=+�---��---�1-�---��-----1-�---��---�-1----���---�-R� 

8" 

I I 

' co 

SCALE: 1/4"=1'-0" 

10'-8" 

' ' ' co co co 

SECOND FLOOR STRUCTURAL FRAMING PLAN 

23'-4"

11 '-4" 8" 

-1:I 

I I
I 

I I 

I I 
I I 

I 
I 

�
I I 

QJ 

I
Cl' 
ClJI 

'SI- °'I t<") ILI") 

)( IQ:
�i ! 

I I 

TOWER ROOF STRUCTURAL FRAMING PLAN 

SCALE: 1 / 4" = 1' -0"

@-

@-

@-

@-

' 
ro 

Cl 
I 

-:.,. 

00 
I 

N -

' 
0 

I 
-:.,. 

00 

4 

46'-o"

8" 10'-8" 11'-4" 11'-4" 11'-4" 8"
------1=---,-�--���-----1��---��---�-1-----��---�-1----���---�1=---,� 

THIRD FLOOR / RESIDENCE ROOF STRUCTURAL FRAMING PLAN

SCALE: 1/4"=1'-0" 

North arrow for reference only -
coordinate actual orientation on site 

NOTE: TEMPORARY SUPPORT OF THIS STRUCTURAL 
FRAME IS REQUIRED AND IS THE SOLE 
RESPONSIBILITY OF THE ERECTOR. THIS TEMPORARY 
SUPPORT SHOULD NOT BE REMOVED UNTIL ALL OF 
THE FLOOR AND WALL SYSTEMS ARE IN PLACE. 

NOTE: THIS STRUCTURAL FRAME IS DESIGNED WITH 
ALL SHEAR/BEARING CONNECTIONS (NOT 
SLIP-CRITICAL) AND ALL JOINTS ARE OF THE 
SNUG-TIGHTENED TYPE. COMPACTING THE JOINT TO 
THE SNUG-TIGHT CONDITION SHALL PROGRESS 
SYSTEMATICALLY FROM THE MOST RIGID PART OF 
THE JOINT. THE SNUG-TIGHTENED CONDITION IS 
THE TIGHTNESS THAT IS ATTAINED BY A FEW 
IMPACTS OF AN IMPACT WRENCH OR THE FULL 
EFFORT OF AN IRONWORKER USING AN ORDINARY 
SPUD WRENCH TO BRING TIHE CONNECTED PLIES 
INTO FIRM CONTACT. 

REVISIONS by 

I
.: 
i 
.ll"' 
"• • ••�

ill" � 
0 � 

&li� -� 
E.!! I 
::i�OI 
� E"' 

jo.. 'f 
... o 
;; '"iii• 
E.. �

w 
> 

VJ 
::::, 

0 
X 
w 
w 
:r: 
f--
VJ 

"-
0 
w
c:: 
w 

VJ 
f--
c:: 
< 
(L 

_J 
_J 
< 
0 
z 
<
C) 
z 

3:
<
c:: 
0 
VJ 
:r: 
f--

� 
w ._ 
'"' 
8 
ii 

� • 

VJ "" 
� 
VJ >-
VJ 
C) 
z 

z 

< 
c:: 
f--
_J 
< 
0 
f--
0 

i'.!: 
"-
0 

>-
f--
c:: 
w 
(L 
0 
c:: 
(L 

f--
::::, 

0 

:r: 
f--
'.ii: 
f--
c:: 
< ...., (L 

0 .... c:: "' 00 0 
en 

� ...., I w 
en .... _J ...., 0 

3: 00 
i � 

00 w 0 z 

c:: co 
< � 0 

w c:: X 

(L < 0 
"- ::::, 

z 0 
::::, 0 0 
VJ 0 c:: 

:;,: w 
I c:: z 

0 r-- 0 < N w VJ 
0 ...., CD VJ c:: � f-- "" 
z 00 0 c:: 
c:: 0 z w 
::::, 

co (L 

CD � >-
_J < z 

3: w "" � 0 .... "- 0 f--

;;, 
"- z 

� 0 < 

Cl) 

�

lll!i w
I­
C/) 

...... 
I 

(.) 
:I: 

w 

Cl 
0 
� 

0 -� (.) -
.9-

(/) ti " w 
c:, 

3: 
.Q 

� 
Date 

Drawn by 

Checked by 

Scale 

Order Na. 

Sheet No. 

06 

> 

Cl) 

_J 
LL 

2 
0 

" 
<(f-

(/) :r:: 
=:) f-
0 _J 

z 

<( 

CL 

('.) 
z 

:::;;; 
<( 

<( 
0::: 
::i 

" I-
:;:, u 
� :::::> 

0::: 
-1-fil VJ
6i 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
SECOND FLOOR STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
A

AutoCAD SHX Text
9

AutoCAD SHX Text
D

AutoCAD SHX Text
10

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
#315121

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315129

AutoCAD SHX Text
#315129

AutoCAD SHX Text
#315125

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315121

AutoCAD SHX Text
#315121

AutoCAD SHX Text
#315997

AutoCAD SHX Text
#315638

AutoCAD SHX Text
#315999

AutoCAD SHX Text
#315977

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
THIRD FLOOR / RESIDENCE ROOF STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
D

AutoCAD SHX Text
10

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315151

AutoCAD SHX Text
#315152

AutoCAD SHX Text
#315982

AutoCAD SHX Text
#315980

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315638

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315977

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
9

AutoCAD SHX Text
B

AutoCAD SHX Text
#314114

AutoCAD SHX Text
6" x 8" x 1/4" TUBE

AutoCAD SHX Text
#314115

AutoCAD SHX Text
6" x 8" x 1/4" TUBE

AutoCAD SHX Text
6" x 8" x 1/4" TUBE

AutoCAD SHX Text
#314115

AutoCAD SHX Text
#314115

AutoCAD SHX Text
6" x 8" x 1/4" TUBE

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
SPW

AutoCAD SHX Text
NOTE:  TEMPORARY SUPPORT OF THIS STRUCTURAL FRAME IS REQUIRED AND IS THE SOLE RESPONSIBILITY OF THE ERECTOR.  THIS TEMPORARY SUPPORT SHOULD NOT BE REMOVED UNTIL ALL OF THE FLOOR AND WALL SYSTEMS ARE IN PLACE.

AutoCAD SHX Text
NOTE:  THIS STRUCTURAL FRAME IS DESIGNED WITH ALL SHEAR/BEARING CONNECTIONS (NOT SLIP-CRITICAL) AND ALL JOINTS ARE OF THE JOINTS ARE OF THE SNUG-TIGHTENED TYPE.  COMPACTING THE JOINT TO .  COMPACTING THE JOINT TO THE SNUG-TIGHT CONDITION SHALL PROGRESS SYSTEMATICALLY FROM THE MOST RIGID PART OF THE JOINT.  THE SNUG-TIGHTENED CONDITION IS THE TIGHTNESS THAT IS ATTAINED BY A FEW IMPACTS OF AN IMPACT WRENCH OR THE FULL EFFORT OF AN IRONWORKER USING AN ORDINARY SPUD WRENCH TO BRING THE CONNECTED PLIES INTO FIRM CONTACT.

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
TOWER ROOF STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
C

AutoCAD SHX Text
9

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315158

AutoCAD SHX Text
#315636

AutoCAD SHX Text
#315634

AutoCAD SHX Text
#315635

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
#315270

AutoCAD SHX Text
#315270

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315125

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315633

AutoCAD SHX Text
#315636

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315635

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
#315634

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315633

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
#315129

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
#315129

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315122

AutoCAD SHX Text
#315122

AutoCAD SHX Text
#314361

AutoCAD SHX Text
W10 X 33 COLUMN

AutoCAD SHX Text
#315637

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315980

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
3

AutoCAD SHX Text
#314361

AutoCAD SHX Text
W10 X 33 COLUMN

AutoCAD SHX Text
#315637

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315636

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315635

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
#315634

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315633

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#314361

AutoCAD SHX Text
W10 X 33 COLUMN

AutoCAD SHX Text
#315637

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315997

AutoCAD SHX Text
#315999

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
#315121

AutoCAD SHX Text
#314114

AutoCAD SHX Text
6" x 8" x 1/4" TUBE

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
E

AutoCAD SHX Text
10

AutoCAD SHX Text
F

AutoCAD SHX Text
10

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
06 of 19



,. 

.. 

'o
I 

0"'

�- SIDE WALL BEAM #315124 OR #315158 

- -

tr

CORNER COLUMN #315635 OR #315636---�

A 

V \ 

i-------- SI DE WALL BR ACE #31 511 9 -----------�""'

��-(4) 5/8" X 2 1/4" A-325 BOLTS #390005 _ _/ 
WITH 5/8" A-325 NUTS #390003 TYP. AT 

\ 

BOTH ENDS OF BRACE 

"A" TYPICAL SIDE WALL BRACE CONNECTION DETAILS 

' 
0
I 

0 

[ : I I 

.J. WBx/0 BEAM - ' 
jJ/5158 

23'-4" 

J I 1: 
.J. W8x10 BEAM 

#315122 

'""t-,, � A TYP.
W6x12 BRACES j'- y

22'-8" 

: J

#315119 � l_ 
-- -- - - - - - - - - - - - _r-: - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - ,

:1 I 1: :1 I I 

� I �I I 

WBx/0 BEAM W8x10 BEAM W8x10 BEAM -,F' W8x10 BEAM . , = 
I 

� jJ/5124 «:> #315123 "'- #315123 � #315123 � 
to � � - -

� -, � � �: 
0 � � � 

I �! ! ! � �
I � � � cS cS ,

� � �
(..) (..) (..) 

(..) (..) 

I '-'O '-'O h h h 
1; W6x12 BRACES 1; � ';:l ';:l , 
;:;' #3/51/9 ;:;' ;::' 2 2 I 

--�--=- ------------� � -----------��------------� �-------------��� 
I 

'- '- I 

WBx/O
w� 

W8x/O BEAM W8x/O BEAM W8x/O BEAM 
I #315124 #315123 #315123 #315123 
I 

I \ 8"X6"X/ \4" TUBE L8"X6"X/ \4" TUBE '--8"X6"X/ \4" TUBE I I 

0 

j \ 
I 

I #314114 FASTEN W/ #314115 FASTEN W/ #314115 FASTEN W/ 0-
(4) 5/8" X 2 1/2" (4) 5/8" X 2 1/2" (4) 5/8" X 2 1/2" I 

I 

A-325 BOLTS #390008 A-325 BOLTS #390008 A-325 BOLTS #390008
I W/ 5/8" NUTS #390003 W/ 5/8" NUTS #390003 W/ 5/8" NUTS #390003

W6x12 BRACES I 

#315119 I 

-

s"I 10'-8" I 11'-4" I 11'-4" I 11'-4" Is" 
I I I I I 

46'-o" 

EAST SIDE STRUCTURAL FRAMING ELEVATION 

SCALE: 1 /4"=1'-0" 

- -

22'-8" 

l W8x10 BEAM 
#315122 

23'-4" 

:1 I 1: 
;..L 

:]
W8x/O BEAM .J. 
#315159 

' 
0 

I 

0 

, - - - - - - - - - - - - - - - - - - - - - - - - - - J__ - - - - - - - - - - - - - - - - - - - - - - - - - - -� --
I I 1: :1 I 1: 

'1 b� 
WBx/0 BEAM J � WBx/0 BEAM W8x/O BEAM WBx/0 BEAM 

-, #315123 -, #315123 - #315123
� 

#315125 � 
I 

I 

� � 
� -, � I 

'1 

� � ij 1'

1 
I

� � ! � ! , 2
I cS c5 ::::i 

::j :::5 I (_) u 8 8 
8 1 

,� � � � � I 

1 6 C) c3 c3 c:5 1

-� - - - - - - - - - - - - - L - - - - - - - - - - - --� - - - - - - - - - - - - - � - - - - - - - - - -� -� --
I I 

I I 

I 

W8x/O BEAM W8x/O BEAM W8x/O BEAM W8x/O BEAM 
I #315123 #315123 #315123 #315125 

I I 

I I 

I I 

0 
I 

0 
I I 

-
I I 

I I 
I I 

I I 

11'-4" I 11'-4" I 11'-4" I 10'-8" 
I I I I I 

46'-o" 

WEST SIDE STRUCTURAL FRAMING ELEVATION 

SCALE: 1 / 4" =1 '-0" 

-

0
I 

0 "' 

REVISIONS 

w
> 

U) 

::::, 
0 
X w
w "':,: 
f- 0 .... 

O"> <X) 
U) U) U") 

-
:::, "' I 

u... � U") .... 
0 

"' 
w (/) 3: <X) 
c:: >- �w (/) 

w <X) 
:,: 0 '-" c:: "' 

z < �
� z c:: Xc:: < o_ < < c:: u...
o_ f- z

::::, 0
....I _J (/) 0 
_J < :;,:< 0 

f- I 
0 0 0 r--
z ;:!:

< N < 0 "' c:: 
'-" u... �
z 0 z <X) 

3: c:: 0 
>- ::::, "' < f- a, 

� 

c:: c:: _J 
0 w ;i:' w 

o_ 0
U) 0 c:::.... :r: c:: ;;, u...
f- o_ 0 

Cl) 

�"!i w
I­

C/) 

...... 
I 

(.)
I 

.....J 
w 

Cl 
0 

0 
(.)
(/)
w 

3: 

> 

Cl) 

_J 
LL 

L 
0 <(f- -

(/) :r:: 
=:) f-

_J 

by ""

f-
::::,
0 

�
;i:' 

f-c::< 
o_
c:: 
0

w
....I 
0 

;§ 
z 

0w 
0 
::::,
0
0c:: 
o_ w c:: z

0 w (/) 
a, (/) 
f- :::,
0 c:: 
z w 
>-

o_ 
< z 
:::, w 

f-
0 f-

�
z <

(/)

0
I-
<(
> 
w 
_J 
w 

<(
O:'.
:::J

" I-.:: u
f:: :::J
- O:'.
" I-" (/)

Date 
MARCH 5, 2018 

Drawn by 
GWL 

Checked by 
SPW 

Scale 
SHOWN 

Order No. 
TTS-105/#199204 

Sheet No. 

07 of 19 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
STRUCTURAL ELEVATIONS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
EAST SIDE STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
WEST SIDE STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SPW

AutoCAD SHX Text
CORNER COLUMN #315635 OR #315636

AutoCAD SHX Text
SIDE WALL BRACE #315119

AutoCAD SHX Text
%%U"A" TYPICAL SIDE WALL BRACE CONNECTION DETAILS

AutoCAD SHX Text
SIDE WALL BEAM #315124 OR #315158 

AutoCAD SHX Text
(4) 5/8" X 2 1/4" A-325 BOLTS #390005 WITH 5/8" A-325 NUTS #390003 TYP. AT BOTH ENDS OF BRACE

AutoCAD SHX Text
#315122

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x33 COLUMN #315997

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x33 COLUMN #315638

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
#315124

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
#315124

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
#315158

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x45 COLUMN #315636

AutoCAD SHX Text
W10x45 COLUMN #315635

AutoCAD SHX Text
W10x33 COLUMN #315637

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315122

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x33 COLUMN #315999

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x33 COLUMN #315977

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x45 COLUMN #315634

AutoCAD SHX Text
W10x45 COLUMN #315633

AutoCAD SHX Text
W10x33 COLUMN #314361

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
A TYP.

AutoCAD SHX Text
A TYP.

AutoCAD SHX Text
W/ 5/8" NUTS #390003

AutoCAD SHX Text
#314115 FASTEN W/

AutoCAD SHX Text
(4) 5/8" X 2 1/2"

AutoCAD SHX Text
A-325 BOLTS #390008

AutoCAD SHX Text
8"X6"X1\4" TUBE

AutoCAD SHX Text
W/ 5/8" NUTS #390003

AutoCAD SHX Text
#314115 FASTEN W/

AutoCAD SHX Text
(4) 5/8" X 2 1/2"

AutoCAD SHX Text
A-325 BOLTS #390008

AutoCAD SHX Text
8"X6"X1\4" TUBE

AutoCAD SHX Text
W/ 5/8" NUTS #390003

AutoCAD SHX Text
#314114 FASTEN W/

AutoCAD SHX Text
(4) 5/8" X 2 1/2"

AutoCAD SHX Text
A-325 BOLTS #390008

AutoCAD SHX Text
8"X6"X1\4" TUBE

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
07 of 19



.... 

�
-----------------------

� 

W12x30 BEAM #315151 

f-+---+------------------------

W12x30 BEAM #315270 

"' "' 

I 
I 

I 

I 
I 

I 

I 
I 

I 
- I .. 

I 

I 
I 
I 
I 

I 

I 
I 

I 

I 
I 

'SI- 'SI- >-:-. 4' - 0 3 /4" " '< ··I I 

I 
� � 

- t 
I 

--
,

- ------------------------1- ---
, 

0 
I 

0 -

I I I 
I 

I W14x43 BEAM #375120 I 6"x8"x7/4" TUBE 
I I #314114 
I I 

I I 

I I 
I I 

I I 

I >-:-. I 
I I 

-

o· 20'-4" o· -f-'-1----------���-------------

22'-o" 

�
-----------------------

� 

I D D I 

''r-...------------------------,--,1 

I 

I 

I W12x30 BEAM #315152 

I 
I 

I 

I 
I 

I 

I - I 
I I 

0 
I 

0 -

I-
I -

I 

D 

W12x30 BEAM #315270 

"' "' 

D I 
I 

I 

I 
I 

I 

I 
I 

4'-0 3/4" :7"" 'SI- 'SI- I 

' 
0 
I 

0-

-

I .. � � I ,---f -=�---------------------A-H--
1 ' D D ' 

I 

6"x8"x1/4" TUBE I WI 4x43 BEAM #315120 I 
#314114 I I 

I I 

I I 

I I 
I I 

I I 

I ;;-- I 
I I -

o· 20'-4" o· ------------���-------------
22'-o" 

0 
I 

0 -

0 
I 

0 ,., 

�
-----------------------

� 

W14x34 BEAM #315980 

I 

I 

D 

f-+---+-- ----------------------

11-,,,,ll--------------------H,•.-I 
D 

i:::; W14x34 BEAM #315121 <a 
� � - -
� �
< < 
s s 

8 8 

I 
I 

I 

I 
I 

I 

I 
I 

I 

I 
I 

I 
I 
I 
I 

0 
I 

0 -

' 
0 
I 

0-

4'-o 3/4" � � 

�---t _j____________________ �--H--+-
1 I D D I 

I 

6"x8"x7/4" TUBE I W14x34 BEAM #315121 I 
#314115 I I 

I I 

I I 

I I 
I I 

I I 

I I 
I I 

I I 

o· 20'-4" o· 
--,----------���----------+--=.,-

22'-o" 

0 
I 

0 -

0 
I 

0 ,., 

SOUTH ENO WALL STRUCTURAL FRAU/NG ELEVATION SECTION THRU STRUCTURAL FRAU/NG AT TOWER INTERIOR WALL COMUON/NORTH ENO WALL RESIDENCE STRUCTURAL FRAU/NG ELEVATION 
SCALE: 1 /4"=1'-0" SCALE: 1/4"=1'-0" 

�
-----------------------

� 

D D I 

6; W14x34 BEAM #315982 � 
� � - -
� �
< < 

s s 

8 8 
4'-0 3/4" � � 

I 

0 
I 

0 

I � � :
,-- - - _3i,_ - --- --- --- --- --- --- -�-,-� --+-

I D TI I 

6"x8"x//4" TUBE 
#314115 

o·

W14x34 BEAM #315121 

20'-4" 

22'-o" 

I 

-

I 

I 
I 

I 

I 
I 

I 

I 
I 

I 

o·

0 
I 

·o-

-

' 0
I 

0 
N 

SECTION THRU STRUCTURAL FRAMING AT RESIDENCE INTERIOR WALL 
SCALE: 1 /4"=1 '-o" 

SCALE: 1/4"=1'-0" 

�
-----------------------

� 

4'-0 3/4" 

I ,---f -

I 

I 

-
6"x8"x7/4" TUBE 

#314115 I 
I 

I 

I 
I 

I 

I 
I 

I 

o·

� W14x34 BEAM #315980 "-

"' "' -
� �

�
< 
s 

c5 c5 
(_) (_) 

� �" 
c::, �
� � 

�-----------------------

W14x34 BEAM #315121 

20'-4" 

22'-Q" 

I 
I 

I 

I 
I 

I 

I 
I 

I 

I 
I 

H-

I 
I -
I 

I 
I 

I 

I 
I 

I 

I 
I 

o·

' 0
I 

0-

0 
I 

·o -

' 
0 
I 

0 
N 

NORTH END WALL STRUCTURAL FRAMING ELEVATION 
SCALE: 1 / 4" = 1 '-0" 

REVISIONS by�

e 

j
.:

j 
U> 

ii• 

ill
"� 

0 � 

&li� 
E-!!7 
:::J .!:: Cl> 
�e"' 
10..-r ... co
;; al iil 
;;• 
f 

�
�
w 
Q. .. 
8 

:::; 

�
,!; � :1 �

w 
> 
"' 
::::, 

0 
X 
w 

w 

f-

"' "' 
:::, 

u... t=' 0 
w "' 
0:: >-
w "' 

0 
z "' zf-

0:: <( 
<( 0:: 0.. f-

_J _J 
_J <( 
<( 0 

f-0 0 
z 

�<( 

0 u... 
z 0 

3: >-
<( f-
0:: 0:: 
0 w 

"' 0.. 
0 

:r: c:: 
f- 0..

lll!"i 

• 
.,, 
'!1 
--

'I"'"" 

(.) 
:I: 

....J 
w 

Cl 
0 

0 
.5:! (.) -
-� en ., w 
c::, 

3: .Q 

Date 

Drawn by 

Checked by 

Scale 

Order Na. 

Sheet Na. 

08 

f-

0 

:r: 
f-
� 
f-
0:: 
<( 

"' 0.. 
0 .... 0:: 
O> CX) 0 '° -
"' I w'° .... _J "' 0 

3: 
CX) 

i� 
CX) 

w 0 z 
c:: "' 
<( 

� 0 
w c:: X 

0.. <( 0 

u... ::::, 

z 0 
::::, 0 0 

"' 0 c:: 
:;;:: 

0.. 
w 

I 0:: 0 r--
<( N w 
0 "' [D c:: � f-
z CX) 0
c:: 0 z 
::::, 

"' 
CD 

� >-
_J <( 

3: 
w 
0 

:::. 
.... u... 0 

;:;, 
u... z 0 <( 

Cl) 

�

w 

I- 0 
z 

Cl) "' 

> 
w 
f-

Cl) 
0 
<( 
u... 

w "'
CJ 

u... 

u... 
0 

z 
z
0 

en 
-

0 

z <( 

-

<C 
a: 
I-

_J 
LL 

2 
0 

-
<( 

f- -
(f) I 
=:) f-

u _J 

MARCH 5, 

GWL 

SPW 

z 
0 

"'"'
:::. 
0:: 
w 0.. 
z 

t=' 
f-

�

"' N .... 0 0 CX) r-. "' - I LO I O>"' .... ..., 
LO "' "" 
� CX) 

- ""
w co ..._ 
- 0 Xc:: "' < 
<( � u... 
"' X 

w 
0.. w 

<( B:LL 
z _J 
::::, 0 _J "' 

0 �
.... "" 

0 I N 

<( r-- ..., 
0 N I "' "' O> 

N 

z O> 
-"' CX) -

::::, 0 8 
CD "' "" 
_J ��
3: 

w w 
w °".... 0 u... -
LL ::l"' 
LL �0 

(/) 

0 
I-
<( 

w 
__J 
w 

<( 
0::: 
::i

" I-
:;:,U 
I:: ::i 

0:::
- I-
� (/)
i5i 

2018 

SHOWN 

TTS-105/#199204 

of 19 
.... 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
STRUCTURAL ELEVATIONS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
NORTH END WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SECTION THRU STRUCTURAL FRAMING AT RESIDENCE INTERIOR WALL

AutoCAD SHX Text
SPW

AutoCAD SHX Text
SOUTH END WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
COMMON/NORTH END WALL RESIDENCE STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SECTION THRU STRUCTURAL FRAMING AT TOWER INTERIOR WALL

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
#314115

AutoCAD SHX Text
W12x30 BEAM #315152

AutoCAD SHX Text
6"x8"x1/4" TUBE 

AutoCAD SHX Text
6"x8"x1/4" TUBE 

AutoCAD SHX Text
#314114

AutoCAD SHX Text
W10x45 COLUMN #315634

AutoCAD SHX Text
W10x45 COLUMN #315636

AutoCAD SHX Text
W12x30 BEAM #315270

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W10x33 COLUMN #314361

AutoCAD SHX Text
W14x34 BEAM #315980

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
W10x33 COLUMN #315637

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
W12x30 BEAM #315151

AutoCAD SHX Text
6"x8"x1/4" TUBE 

AutoCAD SHX Text
#314114

AutoCAD SHX Text
W10x45 COLUMN #315633

AutoCAD SHX Text
W10x45 COLUMN #315635

AutoCAD SHX Text
W12x30 BEAM #315270

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W14x34 BEAM #315980

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
#314115

AutoCAD SHX Text
W10x33 COLUMN #315977

AutoCAD SHX Text
W10x33 COLUMN #315638

AutoCAD SHX Text
W14x34 BEAM #315982

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
#314115

AutoCAD SHX Text
W10x33 COLUMN #315999

AutoCAD SHX Text
W10x33 COLUMN #315997

AutoCAD SHX Text
6"x8"x1/4" TUBE 

AutoCAD SHX Text
6"x8"x1/4" TUBE 

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
08 of 19



.. 

[ 

q 

V 

-

� 

� 

' � 

� 

.� -

A 

�-- TOWER CORNER COLUMN 

-- (10) 1" X 4" A-325 BOLTS #390010 
WITH 1" NUTS #390011 

q r 

ct l 
--

/
-- (2) 1" X 2" A-325 BOLTS #390025 

WITH 1" NUTS #390011 

----- INTERIOR FLOOR BEAM #315129 

V 

\ 

c.J,....::=-- -- (2) 5/8" X 1 1 /2" A-325 BOLTS 
#390001 WITH 5/8" NUTS #390003 

�- -- SIDE BEAM #315124 

TOWER CORNER COLUMN---� 

(10) 1'' X 4" A-325 BOLTS

#390010 WITH 1" NUTS #390011

(2) 1" X 2" A-325 BOLTS #390025 --
WITH 1" NUTS #390011 

\ 
' :jl 

JI 
--

INTERIOR FLOOR BEAM #315129 ------

\�- 2ND FLOOR END WALL BEAM 
#315120 

(2) 5/8" X 1 1 /2" A-325 BOLTS
#390001 WITH 5/8" NUTS #390003

SIDE BEAM #315125 

I 

I 

I 

I 

A 

V 

-

� 

� p 

� 
:p 

� 

�-

A 

/ 

V 

"A" SECTION THRU SECOND FLOOR TOWER FRAMING 

A 

V 

-

� 

�-- TOWER CORNER COLUMN 

-- (8) 1" X 3 3/4" A-325 BOLTS 
#390016 WITH 1" NUTS #390011 

-- (2) 1" X 2" A-325 BOLTS #390025 

/ 
WITH 1'' NUTS #390011 

-�

[ 

q 

� 

' 

� 

.� 

A 

-

4 f 

ct l 
--

---------- INTERIOR FLOOR BEAM #315129 

V 

\ 

c.J,....::=---- (2) 5/8" X 1 1 /2" A-325 BOLTS 
#390001 WITH 5/8" NUTS #390003 

�--- SIDE BEAM #315124 

TOWER CORNER COLUMN---� 

(8) 1" X 3 3/4" A-325 BOLTS
#390016 WI TH 1" NU TS #390011

(2) 1" X 2" A-325 BOLTS #390025 --
\ WITH 1" NUTS #390011 

--

INTERIOR FLOOR BEAM #315129 ----------

\�- 3RD FLOOR END WALL BEAM 
#315270 

(2) 5/8" x 1 1 /2" A-325 BOLTS
#390001 WITH 5/8" NUTS #390003

I 

I 

I 

A 

V 

-

� 

� 
-"'

� 

�-

A 

/ 

V 

SIDE BEAM #315125 ---------�

-
p 

:p 

"B" SECTION THRU THIRD FLOOR TOWER FLOOR FRAMING 

� (2) 5/8" X 1 1 /2" A-325 BOLTS 
/ #390001 WITH 5/8" NUTS #390003 

[ 

cj 

----- ROOF BEAM- - -

'l::f 'l::f 'I:

� (6) 1'' X 2-1/4" A-325 BOLTS 
#390018 WITH 1'' NUTS #390011 

V \ 

� -TOWER CORNER COLUMN 

� ROOF END WALL BEAM 
#315151 OR #315152 

"C" SECTION THRU TOWER ROOF FRAMING 

(2) 5/8" X 1 1 /2" A-325 BOLTS�#390001 WITH 5/8" NUTS #390003 
� 

ROOF BEAM ----

I §a 

- - -

(6) 1" X 2-1/4" A-325 BOLTS�
#390018 WITH 1'' NUTS #390011

/ 
V 

TOWER CORNER COLUMN-- - - -� 

REVISIONS by "II 

' 
:i "' 

C 
• 
• .. 

"' 
"'� 

0 � 

&:C�-� 
E·!!! I

.s -�gi 
ic..1 " co 

,; .ii iii 
•
� 

�
�

.. 
• 
0 

0 

0 � 
m � .� � � 

w 
> 
VJ 
::::, 
u 
Xw 
w :r: 
f-
VJ VJ 

:::, 
LL. �0 w VJ c:: >-w VJ :r: 
f- '-"

z

� zc:: <
< c:: 
0.. f-
_J _J 

< 
< u 

f-0 u
z 

� < 
'-" LL. 
z 0 
;;:: >-< f-c:: c:: 
0 w 
VJ 0.. 

0 :r: c:: 
f- 0..

lll!'i 

• 
.,, 
�. 
.. 
--

'I"'"" 

I 
(.) 
:I: 

.....J 
w 

Cl 
0 
� 

0 i:: 
.2 (.) -
.9, CJ) t;"' w " 
c:, 

3: 
.Q 

Date: 

Drawn by: 

Checked by: 

Scale: 

Order No. 

Sheet No. 

09 

f-

0 

:r: 
;.; 
f-c:: 
< 

"' 0.. 

0 .... c:: 
a, 00 0'° -
"' I w 
'° .... _J "' 0 

;;:: 
00 

;§ � 
w 00 

0 z c:: (0 

< 
� 0 c:: X w 

0.. < u 
LL. ::::,

z 0 
::::, 0 0 
VJ 0 c:: 

:;,: 0.. w 
I c:: z 

0 r-- 0 
< N w VJ 0 "' a, VJ c:: � f- :::,
z 00 0 c:: c:: 0 z w 
::::, (0 0.. 
a, � >-
_J < z 

;;:: w :::, w 
u f-

.... C: 0 f-

;;, 
LL. z � 0 < 

Cl) 

w "' N .... 5 0 00 r--a, - I LO I a,
t.i "' .... ...,
z LO "' "'

" 3: 
00 <ii"

V) � 00 w u.S ro .._... f- - 0 X
_J 

c:: (0 < 
Cl) 

u <( - u... 
< c:: X w

0.. w 
LL < "' 

LL LL 
w z -' c:: ::, 0 -' 

CJ 
LL V) 0 I='-
LL " .... "' 
0 0 I N 

z 
< " ..., 

z 0 N I 
0 c:: "' a,

V) 
N 

z � 
a, 

- > c:: 00 �
::, 0 8 

z 
O'.l (0 00 

< -' --
3: w 

ww "'
- .... u LL-

LL ::l 

<C 
"' LL 

I='0 

a: 

I-

U) 

I-
u 

U) 

_J 

<( 
cc: 
::i 
I-
u 

LL ::i 

2 cc: 
I-

0 " 
U) 

<( 
f- - � 0::: 
(I) :r:: i:: w

f- 3:: =:) 
-o0 _J � I-
6i 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
ROOF BEAM 

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
TOWER STRUCTURAL SECTIONS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
ROOF BEAM 

AutoCAD SHX Text
ROOF END WALL BEAM #315151 OR #315152

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(6) 1" X 2-1/4" A-325 BOLTS #390018 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(6) 1" X 2-1/4" A-325 BOLTS #390018 WITH 1" NUTS #390011

AutoCAD SHX Text
SPW

AutoCAD SHX Text
"C"  SECTION THRU TOWER ROOF FRAMING

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
"B"  SECTION THRU THIRD FLOOR TOWER FLOOR FRAMING

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
(10) 1" X 4" A-325 BOLTS #390010

AutoCAD SHX Text
WITH 1" NUTS #390011

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
"A"  SECTION THRU SECOND FLOOR TOWER FRAMING

AutoCAD SHX Text
TOWER CORNER COLUMN

AutoCAD SHX Text
SIDE BEAM #315124

AutoCAD SHX Text
SIDE BEAM #315125

AutoCAD SHX Text
SIDE BEAM #315125

AutoCAD SHX Text
SIDE BEAM #315124

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(10) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(8) 1" X 3 3/4" A-325 BOLTS #390016 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" x 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 3 3/4" A-325 BOLTS #390016  WITH 1" NUTS #390011

AutoCAD SHX Text
2ND FLOOR END WALL BEAM #315120

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
3RD FLOOR END WALL BEAM #315270

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
09 of 19



... 

�---RESIDENCE SIDE WALL COLUMN 
A/ 

RESIDENCE SIDE WALL COLUMN-----� 
\ A 

[ 

cj 

[ 

V f 

\cf 
�-

V 
A \ 

/ 

--

A \ 
V 

�-(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011 

�--(2) 5/8" X 1 1 /2" BOLTS #390001 WITH 5/8" NUTS #390003 

I 

(2) 5/8" X 1 1 /2" A-325 BOLTS#390001 w / 5 /8" NU TS #390003

(6) 1" X 3 3/4" A-325 BOLTS#390016 w / 1'' NUTS #390011
�--RESIDENCE CORNER COLUMN 

��-TYP. FLOOR END WALL BEAM #315121 

(8) 1" X 4" A-325 BOLTS #390010-�WITH 1" NUTS #390011

(2) 5/8" X 1 1 /2" BOLTS #390001WITH 5/8" NUTS #390003
"D" SECTION THRU SECOND /THIRD FLOOR RESIDENCE FRAMING 

� ROOF END WALL BEAM #315980 OR #315982 

(2) 5/8" X 1 1 /2" A-325 BOLTS#390001 w/ 5/8" NUTS #390003

(6) 1'' X 3 3/4" A-325 BOLTs----�#390016 w / 1'' NUTS #390011

-

I 

I 

I 

I 

I 

"E" SECTION THRU LOWER RESIDENCE ROOF FRAMING RESIDENCE CORNER COLUMN----- � 

' V 

p 

p jJ 

b 

uf-

A 
V 

A 
V 

/�---(2) 5/8" X 1 1/2" A-325 BOLTS (2) 5/8" X 1 1/2" A-325 BOLTS----
"' #390001 w/ 5/8" NUTS #390003 #390001 w/ 5/8" NUTS #390003 "' 

ec=-�===========================================================================;=�-==i 
cj � 

[ --

tr tr 

A ' 
V 

(6) 1'' X 2-1/4" A-325 BOLTS#390018 w / 1'' NUTS #390011
�- -RESIDENCE CORNER COLUMN 

"F" 

� ROOF END WALL BEAM #315980 

SECTION THRU UPPER RESIDENCE ROOF FRAMING 

jJ --

µ tr tr 

(6) 1'' X 2-1/4" A-325 BOLTs---�#390018 w / 1'' NUTS #390011
RESIDENCE CORNER COLUMN -----� 

A 
V 

REVISIONS by�

f-
::::, 

w 0 

> :r: "' f-
::::, � 
0 f-X 
w 0:: 

<( 
w "' a_
f- 0 .... 0:: 

O> 
CX) 0"' "' '° � 

:::, "' I w
u... t=' '° .... _J 

0 
"' 0

w "' 
3: 

CX) 

i 0:: >- � 
w "' CX) 

w 0 z 
0 c:: "' z 

<( 
� 0 "' z w f- c:: X 

0:: <( a_ <( 0 

<( 0:: u... ::::, 

a_ f- z 0 
::::, 0 0 

_J _J "' 0 c:: 
_J <( :;;:: a_ 
<( 0 w 

f- I 0:: z 
0 0 

0 ,-... 0 
z 

� 
<( N w "' 

<( 0 "' [D "' c:: 
'-" u... � f- :::. 
z 0 z CX) 0 0:: 
3: 

c:: 0 z w >- ::::, "' 
<( f- CD � >-
0:: 0:: _J <( z 
0 w 3: 

w :::. t=' a_ 0 "' 0 .... u... 0 f-
:r: c:: ;:;, u... z 

� f- a_ 0 <( 

'I"'"" 
(f) 

z 

I 0 

I-
(.) u 

:I: 
w 
(f) 

_J 

<( 

w 
0:: 
=., 
I-
u 

0 =., 
0:: 

:ii! I-
_J (f) 

0 
LL _J 

<: 2 <( 
.5:! (.) 0 - I-- <( .. z 

-� en f- - �w 
., w 

(f) I I:: 0 
=:) f- (f) 

c::, 
3: -w

.Q 
u _J � 0::

� i5i 
Date: 

MARCH 5, 2018 

Drawn by: 
GWL 

Checked by: 
SPW 

Scale: 
SHOWN 

Order Na. 
TTS-105/#199204 

Sheet Na. 

10 of 19 
.... 

AutoCAD SHX Text
by

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
RESIDENTIAL STRUCTURAL SECTIONS

AutoCAD SHX Text
SPW

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
RESIDENCE CORNER COLUMN

AutoCAD SHX Text
(6) 1" X 2-1/4" A-325 BOLTS #390018 w/ 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
(6) 1" X 2-1/4" A-325 BOLTS #390018 w/ 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
RESIDENCE CORNER COLUMN

AutoCAD SHX Text
"F"  SECTION THRU UPPER RESIDENCE ROOF FRAMING

AutoCAD SHX Text
ROOF END WALL BEAM #315980 

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
"D"  SECTION THRU SECOND/THIRD FLOOR RESIDENCE FRAMING

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN

AutoCAD SHX Text
"E"  SECTION THRU LOWER RESIDENCE ROOF FRAMING

AutoCAD SHX Text
TYP. FLOOR END WALL BEAM #315121

AutoCAD SHX Text
RESIDENCE CORNER COLUMN

AutoCAD SHX Text
(6) 1" X 3 3/4" A-325 BOLTS #390016 w/ 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
(6) 1" X 3 3/4" A-325 BOLTS #390016 w/ 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
RESIDENCE CORNER COLUMN

AutoCAD SHX Text
ROOF END WALL BEAM #315980 OR #315982 

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
10 of 19



4" 11'-o" 34'-4" 4" -t---t---------------1-------------------------------------------H---// FLOOR JOIST END TRACKS #340004 TYP.
AROUND ENTIRE PERIMETER 

9 .. 1 2._0,, 2._0,, 2._0,, 2.��.:
" 

\ 8,,
£

FLOOR JOIST END TRACKS #340004 
/_v/{ 

--H_j-=--+..c----=----1+�--t-'"---'--l+-�-----'----<--t-- � 
1 4 GA. FLOOR JOISTS #340 2 91 

� _ /

'

"') 

FLOOR JOIST END TRACKS #340004 -r==l���ffi-�2-�-r===¥=�==��-[ -i -:[7/� ';F====rr=11 �f " ====1_J_c::=====1r=====::::J:_i�:c==¥==1r====� -�1J_l/}f1 :::;
'."�

1 
f��

I 
rr 

TYP. AROUND ENTIRE PERIMETER 
� '-...._.,� / II 
N 
I "' i 

" I/ I I : � 

1i--------+--1 -------+t---------+ 1---'--, ___________ +-++
1
--_-+�+----+--STRAP BRACE UNDERSIDE OF ROOF /FLOOR 

� , N JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE 16 GA. STAIR LANDING JOISTS #340305 -t--�-t-----+tt-li- __ � __________ _ 

' 
0 
I 

N N 

I 

SPECIAL 12 GA. STAIR HEADER---,___ 
CHANNEL AT TOP AND BOTTOM --....._____r---...._ I OF STAIR #340082 I � 

�--r::::_:::_:::_:::_-_:::_:::_:::_:::_:::_:::_:::_:::_:::_-_:::_:::_:::_:::_:::_-_-_:::_:::_:::_:::_-_:::_:::_:::_:::_-_-_:::_:::_:::_:::_:::_-_:::_1--, 
I I I I 

ii," 
0

1T1 
Ill Ill 

iii iii
Ill Ill 

iii iii"' ,,, 
Ill Ill f-L', ,w, 
I I I I 
L_iT------------------: :----------------- : TLC -----------------1 �----------------1-----------------1 �----------------1

' ' ' -----------------1 i----------------1
-----------------1 �----------------1
--------------------! I--------------------! 

' ' ' 
' ' ' 
' ' ' 

-----------------_J L _____ -----------_J 
' ' ' 

-----------------� �----------------� 

! ! !

L 12 GA. JOIST /340032 }"' 
1.0 
'I°"

I 

�14 GA. FLOOR 

I 
JOISTS # 340293

j 

• 

/ 
I 

/ I 
#340002. FASTEN STRAPS TO JOISTS WITH (2) 
#12 x 3/4" SCREWS #760600 PER JOIST 

I I :: 1 / 
I 

I 

1\ I I 
1 0\ • 1 , _,,,-------t-12 GA . JOIST END TRACK #340082 

�=====!!:di\;:' \!i;:::====±=======!======±=:;:,�
3

�·�
-

�
7

�,�/�
2

�·� ,
2
�·�

0

11 c'.. I, / j,_, r (THIS LOCATION ONLY) 

' L  
' �YI: 

r======�=\=�====:::±l =\:\==
12

=
G

=
A

=
. 

=
J

=
O

=
IS

=
T

C::

#
=
3

=
4

=
0

=
3

=
9

=
2

=======i
l

l{;-,�� 

-

:): N \/ 
,

1 
II I \ II I I .,.:::.. / I 

_
-

_
- i+,,,+� /'.

r======�=\=±::=====;===l.======*"'======t==il 1 ' I II I \ 

I \ 

,l. I �· I I O / \ I 

1 

HEADER CHANNELS #3402;2<++����-'-+�-+--� ·
_

� .
-'
�; +-1 

1 f / \ 1 
1
, 

I 

I 

29'-5" 0 1 4'-11 1· 
I 

I 
I ('4 \ I '

�1 2 GA. JOIST # 340032 1,.1 \ 

. 
I 

N 

' 
U'l 

I 16 GA. STAIR LANDING JOISTS #340062 -+---�+---�
I 
+++I

� - g" 1'-7" 8" 

-14 GA. FLOOR 

I 

JOISTS # 340291 

I 
? 'j' o

'\ I I CX) N �I C) 

r======::=::1=======:;:======c::=======:;:====l===c::======::::j t----+-V I

' 
sj-

4" 

' 
0 
I 

:.,. 

L,-- -

2'-0" 2'-0" 2'-0" 2'-0" "- II :.,. 

II -- -- -

" I 'r I 4 3/4" /1 
I� I " I I 

I 
C> 

I I 

Ii I 
� / 

I I 

U'l 

I 

' 
sj-

I I I � � J I I --Ul:::::::,,==:::!:1:::c=====::=!c====±:c====::::!='=======::::!:1:::====s:;c====JJ...1::::,;;z::::::==='=c:�=F-:::!:1:::c=======t====::::1:='=====::::!='======�
;,'YP. SPECIAL ROOF JOISTS #340084 FASTEN TO JOISTS WITH CLIP�

V 

/ 

/ /1330054 (AT THE BOTTOM OF JOIST) WITH SCREWS #760600 
( 4 PER LEG OF ANGLE) (FIELD CUT JOIST TO LENGTH) 
(SEE PA GE 13 FOR DETAIL) 22'-3" 

45'-7 

23'-4 3/4" 

3/4" / 

SPECIAL 12 GA. X 1 o" TALL JOIST END TRACK 
#340037 (FIELD CUT) FASTEN TRACKS TO TUBE 
WITH S.D. SCREW #760602 @ 1' O.C. 

4" 

NOTE: 

NORTH 

North arrow for reference only -
coordinate actual orientation on site 

THERE ARE TWO TYPES OF JOIST END 
SAME PROFILE (#340004 IS 18 GAGE, 

TRACK THAT HAVE THE EXACT 
WHILE #340082 IS 12 GAGE). 

NOTE: FIELD CUT JOISTS AND TRACK AROUND STAIR OPENINGS. 

ATTENTION CONTRACTORS: 
METAL SHAVINGS SHALL BE 
COMPLETELY REMOVED FROM THE 
ROOF, FLOORS, AND STUD TRACKS AT 
THE END OF EACH WORK DAY. 
FAILURE TO DO SO MAY RESULT IN 
PREMATURE RUST SPOTS. 

23'-4" 

4" 

/
FASTEN PLATFORM 12 GA. x 1 O" JOISTS #340431 TO 
INTERIOR STRUCTURAL TUBES WITH CLIPS #340005 
USING #12 X 1 1/4" SCREWS #760602 TO TUBE AND 
TO JOIST ( 4 PER LEG) 

-�� INSTALL AFTER EXTERIOR 

{ WALL PANELS AR E IN PLACE 
'---�J_,

I iAS TEN PLATFORM 12 GA. x 1 O" JOISTS #340432 TO 
INTERIOR STRUCTURAL TUBES WITH CLIPS #340005 
USING #12 X 1 1/4" SCREWS #760602 TO TUBE AND 
TO JOIST ( 4 PER LEG) 

/IN�AFTER � 
�ALL PANELS AR E IN PLAC�) 

�-t-+--�--------------------------� 

SECOND FLOOR JOIST FRAMING PLAN 
SCALE: 1/4"=1'-0" 

46'-o" 

4" 11 '-o" 34'-4" 

FLOOR JOISTS #340291 

-"'� >.>. i-i- >...../ 

4" 

' 
0 

I "N

I 
·-=+----Y l=======*======±=======*=======I ' 
0 
I 

N 

I 

I 

' 
0 

I "' 
I 

I 1

1 1+-------+t-------++,---SPECIAL ROOF JOISTS #340084 
FASTEN TO LONGITUDINAL JOISTS 

0 

I 
N 

I 

I 

I
o

I 

I 

I 

I : I ;"-+----+, r======�======:::±=======c::=======1
s I II ' 
0 

I "' 
0

I 
N 

I 

I 

I 

I 
I 

I 

I 

I 

WITH CLIPS #330054 AND 
SCREWS #760600 (4 PER LEG OF 
ANGLE) (FIELD CUT REQUIRED) 

' 
0 
I 

N 
I H---------+-------++--------+++--

1 STRAP BRACE UNDERSIDE OF 

' 
0 

I 

I 

I Im_,
, 

--.-a
, 

r=======�==
;
=tc=========�======:::1 

� rr----- r------------------gJJ 

ROOF /FLOOR JOISTS AT LOCATIONS 
SHOWN WITH STRAP BRACE 
#340002. FA STEN STRAPS TO 
JOISTS WITH (2) #12 x 3/4" 
SCREWS #760600 PER JOIST 

FLOOR JOIST END TRACKS #340004-i----=t::;=tEE-fr
=

=rr
=

�r=
=

=n=
=

=rr==n1===F===rr======�-r-:=====�11r======�-bF======
=n

===== 1---�f-, 
"' 0 

".,-
V 

L14 GA. FLOOR JOISTS #340399 

FLOOR JOIST END TRACKS #340004 -

TYP. AROUND ENTIRE PERIMETER N -......_�....__ 

I I 

TYP. AROUND ENTIRE PERIMETER TOWER ROOF JOIST FRAMING PLAN 
II I II 

I I 

� I 
16 GA . STAIR LANDING JOISTS #340305 -+-�"'c.c.+----a-++ .. 1 

I I I 

' 
0 

I 
N N 

' "' 
I 

I 

I 

I 

I 

,-+:::_:::_:::_:::_-_:::_:::_:::_-_-_:::_:::_:::_:::_-_-_:::_:::_:::_:::_:::_- _:::_:::_:::_:::_:::_:::_:::_:::_:::_- _:::_:::_:::_:::_:::_:::_:::_:::_+
-
, 

I I I I 

in 
I 

IX) 

I I 

I I ::" '::
,, ' I I I I 

ii i i r 12 GA.
1

JOIST # 340032 , 

ii I I I 
I 

·o
I 

N

" I I II I I I !'i.f 
"··c 1 .

1

'1 � l]��;'""'i;--+
1

t-

1
HEADER CHANN

:
LS # 340222 

I 
: :? !

f 
] [ ] 

� lt_s -L"-J e=::===

/

==
12

=
G

=
A

=
.

+= 

1/

=0=
IS

=
T

=
#

=
34

=
0

=
0

=
3

=
2

==::========l=

!

========::======I r":---�:-,, -

sern,c n" srne erncrn -� 
! f=:3 i 

:=,..)
1

-·
-

�
2

�·-++
e=
-=+=,-=

3

-·
=

-
=
7

;:
11

:
2

:
"
�

==�======'=======::=======+=
I
, =======�=====:;1 f-

! 
____ :_,' _

g�
A
�T

N
A�� :

j
4

6��
2

AND BOTTOM ------ � r 1 r 1 � 1 1 ,.,.....----,H-+-r-,---9++-----SPECIAL ROOF JOISTS #340084 
-I--���::;::=::::'=;;::::=::;:;:'::::' :::::;:;:::::=::;:;:' =:;:;;:j e====-=t:====�=======;'=======::======::::;:' =======:::;;======:'.1 rc'- - --"'--t- FASTEN TO LONGITUDINAL JOISTS 

16 GA. STAIR LANDING JOISTS #340062 --+-�c--t-�'-++-tl n 
I I

1 
'

0 
WITH CLIPS #330054 AND 

� I 

I 
I 

I o SCREWS #760600 ( 4 PER LEG OF

:: 1 

"' 

' ' , 

1 NJ ANGLE) (FIELD CUT REQUIRED)

I I II II ',

: -

11 - - II '-, 
'._ 

;Jj 1-==::::::t:
45'-4" "" 

1----------------------------���--------------------------'s,� 

3RD FLOOR/RESIDENCE ROOF JOIST FRAMING PLAN 
SCALE: 1/4"=1'-0" 

-- STRAP BRACE UNDERSIDE OF 
ROOF /FLOOR JOISTS AT LOCATIONS 
SHOWN WITH STRAP BRACE #340002. 
FASTEN STRAPS TO JOISTS WITH (2) #12 
x 3/4" SCREWS #760600 PER JOIST 

SCALE: 1/4"=1'-0" 

REVISIONS by�

� 
(/) ::, 
_J 0X w 
w
F

f­::, 0 

Cl) 

�"!i w
I- u
Cl) z

Date 

'I"'"" 

I 
(.)
:I: 

.....J
w

0
0
:?!

0
(.)
Cf) 

� 

Drawn by 

Checked by 

Scale 

Order Na. 

Sheet Na. 

11 

(/) 

>�_J 

Cl) 0
i'.2

L 

_J 
LL 

0 <(
f- -
(/) :r::
=> f-
u _J 

(/) 
_J 

<( 
1-
w 

0 
0z 
<( 
(/)z 
<( 
_J 

" 0.. 
2: I­"' (/)
"0" --,
6i 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
JOIST PLANS AND DETAILS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
16 GA. STAIR LANDING JOISTS #340062

AutoCAD SHX Text
14 GA. FLOOR JOISTS #340291

AutoCAD SHX Text
SECOND FLOOR JOIST FRAMING PLAN

AutoCAD SHX Text
3RD FLOOR/RESIDENCE ROOF JOIST FRAMING PLAN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
NOTE:  FIELD CUT JOISTS AND TRACK AROUND STAIR OPENINGS.

AutoCAD SHX Text
HEADER CHANNELS #340222

AutoCAD SHX Text
14 GA. FLOOR JOISTS #340293

AutoCAD SHX Text
TYP. SPECIAL ROOF JOISTS #340084 FASTEN TO JOISTS WITH CLIPS  #330054 (AT THE BOTTOM OF JOIST) WITH SCREWS #760600  (4 PER LEG OF ANGLE) (FIELD CUT JOIST TO LENGTH) (SEE PAGE 13 FOR DETAIL)SEE PAGE 13 FOR DETAIL))

AutoCAD SHX Text
SPW

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
SPECIAL 12 GA. STAIR HEADER CHANNEL AT TOP AND BOTTOM OF STAIR #340082

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004  TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
WALL PANELS ARE IN PLACE

AutoCAD SHX Text
INSTALL AFTER EXTERIOR

AutoCAD SHX Text
16 GA. STAIR LANDING JOISTS #340305

AutoCAD SHX Text
12 GA. JOIST END TRACK #340082  (THIS LOCATION ONLY)

AutoCAD SHX Text
12 GA. JOIST #340032

AutoCAD SHX Text
12 GA. JOIST #340032

AutoCAD SHX Text
14 GA. FLOOR JOISTS #340291

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004

AutoCAD SHX Text
HEADER CHANNELS #340222

AutoCAD SHX Text
12 GA. JOIST #340392

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004 TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
SPECIAL 12 GA. X 10" TALL JOIST END TRACK #340037 (FIELD CUT) FASTEN TRACKS TO TUBE WITH S.D. SCREW #760602 @ 1' O.C.

AutoCAD SHX Text
FASTEN PLATFORM 12 GA. x 10" JOISTS #340431 TO  INTERIOR STRUCTURAL TUBES WITH CLIPS #340005 USING #12 X 1 1/4" SCREWS #760602 TO TUBE AND TO JOIST (4 PER LEG)

AutoCAD SHX Text
WALL PANELS ARE IN PLACE

AutoCAD SHX Text
INSTALL AFTER EXTERIOR

AutoCAD SHX Text
FASTEN PLATFORM 12 GA. x 10" JOISTS #340432 TO  INTERIOR STRUCTURAL TUBES WITH CLIPS #340005 USING #12 X 1 1/4" SCREWS #760602 TO TUBE AND TO JOIST (4 PER LEG)

AutoCAD SHX Text
16 GA. STAIR LANDING JOISTS #340062

AutoCAD SHX Text
SPECIAL 12 GA. STAIR HEADER CHANNEL AT TOP AND BOTTOM OF STAIR #340082

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004  TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
16 GA. STAIR LANDING JOISTS #340305

AutoCAD SHX Text
14 GA. FLOOR JOISTS #340291

AutoCAD SHX Text
12 GA. JOIST #340032

AutoCAD SHX Text
12 GA. JOIST #340032

AutoCAD SHX Text
SPECIAL ROOF JOISTS #340084 FASTEN TO LONGITUDINAL JOISTS WITH CLIPS #330054 AND SCREWS #760600 (4 PER LEG OF ANGLE)  (FIELD CUT REQUIRED)

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
TOWER ROOF JOIST FRAMING PLAN

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
14 GA. FLOOR JOISTS #340399

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004  TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
SPECIAL ROOF JOISTS #340084 FASTEN TO LONGITUDINAL JOISTS WITH CLIPS #330054 AND SCREWS #760600 (4 PER LEG OF ANGLE)  (FIELD CUT REQUIRED)

AutoCAD SHX Text
ATTENTION CONTRACTORS: METAL SHAVINGS SHALL BE COMPLETELY REMOVED FROM THE ROOF, FLOORS, AND STUD TRACKS AT THE END OF EACH WORK DAY.  FAILURE TO DO SO MAY RESULT IN PREMATURE RUST SPOTS.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
11 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
NOTE:   THERE ARE TWO TYPES OF JOIST END TRACK THAT HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE,  WHILE #340082 IS 12 GAGE).  



... 

• 
• 

46'-Q" 
22'-o" -

22
1-8

11 
23'-4"

r----------------------------------------------------- -------------------------------------------------------
-�--� ANGLE 4"X4"X120" #380008, 

/ ATTACH TO STRUCTURAL BEAM 
---------�-� 

---- ---- ----- 1---- ----- -- ---- ---- ----- ---- ----

�-· --=- ----- I====-- ---=� ===a �---- --=- ----- ---- -�-

I ! 

II 

I 

" ' 

1
1 I 
:1 : 

WALL STUDS #330909---+-ll-+1--l+---tl 
:1 : 
I I 
:1 : 

I 
' 
' 

Ir. I . ' 

t---
1
-- ---- --- - 1---- ---- - -- -- - -----ir· 

1
1 I� -

-
- - -

-
--

-
-

:1 II 

i' r-- ---- ----- ---- -----

-- ---- -- - ----- ---- --11"-- ---- ---- ---- --ii 

' N
I 

0 

-

. / 
W/ 3/8" DIA. BOLTS (2' O.C. FIELD DRILL}, 

I,/ 
ATTACH TO STUDS W/ SCREWS #760600 

' 
' 

,- WALL STUD #330252 

TYP. CONNECTION DETAIL 

FOR RECESSED OPENINGS IN BUILDING �-�-

r--- - ,- -----tt-"::
I 

+i-- - ----
- ,- -----lf--'ritf-- - ----r---

-- - ---- :[ 
-- -1 =::= ---- IF., =;====I r F.,==;======I

z ' z 

: o a 
I I I I � 

""°=1F==H====I I :.,. � '"""===I l=F=I F===1-===1 :.,. I c 3'-0 1/4" � ,- ' ,- 3'-b 1/4" ' 
I ���;ir-11-11:1

:
IIF.O. STUDS #330222 �

STUD WALL TRACK #340162 --.,__ , io 
TYP. AT TOP & BOTTOM OF "- ' I 
EACH FLOORS STUD WALL :" 

;,, 
' 
' 

11 . 
' 2'-0" 2'-0" 

'
<O 
I 

;,, 

11------tt--'jj: I
-WALL STUDS #330909

I 
' 
' 

------------------------- ----------------------- ---- t-- �--- ----- 1--- - -- - - -l- _J _ _J.r:_._ _JYP._ c-- -- -- - ---- ·----t 

- i:------ ----- i----- ---­

�--- ----- i----- ----

----H--tt!F-rtt---- ---- ---- i-----

----H-+ttt�--<fl---
7 

---- ---- i-----

--4-, --� "' 
---- ----
---- ----

i----- -
i----- - := ----- J

' 

c;------ ---- ---- --- -- ---­�-- - ---- --- - --- -- ----

11 : 

STRAP BRACE INSIDE FLANGE OF i

1 

I 
STUDS AT MID SPAN WITH STRAP "" :I : 

""
WALL STUDS #330909-t---+--ttHlt----tl : L WALL STUDS #330252

0 : 0 : 
#340002 FASTEN WITH (1) #12 x 3/4" �, I 
SCREW #760600 PER STUD TYP. l'

i
� =:=

1 

=H====ll====I 

' ��
I 

a,N

� 
I 

' a,
I I I I 'b � � RF==H====ll3• -0 1 / 4" I= 1====11=*=1 F=='=i F=='=i 3• -b 1 / 4 • 1==11====1 I==� I c'o 

11 
I 

:1 ' 
I I WA LL STUDS #3 30 2 31 ---+-tl-, --,-, --1+---t I 

2'-0" 2'-0" 
i---1-- ---- ----- �1_ye_._ - _uE\_ 

1· 2'-0" 2'-0" Ir; 
:,.-

-- _I_T_r:_. _ ___l__T_t:. __________ --
1
�-

1�- ---- ----- ---- ----- --
:1 ,, 

---- --
-

- ----- ---- - II ' 

r- ---- ----- ---- ----- --

1 
I !I :
I 

:, 
' 

I 

:1 : WALL STUDS #330210 ----++-
+!

---<+---"'1 
:1 I 

i

1 

I ii '' 
i 

---- ---- ----- ---- -1: 

Ir. 
ii 

f----- ----

f----- ----

' a,
I 

a, 

0 
STRAP BRACE INSIDE FLANGE OF STUDS --+--

�
+--IILIJL, �/ 

I 
i--- I ,-_-l--�-i,.-++----++--++, ,_ F. 0. STUDS #330 2 21 � 

' ' ' AT MID SPAN WITH STRAP #340002 
I FASTEN WITH (1) #12 x 3/4" SCREW : 

'
<O 

I , I 
: 'f 1-.--++---,:+1-WALL STUDS #330231

#760600 PER STUD TYP. 

ATTENTION CONTRACTORS: 
METAL SHAVINGS SHALL BE 
COMPLETELY REMOVED FROM THE 
ROOF, FLOORS, AND STUD TRACKS AT 
THE END OF EACH WORK DA� 
FAILURE TO DO SO MAY RESULT IN 
PREMATURE RUST SPOTS. 

' a,
I 

a, 

11'-8" 11'-0" 
I 

;,, I ;,, I 
' 
' 

� ---- ---- ---- ---- 1----- - I--�----------------------- - t-- ---- ----- t--- - -- -- ---- --+ ---- �- - -- - ---- ·----t 

! �:::::: ::=:: :::= := - ---- - t -- --- ---- -- t- --- ---- ---- 1----- - := ----- j 
- ---- -

: 

-- --- ---- -- t- ---
: 

---- ---- 1----- -

c:------ ---- ---- --- -- ----
I 

�--- ---- ---- --- -- ---- I 
' ' ' 

I I 
' ' 
' ' 

I I 
' ' 
' ' 

I I 
I J: 

: 

i :: I ' I ' O " 3'-4 1/4" ' O O 

I 

I I "' 

r--lll���� 
I I 

I la=ii;===H====I I :.,. I= 1====11=1 l=i==F==I F==I I I Ill �l====H====I I :.,. I= 1====11±=1 l====H====I :.,.
3'-0 1/4" ' ' 3'-0 1/4" 3'-b 1/4" ' ' 

I I 
' ' 
' ' 

I I 
' ' 
' ' 

I I 
' ' 
' ' 

'
<O 
I 

;,, 

I 
N ! t;:;t;;�;ti

-11-11:1: II F.O. STUDS #330220

i

i, I\ :
I

i, '-·�- ·--�-

I - - 1-.--+1-----"
1
+1-WALL STUDS #330210
' 

, r\ 
' 

i 

' 

\ 

' a,
I 

a, 

��---STUD WALL TRACK #340162 
TYP. AT TOP & BOTTOM OF 
EACH FLOORS STUD WALL 

-
WALL STUDS #330376� \'-----( SPECIAL 12 GA. F.O. STUDS #330318 

(DOUBLE JAMB STUDS) FOR FORCIBLE 
ENTRY/POWER JAMB DOOR ONLY 

SOUTH END STUD WALL FRAMING ELEVATION 

SCALE: 1/4"=1'-0" 

NOTE: MAXIMUM STUD SPACING IS 2'-0". 

NOTE: FIELD CUT FRAMING AROUND FRAMED OPENINGS 

NOTE: FIELD LOCATE FRAMED OPENINGS 

UNLESS DIMENSIONED ON PLANS OR ELEVATIONS. 

46'-o" 

23'-4" 22'-8" 

SCALE: 1/4"= 1 '-0" 

WEST SIDE STUD WALL FRAMING ELEVATION 

2'-6" 

22'-0" 

I------ ----- --- ---- ---- - ---- ---- ---- 1----- I-----

rr-- 1=--===!!- -=-==1-1" 

---- --T
:: 1: 
II " 

1,:: i i 
3'-4 1/4" 

ii 
I �l====l 1====11== 1====111====111====11===1

WALL STUDS #330231 -----+tt 
(STUDS SIT ON FLOOR JOISTS} 

,: 

I 
I 

'b 
I 

0 

;--------- ---------------------------------------------- -
=-=---------

F.0. STUDS #330221 ------++1-�-tt
(STUDS SIT ON FLOOR JOISTS} 2·-0· 2·-0· 1' 2'-0" 2·-0· I' 

' � � 
I 

a,N

N 
I 

0 

' 
0 
I 

0 � 

' a,
I 

a, 

----",: ·11----- ------ -
- -----
- -----11 - -- - =: :--t,�

-
,,"',-:

-
, ti-_::= 

/ \ I\. ! A F. 0. STUDS #330 22 2 --IH+--ll----J+--f-11----'l+\---H---H--+,--l+----ll-fl �
//' \'\ 

---- ---- r 
----

� 

II IYP. l,c. IT�. IW. II 
roip--1-__ .J ____ _J_ ____ J __ J_ __ 1.__ _L ____ l._ ___ _L ___ _L __ 1!1rrr 
ri�------------------------------------------1rii 
V V 

WALL STUDS #330909----ije-t+----ti,/' '
\\

I 
'f' 

e= F===t,H;===H===H==a=ltc,==H=,=, �1===11==113°':':_
Kl 1 / 4 .. i====IF=H==I I TOWER & FLAT ROOF TRANSITION STUD WALL FRAMING ELEVATION 

4'-3 7 /8" 

I, \ I ,'
/

1 \\\ I 

I, , \ 
i 

,'/, ,\'\ : 
, 

, I 
' '., 2'-0" 2'-0" f 2'-0" 

'
<O 
I 

;,, 

+-- ---- ---- ---- _TYP, __ rre,_ + _ TYe, - t--- ---

I 

;------ --- -- ---- -

: ;------ --- --1-1-s,�-11
I 

/ \ ' ' ' 
,' \ 

-
--

1-
--

-. 

-
--

1-
--

-

t - =  
' 

I 
' 
' 

; V-3'-4 1 /4' \ I 

' ' 0 

I 
'
/ \\ I I 

,-STUD WALL TRACK #340162 
TYP. AT TOP & BOTTOM OF 
EACH FLOORS STUD WALL 

SCALE: 1/4"=1'-0" 

----- t--- -,L� -----------------------------------------------------
---- ---- r-----c-,:c-H·---

-- ---- ---- r------'--111-''--H----
t----- ---- ----

t----- ---- ----

I 1 

3'-4 1/4" 

-�-�
- --- ---- I-----

1 i=.==!!====ir=--tt---itfitt---t--t------ F. o. sTu Ds #330222 ----------HMl!a·=!!e·=·==-,tt----
� I I ii' I�

...... I I I I ......... 

lt---llt-ftt--+--1------- WALL STUDS #330909 ----------+Hl--lll-=+-
0 I I I 0 
I I =c-., II I I 

22'-Q" 

f----

f----

- ----

- ----

---- I----

---- 1-----

----- ---

----- --L 

;1 : 
3'-4 1/4' I 

:, 
' 

__L__ ,.,. 

r l==
=a:I= 

'N 

11==.-=lta=\
=='=iF:=

I 

IF==IIF=ll3·-o 1/4" i====ll====ll==!Jli=ji====llcj
F.O. STUDS #330221 --<He,-++=,-;,,, +--ti I \' 

, 
' 
N
I 

,.,. I I I I -:.,. ll====ll===±ii±=IF==IIF=ll3•-o 1/4' i====IF=.=il
"-,;

,1 =±j
� 1'-3 3/4" ·� 3'-0 1/4•IF==li====ll====ll==H====ll====1

i "! ""' 
---'--::;/�:1H :��I 

I 

ii 
I 

i /, "r-- ,\ i 
' 
' 

' 
<O 

i--- '
<O WALL STUDS #330231 -e--: ....,_•_,_,_' --1-1 \,\ 

I / 
' \ 

' 
' 

+-- ---- -- 1--------- --- I-----

I 
' 
' -l- -

I 
"rr, 

----- f---- _ _, 

2'-0� • 2'-0"
- ---- - f-------- -- - - TYP. J-_ _Jyp-'-

I 
;,, 

I--- I---- ---- ---- -

-- -- - - -- I--- - -- ---If" ---- -- -- --- - -- I---

.,_ --- ; \ \ ---- 1------111-�,H1----- - - ----
1-

---- ----1�_-,n--,t-----

! / : \ \ i! 1
I //' \'\ 1 1 1 

' 
z 

• ' Iii 
i ·/ \\ I 'i' 

I! l!I 
1: 1:1 

�F==c,,1===1e===IF=;=J�===l�:e�l====11a==II:.,. i====IF=�,:1=11Fi====I�
F.O. STUDS #330220 -

111�'1
-

1
--r--

n::
l
\�111r--r1t

3
;
'
�Kl

;;

1
�
/

�
4" '' 

: />,' '<\ Iii I! l!I 
WALL STUDS #330210-e-, --tt-7'-r--+I \ , Il l 

-

·; \' 1:1 '

1 ' 
' 

1:

1

1 
, 

' 
1;1 

'
<O 
I 

;,, 
I II 
I' l'I 

- --- -- f---

-- ---- --- r--- -J-f-+1--H----
- t--- --- -- -- ---- o·
- t--- ---- f----

3'-4 1/4" 

I 

I 

I 

' 
z 

0 
I 

F==l ta===�:,1 =1:1;==1 F=='=i 1==11 "-st

\ 

1:1 " 3'-0 1/4' 

i!1 :1 

i'1 I 
1:1 :, 

i!1 :1 

'
<O 
I 

;,, 

"
I I 

' 

1:1 ' 
I I 
Iii : 

i' 1 I 

1:1 
,1
1 

I 

1:1 : 

--+---+---- STRAP BRACE INSIDE FLANGE OF STUDS ---� II I io 
AT MID SPAN WITH STRAP #340002 i

1 
i � ' �� 

I 
a, 

FASTEN WITH (1) #12 x 3/4" SCREW :1 : 
#760600 PER STUD TYP. C -

2'-0'" 2'-0"
IYP._ 

-

1· 2'-0" 
J_Tl"_. 

;1 :

:1 : 
I 

!I :
II

2'-0" 
--IYI'._ 

=- - a�-, 
----- ---- ----- ---- -� -

i 

!Ii
I Iµ 

- ---- ----- I----- ----- ---

' a,
I 

a, 

:1 II 
I 

ii WALL STUDS #330210-----t-f',t--*,-tt- --tt

i

1 

ii 
' 

:1 

11
:1 STUD WALL TRACK #340162

-,,,,__ i TYP. AT TOP & BOTTOM OF "- 'I 
EACH FLOORS STUD WALL �' 

:f"i,_ 

''
I ' 
i 

' ' ' 

I I ' ' ' ' 

I I ' ' ' ' 

I I ' ' 

' 

1'-1 1 /4" 

-

� 
I 

0 

' a,
I 

a, 

\�__, SPECIAL 12 GA. F.O. STUDS #330311 
(DOUBLE JAMB STUDS) FOR FORCIBLE 
ENTRY /POWER JAMB DOOR ONLY 

EAST SIDE STUD WALL FRAMING ELEVATION 
NORTH END STUD WALL FRAMING ELEVATION 

SCALE: 1/4"=1'-0" 
SCALE: 1/4"=1'-0" 

' --
I 

a, 

SPECIAL 12 GA. F.O. STUDS #330335 
(DOUBLE JAMB STUDS) FOR FORCIBLE 
ENTRY /POWER JAMB DOOR ONLY 

' -� 
I 

a,N

REVISIONS 

Cl) 

�

�w 
I- u
Cl) z

en 

>�...JCl) u
i'..:

T'"" 

I 
(.) 
I 

....J 
w 

Cl 
0 
� 

_J 
LL 

02 
(.) 0 
(/) f- <((f) I

� 3 � 

by�

U) 
__J 

<( f­
w 

0 
.:cl 
U) 
z 
0 
f-
;; 
w 
__J 
w 

__J 
__J 
<( 

" 3: 
:;:, i:::o

:::J - f-
� U) 

6i 
Date 

MARCH 5, 2018 
Drawn by 

GWL 

Checked by 
SPW 

Scale 
SHOWN 

Order Na. TTS-105/#199204 
Sheet No. 

12 of 19 

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
STUD WALL ELEVATIONS & DETAILS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
EAST SIDE STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
F.O. STUDS #330222

AutoCAD SHX Text
WALL STUDS #330909

AutoCAD SHX Text
WEST SIDE STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
NOTE:  MAXIMUM STUD SPACING IS 2'-0".

AutoCAD SHX Text
       UNLESS DIMENSIONED ON PLANS OR ELEVATIONS.

AutoCAD SHX Text
NOTE:  FIELD LOCATE FRAMED OPENINGS

AutoCAD SHX Text
NOTE:  FIELD CUT FRAMING AROUND FRAMED OPENINGS

AutoCAD SHX Text
ATTENTION CONTRACTORS: METAL SHAVINGS SHALL BE COMPLETELY REMOVED FROM THE ROOF, FLOORS, AND STUD TRACKS AT THE END OF EACH WORK DAY.  FAILURE TO DO SO MAY RESULT IN PREMATURE RUST SPOTS.

AutoCAD SHX Text
SOUTH END STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
WALL STUDS #330231

AutoCAD SHX Text
NORTH END STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
SPW

AutoCAD SHX Text
SPECIAL 12 GA. F.O. STUDS #330311 12 GA. F.O. STUDS #330311  F.O. STUDS #330311 #330311 (DOUBLE JAMB STUDS) FOR FORCIBLE ENTRY/POWER JAMB DOOR ONLY

AutoCAD SHX Text
STUD WALL TRACK #340162 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
WALL STUDS #330231

AutoCAD SHX Text
F.O. STUDS #330222

AutoCAD SHX Text
WALL STUDS #330909

AutoCAD SHX Text
SPECIAL 12 GA. F.O. STUDS #330318 12 GA. F.O. STUDS #330318  F.O. STUDS #330318 #330318 (DOUBLE JAMB STUDS) FOR FORCIBLE ENTRY/POWER JAMB DOOR ONLY

AutoCAD SHX Text
TYP. CONNECTION DETAIL

AutoCAD SHX Text
FOR RECESSED OPENINGS IN BUILDING

AutoCAD SHX Text
WALL STUD #330252

AutoCAD SHX Text
W/ 3/8" DIA. BOLTS (2' 0.C. FIELD DRILL),

AutoCAD SHX Text
ATTACH TO STUDS W/ SCREWS #760600

AutoCAD SHX Text
ANGLE 4"X4"X120" #380008,

AutoCAD SHX Text
ATTACH TO STRUCTURAL BEAM

AutoCAD SHX Text
WALL STUDS #330252

AutoCAD SHX Text
STUD WALL TRACK #340162 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
WALL STUDS #330909

AutoCAD SHX Text
F.O. STUDS #330222

AutoCAD SHX Text
WALL STUDS #330909

AutoCAD SHX Text
WALL STUDS #330909

AutoCAD SHX Text
STUD WALL TRACK #340162 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
WALL STUDS #330231

AutoCAD SHX Text
SPECIAL 12 GA. F.O. STUDS #330335 12 GA. F.O. STUDS #330335  F.O. STUDS #330335 #330335 (DOUBLE JAMB STUDS) FOR FORCIBLE ENTRY/POWER JAMB DOOR ONLY

AutoCAD SHX Text
F.O. STUDS #330220

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
F.O. STUDS #330220

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
F.O.	STUDS #330221  STUDS #330221  (STUDS SIT ON FLOOR JOISTS)

AutoCAD SHX Text
WALL STUDS #330231 (STUDS SIT ON FLOOR JOISTS)

AutoCAD SHX Text
TOWER & FLAT ROOF TRANSITION STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
STUD WALL TRACK #340162 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
12 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
WALL STUDS #330376



... 

> 

-- r, 

BALCONY JOISTS -------+---i 

1 
_ _  STIFFENING JOISTS #340084

------ -
1 O" x 2 1 /2" 12 GA. CHANNEL S' ����------4·rom--��,;;---JOIST CLIP #330054 

V V V V V Y V V V V V V """"' 

.,r
/

,.__,,_•-•-

N O TE: ONL y FOR BALCONY V -t·
:J
· t:-&-e::'._::=--==--==--==--=:.J::-� HOLD JOIST CLIP AND 8" 

JOISTS FASTEN EXTERIOR OF ' -- JOISTS TO BOTTOM OF 10" 
( ) JOIST TO ENSURE MAX. CLIP WITH 8 #12 S.D. SCREWS' 

STABILITY OF RAIL ATTACHMENT PER CLIP 
A A A A A A A A A A A A / 

TYP. STIFFENING JOIST TO BALCONY JOIST CONN. 

1-1
2 1/2" 

,---- -�

L__ -� 

TYPICAL FLOOR &/or ROOF JOIST 

2'-0" 2'-0" 

\__FLOOR DECK, -FLOOR JOISTS 
' 

6" 

3" 13"

I 

' 

I 

I 

2'-0" 

\ 
!---BUILDING CENTER LINE 

�-STRAP BRACE #340002 AT LOCATIONS 
SHOWN. FASTEN TO UNDER SIDE OF 

JOISTS WITH (2) #12 x 3/4" S.D. 
SCREWS #760600 PER JOIST 

2'-0" 

SECTION THRU FLOOR SHOWING TYP. JOIST SPACING 

/
-- FLOOR/ROOF JOISTS 

----------------------------------------------------------------
o o c---- - --t- -JOIST CLIPS #340005
0 0 

0 " 
0 0 -· -- .2\.------------------------

' 

' 

FASTEN CLIP TO BEAM WITH 
3/8" DIA. BOLTS #760100 & 
NUTS #760300 

7 'l!ll' \ FASTEN JOISTS TO JOIST CLIPS -� WITH (8) #12 x 3/4" S.D. 
SCREWS #760600 PER CLIP 

�--FLOOR/ROOF SUPPORT BEAM 

TYP. JOIST TO INTERIOR BEAM CONN. 

SOME FIELD DRILLING OF HOLES IN THE STRUCT. BEAM 
WILL BE REQUIRED FOR THE 3/8" BOLT 
ATTACHMENT OF THE CLIP TO THE STRUCTURAL BEAM 

---

WA LL TRACKS ____ ._""""" . .,_ -·---o

JOIST END TRACK-----:t-
..,

1
---

8" x 4" 18 GA. CHANNEL 

FASTEN TRACK TO BEAM WITH--� 
3/8" DIA. BOLTS #760100 & 
NUTS #760300 @ 2'-0" O.C. 

/
--FLOOR/ROOF JOISTS 

JOIST CLIP #340001 

��- -FASTEN CLIP TO JOIST & 
TRACK WITH (8) #12 x 3/4" 
S.D. SCREWS #760600 PER CLIP

"----FLOOR/ROOF SUPPORT BEAM 

TYP. JOIST TO EXTERIOR BEAM CONN. 

ALIGN WITH TOP OF JOIST TRACK-� 8" x 2 1 /2" 16 GA. "CEE" 
rFLOOR JOISTS 

..,....;J�����F�AS�T�E�N�W�ALL TRACKS TO JOIST TRACK 

STUD WALL TRACK #340162 --
4" x 2" 16 GA. CHANNEL 

JOIST END TRACK #340004 -� 
8" x 4" 18 GA. CHANNEL 

WITH #12 x 3/4" S.D. SCREWS #760600 
AT 1'-0" O.C. 

�--FLOOR SUPPORT BEAM 

TYPICAL TOWER STUD TRACK CONNECTION 

scale: 1 1 /2" = 1 '-0" 

FASTEN STUDS TO TRACK 
WITH (2) #12 x 3/4" S.D. 
SCREWS #760600 AT EACH 
END OF EACH STUD 

-WALL STUDS
4" x 2" 20 OR 18 GA. "CEE"

STUD WALL TRACK #330000 
4" x 2" 20 GA. CHANNEL 

TYPICAL TOWER STUD CONNECTION 

seal e: 1 1 /2" = 1' -0" 

l=r4� 
I 

I 

0 

TYP. WALL STUD 

<:: 
.5:! -

-�
"> "
c::, 
.Q 

REVISIONS 

w 
> 
(/) 
::::, 

0 

w 
w "'
f- 0 

.... 
0) 00 

(/) (/) '° �
::,e "' I 

u... t==' '° .... 
0 

"' 
w (/) ;;:: 00 "" >- � 
w (/) 00 w 0 

('.) "" <.D 
z 

<( 
� 

(/) z f- "" "" <( CL <( 
<( "" u... 
CL f- z 

::::, 0 
_J _J (/) 0 
_J <( 

:;,: <( 0 

f- I 
0 0 

0 ..... 
z ;": <( N 
<( 0 "' "" 
('.) u... � 
z 0 z 00 

;;:: "" 0 
>- ::::, <.D 

<( f- CD � "" "" _J 
0 w ;;:: w 

CL 0 
(/) 0 .... u... 
:r: "" ;;, u... 
f- CL 0 

Cl) 

�"!i w

Cl) 

CJ.z
.,,-_,I� 
...... <(

"- a:
-- I-

'I"'"" 

(.) 
:I: 

w 

0 
::E 

_J 
LL 

0 2 

(.) 0 " 
<( 

Cf) f- -
(f) :r:: 

w =:) f-

3: u _J 

by�

f-

0 

:r: 
f-
§' 
f-"" 
<( 
CL "" 
0 

w 
_J 
0 

i 
z 

0 
w
0 
::::, 
0 
0 "" 
CL 
w "" z

0 
w (/) CD (/) 
f- ::,e
0 "" 
z w 

>-
CL 

<( z 
::,e t==' 
0 f-
z 

� <( 

U) 
_J 

w 

" 0 

:;:, 
i:: c_j 
- U) " -" ::,;:
i5i 

Date 
MARCH 5, 2018 

Drawn by 
GWL 

Checked by 
SPW 

Scale 
SHOWN 

Order Na. 
TTS-105/#199204 

Sheet Na. 

13 of 19 
..... 

AutoCAD SHX Text
MISC. DETAILS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
10" x 2 1/2" 12 GA. CHANNEL

AutoCAD SHX Text
BALCONY JOISTS

AutoCAD SHX Text
JOIST CLIP #330054

AutoCAD SHX Text
STIFFENING JOISTS #340084

AutoCAD SHX Text
TYP. STIFFENING JOIST TO BALCONY JOIST CONN.

AutoCAD SHX Text
HOLD JOIST CLIP AND 8" JOISTS TO BOTTOM OF 10" JOIST TO ENSURE MAX. STABILITY OF RAIL ATTACHMENT

AutoCAD SHX Text
NOTE:  ONLY FOR BALCONY ONLY FOR BALCONY  FOR BALCONY BALCONY JOISTS FASTEN EXTERIOR OF CLIP WITH (8) #12 S.D. SCREWS  PER CLIP

AutoCAD SHX Text
TYPICAL FLOOR &/or ROOF JOIST

AutoCAD SHX Text
SECTION THRU FLOOR SHOWING TYP. JOIST SPACING

AutoCAD SHX Text
FLOOR DECK

AutoCAD SHX Text
SCREWS #760600 PER JOIST

AutoCAD SHX Text
JOISTS WITH (2) #12 x 3/4" S.D.

AutoCAD SHX Text
SHOWN.  FASTEN TO UNDER SIDE OF

AutoCAD SHX Text
STRAP BRACE #340002 AT LOCATIONS

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
BUILDING CENTER LINE

AutoCAD SHX Text
ATTACHMENT OF THE CLIP TO THE STRUCTURAL BEAM

AutoCAD SHX Text
SOME FIELD DRILLING OF HOLES IN THE STRUCT. BEAM

AutoCAD SHX Text
JOIST CLIPS #340005

AutoCAD SHX Text
WILL BE REQUIRED FOR THE 3/8" BOLT

AutoCAD SHX Text
FLOOR/ROOF JOISTS

AutoCAD SHX Text
JOIST CLIP #340001

AutoCAD SHX Text
FLOOR/ROOF SUPPORT BEAM

AutoCAD SHX Text
FLOOR/ROOF JOISTS

AutoCAD SHX Text
TYP. JOIST TO EXTERIOR BEAM CONN.

AutoCAD SHX Text
FLOOR/ROOF SUPPORT BEAM

AutoCAD SHX Text
TYP. JOIST TO INTERIOR BEAM CONN.

AutoCAD SHX Text
8" x 4" 18 GA. CHANNEL

AutoCAD SHX Text
WALL TRACKS

AutoCAD SHX Text
JOIST END TRACK

AutoCAD SHX Text
FASTEN JOISTS TO JOIST CLIPS WITH (8) #12 x 3/4" S.D. SCREWS #760600 PER CLIP

AutoCAD SHX Text
FASTEN TRACK TO BEAM WITH 3/8" DIA. BOLTS #760100 & NUTS #760300 @ 2'-0" O.C.

AutoCAD SHX Text
FASTEN CLIP TO JOIST & TRACK WITH (8) #12 x 3/4" S.D. SCREWS #760600 PER CLIP

AutoCAD SHX Text
FASTEN CLIP TO BEAM WITH 3/8" DIA. BOLTS #760100 & NUTS #760300

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 OR 18 GA. "CEE"

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
FASTEN STUDS TO TRACK

AutoCAD SHX Text
WITH (2) #12 x 3/4" S.D.

AutoCAD SHX Text
SCREWS #760600 AT EACH

AutoCAD SHX Text
END OF EACH STUD

AutoCAD SHX Text
TYPICAL TOWER STUD CONNECTION

AutoCAD SHX Text
TYPICAL TOWER STUD TRACK CONNECTION

AutoCAD SHX Text
JOIST END TRACK #340004

AutoCAD SHX Text
8" x 4" 18 GA. CHANNEL

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
8" x 2 1/2" 16 GA. "CEE"

AutoCAD SHX Text
STUD WALL TRACK #340162

AutoCAD SHX Text
4" x 2" 16 GA. CHANNEL

AutoCAD SHX Text
FASTEN WALL TRACKS TO JOIST TRACK

AutoCAD SHX Text
WITH #12 x 3/4" S.D. SCREWS #760600

AutoCAD SHX Text
AT 1'-0" O.C.

AutoCAD SHX Text
ALIGN WITH TOP OF JOIST TRACK

AutoCAD SHX Text
FLOOR SUPPORT BEAM

AutoCAD SHX Text
TYP. WALL STUD

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
13 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



.. 

NOTE: FRAMED OPENING FRAMING WILL REQUIRE SOME FIELD CUTTING 

4" x 2" 20 GA. CHANNELS /
�---WALL TRACK #330000 

�:;::::;::::;:::==::;::::;::::=====�' '.;:::;:::=::::;::::;::::;:::;:::::'r 

' 

N 

I 
r--

\�++++--F.O. TRACK #330000 
( 4" x 2" 20 GA. CHANNEL) 
ATTACH TO DOOR JAMBS 
WITH CLIPS #330001 

--+-f-+---SWING DOOR JAMB SUPPORTS 
4" x 2" 16 GA. "CEE" 

0 
I 

;,. 

----WALL STUDS g! 

4" x 2" 20 GA. "CEE" �"'
0 

�---WALL TRACK #330000 

/ 
4" x 2" 20 GA. CHANNELS 

-
--'

F---
-
-�-�-

-
-----�-

-
-_-_-_-_-_-_-�-�-

-
-_-_-_---,,���������-7-.,-

3'-o 1/4" 

">---+-f------l-+-- - F. 0. TRACK #33 0 000 
( 4" x 2" 20 GA. CHANNEL) 
ATTACH TO SHUTTER JAMBS 
WITH CLIPS #330001 

--++---JAMB SUPPORTS (SAME AS SWING DOOR) 
4" x 2" 16 GA. "CEE" 

----- WALL STUDS 
4" x 2" 20 GA. "CEE" 

�--- #12 x 3/4" SELF DRILLING 
� SCREWS #760600 

I� �� 

�-
0 

01� - - ��
�--- ---

_j 0 
0 

v---

-
�-++++-ABOVE HIGHEST POINT OF EITHER THE, � 

METAL/CONCRETE FINISHED FLOOR OR fa
CURB (NOT NECESSARILY TO THE "'uiz 

11,1--t-+--ABOVE HIGHEST POINT OF EITHER THE
METAL/CONCRETE FINISHED FLOOR OR 
CURB (NOT NECESSARILY TO THE 
BOTTOM OF THE STUD TRACK) 

POSITIVE DOOR 

3'-4 1/4" 

BOTTOM OF THE STUD TRACK) c:

0 
[D 
<{ 

I 

I ' 

TYPICAL TOWER SWING DOOR 
FRAMED OPENING ELEVATION 

TYPICAL TOWER WINDOW/SHUTTER 
FRAMED OPENING ELEVATION 

STUD WALL TRACK 

LINER PANEL FINISHING TRIM 358440 -----..._ 
-

FASTEN WITH #12 x 3/4" -----E�·t--+-ttt­
SCREWS #760604@ EACH STUD 

WALL STUDS ---------+-+-+->-

STRAP BRACING #340002 @ ---
MIDPOINT OF WALL FASTEN STRAPS\ 
TO STUDS WITH SCREWS #760600 

FASTEN PANELS TO STRAP-� 
BRACING WITH SCREWS #760604 . 

28 GA. LINER PANEL----------o-i 
(VARIED LENGTHS) 

\ 

LINER PANEL FINISHING TRIM #358140
� 

FASTEN WITH #12 x 3/4" -----a-#+tt­
SCREWS #760604 @ 12" O.C. -� 

STUD WALL TRACK -------� 

28 GA. LINER PANEL----� 
(VARIED LENGTHS) 

SECTION THRU WALL 

FRAMED OPENING STUD------++--+--­

FASTEN J TRIM WITH #12 x 3/4" 
SCREW #760604@ EACH STUD 

.:;;;;, l=====l 

LINER PANEL J TRIM #358040 - - - -�

SECTION THRU F.O. HEAD 

�--��--FASTEN WITH #12 x 3/4" #760604 --� 
SCREWS ON BOTH SIDES OF HEMMED 
JOINT AND @ 1 O" MAX O.C. - TOP, 
BOTTOM AND MIDDLE (STRAP BRACING) 
OF EACH WALL PANEL 

/ '\. / 

\�-- LOCK WALL PANEL HEM INTO PLACE 
BEFORE FASTENING 

20" COVERAGE 

SECTION THRU TYP. LINER PANEL SHEET 

�H-�HOLO LINER PANEL WALL )," 
AWAY FROM F.O. EOGE 

/ '\. 

r FASTEN J TRIM #358040 WITH #12 x

3/4" SCREWS #760604 @ 12" 0.C. 
28 GA. LINER PANEL 

,.....,."'- - - - ,--� - / '\. / '/ '--/ '\. / 

•1 g 

LP BRACING :340002

I 

I I 

SECTION THRU F.O. JAMB 

> 

r 

HOLDER #392010 DOOR/SHUTTER -

DOOR/SHUTTER HOLDER 

f- -
) 
I 

/ 

r LINER PANEL FINISHING 
TRIM #358140 

� FASTEN WITH #12 x 3/4"

� a' 
SCREWS #760604 @ 12" O.C. 

.J 
f- - --------

f- -

I 

I 

' 

� / 
I 

I 

( 
/ 

-

I 

I 

/ 

' 

) �-FASTEN WITH #12 x 3/4" 

;; 
SCREWS #760604 @ 12" 0.C. 

1 
LINER PANEL INTERIOR CORNER TRIM #358240 

-+If------..� 

/J 

-'I L�--t-'1_ 
·� / '\.

I 

I 

' / ' / ' / ' / - - -

� � LINER PANEL EXTERIOR CORNER TRIM #358340

�--FASTEN WITH #12 x 3/4" SCREWS 
#760604 @ 12" o.c.

�--LINER PANEL FINISHING TRIM #358140 

- -
"--

28 GA. LINER PANEL 

f 
I 

I 

LINER PANEL FASTENING DETAILS 

REVISIONS by "II 

b_i;' 
C/1 
::::, 
....J 
u 
X 
w 

w 
I 
f-

C/1 C/1 
::::. 

lL w 
0 f-
w C/1 
a:: >-
w C/1 
I 
f- c.oz 
� z 
a:: <( 
<( a:: 
a_ f-

....J ....J 
....J <( 
<( u 

f-0 uz <( 
<( f-
c.o lL 
:z 0 

§: >-
<( f-
a:: a:: 
0 w 

a_ 
C/1 0 

i!: a:: 
a_ 

ll!'i 

• 
.,, 
�. 
--

...... 
I 

() 
I 

....J 
w 

Cl 

0 
::.":?! 

0 
() 
Cl) 
w 

3: 

Date: 

Drawn by: 

Checked by: 

Scale: 

Order No. 

Sheet No. 

f-
::::, 
0 

i!: 
§: 
f-
a:: 
<( 

,..., a_ 

0 .... a:: 
0, CX) 0 "' -
,..., I w "' .... ....J ,..., 0 
§: 

CX) iii � 
w 

CX) 
0 z 

a:: co 
<( 

� 0 
a:: X w 
a_ <( u 

lL ::::, 
z 0 
::::, 0 0 

C/1 0 a:: 
;,: a_ 

w 
I a:: 0 ..... 

<( N w 
0 ,..., c:, 
a:: � f-z CX) 0
a:: 0 z 

::::, co 

c:, 
� >-

....J w <( 

§: ::::. 
u .... C: 0 

- lL :z ,..., 0 <( 

Cl) 

� 

w 

<..iz
vi 
w 
F 
....J 

Cl) 
u 
<( 
lL 

w 
a:: 

C!J 
lL 

lL 

0 

z
z 
0 

C/1 
- >

z <{ 

I-

<C 
cc 
I-

_J 
LL 

L 
0 " 

<( 
f- -

(J) :r: 
:::) f-

_J 

z 
0 

C/1 
C/1 
::,;; 
a:: 
w 

:z 
w 

� 
� 

,..., N .... 50 CX) ,._
0, - I "' I "' ,..., .... "' "' ,..., "' 

CX) �
;;o 

"' "' � "" 
w co --
- 0 X a:: co < 
<( 

� u.. 

a:: X 
w 

a_ w 
<{ a:: 
LL u.. 

z ::J ::::, 0 Cf) 0 1:2 
:;j: "' 

Cl I 
N ,._ 

<{ ..... "' 
0 N I 
a:: ,..., "' 

N 

z "'� 
a:: CX) �
::::, 0 25 
c:, co a:, 
....J �� 
;;o w 

w w 
a:: .... u u.. 

;;:, Li: ::J 
LL 

1:20 

en 
_J 

w � o

i::: <..i-en" -
" ::a: 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

14 of 19 

AutoCAD SHX Text
NOTE:  FRAMED OPENING FRAMING WILL REQUIRE SOME FIELD CUTTING

AutoCAD SHX Text
MISC. DETAILS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
SPW

AutoCAD SHX Text
TYPICAL TOWER SWING DOOR

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
JAMB SUPPORTS (SAME AS SWING DOOR)

AutoCAD SHX Text
4" x 2" 16 GA. "CEE"

AutoCAD SHX Text
TYPICAL TOWER WINDOW/SHUTTER

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
F.O. TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH TO SHUTTER JAMBS WITH CLIPS #330001

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
SWING DOOR JAMB SUPPORTS

AutoCAD SHX Text
4" x 2" 16 GA. "CEE"

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
F.O. TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH TO DOOR JAMBS WITH CLIPS #330001

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
LINER PANEL FASTENING DETAILS

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
SECTION THRU WALL

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN PANELS TO STRAP BRACING WITH SCREWS #760604 

AutoCAD SHX Text
LINER PANEL FINISHING TRIM 358440

AutoCAD SHX Text
STRAP BRACING #340002

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
LINER PANEL EXTERIOR CORNER TRIM #358340

AutoCAD SHX Text
LINER PANEL INTERIOR CORNER TRIM #358240

AutoCAD SHX Text
FASTEN J TRIM #358040 WITH #12 x #358040 WITH #12 x  WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
STRAP BRACING #340002 @ MIDPOINT OF WALL FASTEN STRAPS TO STUDS WITH SCREWS #760600

AutoCAD SHX Text
28 GA. LINER PANEL (VARIED LENGTHS)

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ EACH STUD

AutoCAD SHX Text
STUD WALL TRACK

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
STUD WALL TRACK

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" #760604 SCREWS ON BOTH SIDES OF HEMMED JOINT AND @ 10" MAX O.C. - TOP, BOTTOM AND MIDDLE (STRAP BRACING) OF EACH WALL PANEL

AutoCAD SHX Text
FASTEN J TRIM WITH #12 x 3/4" SCREW #760604 @ EACH STUD

AutoCAD SHX Text
LINER PANEL J TRIM #358040

AutoCAD SHX Text
SECTION THRU F.O. HEAD

AutoCAD SHX Text
28 GA. LINER PANEL (VARIED LENGTHS)

AutoCAD SHX Text
LOCK WALL PANEL HEM INTO PLACE BEFORE FASTENING 

AutoCAD SHX Text
SECTION THRU TYP. LINER PANEL SHEET

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
SECTION THRU F.O. JAMB

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
DOOR/SHUTTER

AutoCAD SHX Text
POSITIVE DOOR HOLDER #392010

AutoCAD SHX Text
DOOR/SHUTTER HOLDER 

AutoCAD SHX Text
#12 x 3/4" SELF DRILLING SCREWS #760600

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
14 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



FASTEN WITH SCREWS #760600 @ 6" O.C. 

FLOOR PANEL 

STUD WALL TRACK #330000 

i-- -- - 2"x2" CONCRETE POUR STOP
ANGLE #387620 (ALIGN EDGE OF
ANGLE TO EDGE OF WALL STUD)

t---- RAKE TRIM #380820 

��--WALL PANEL 

WATER TIGHT EAVE ANGLE #380015 
INSTALL BELOW INSIDE CLOSURE AND 
OUTSIDE OF WALL PANELS 

WALL STUDS 

2" LEG 

2"x3" CONCRETE POUR STOP-� 
ANGLE #397016 ATTACH TO 
JOIST /END TRACK WITH SCREWS 
#760600 AT 2'-0" O.C. 

•
• d 

EXTERIOR WALL PANEL 

STEP TRIM #381320 
FASTEN TRIM TO STUDS 
WITH #12 x 1 1/4" SCREWS 
#104172 AT 2'-0" O.C. 

• 

2'' CONCRETE COVER (BY OTHERS) 

.• 

FLOOR PANELS 

FASTEN TRIM TO FLOOR PANEL 
WITH #12 x 1 1/4" SCREWS 
#104172 AT 1'-0" O.C. 

RECESSED BALCONY FLOOR EDGE DETAIL RESIDENCE RECESSED AREA STEP TRIM DETAIL 

ANGLE 4"X4"X120" #380008,-- -rt-----i 
ATTACH TO STRUCTURAL BEAM W/ r-;::=:::::;" 
3/8" DIA. BOLTS (2' O.C. FIELD 
DRILL), ATTACH TO STUDS W/ 
SCREWS #760600 

�-W8 x 10 BEAM 

JOISTS 

�- SOFFIT/WALL PANEL #367920 
FASTEN @ 6" O.C. TO EVERY 
JOIST WITH #12 x 1 1/4" S.D. 
SCREWS #104172 

STEP TRIM #381420 FASTEN 
WITH #12 x 3/4" S.D. 
SCREWS #104082 @ 12" O.C. 

INSIDE CORNER TRIM #380420 --� 

INSIDE CORNER TRIM #380420 
FASTEN TRIM TO PANEL WITH 
#12 x 3/ 4" S.D. SCREWS #104082 
@ 12" O.C. (CENTER OF EACH PANEL) 

FASTEN TRIM TO PANEL WITH 
#12 x 3/4" S.D. SCREWS #104082 
O.C. (CENTER OF EACH PANEL)

@ 12" 

INTERIOR WALL - --­
STUD 

NOTCH TRIM #384620 FASTEN WITH 
#12 x 3/4" S.D. SCREWS #104082 AT 2'-0" O.C. 

6'-6 1/2" 

SECTION THRU RECESSED BALCONY CEILING 

/
�-JOISTS 

�

�-W12 x 30 BEAM / W14 x 34 BEAM-�

� 

NOTE: SOME FIELD NOTCHING 
OF FLOOR PANELS AND 
TRIM IS REQUIRED AROUND 
RAILING POSTS 

\ 

�- INSIDE CORNER TRIM #380420 
FASTEN TRIM TO PANEL WITH #12 x 3/4" 
S.D. SCREWS #104082 @ 12" O.C.
(CENTER OF EACH PANEL)

J\�- INTERIOR WALL STUD

11'-o" 

STEP TRIM #381420 FA STEN __r 
WITH #12 x 3/4" S.D. 
SCREWS #104082 @ 12" O.C. 

INSIDE CORNER TRIM #380420--�/ l 
V FASTEN TRIM TO PANEL WITH #12 x 3/4" 

S.D. SCREWS #104082 @ 12" O.C.
(CENTER OF EACH PANEL) 

/INTERIOR WALL STUD-� 
I 

NOTE: FIELD WELD ALL AROUND 
WITH 3/16" FILLET WELD 

1 /2" DIA. BOLT 
2'' OF CONCRETE BY OTHERS-� 

INSTALL DECKTITE #399149 AROUND -� 
RAILING SLEEVES BEFORE INSTALLING 
RAIL SYSTEM. FASTEN WITH TAPCONS 
#502840 FOR ATTACHING DECKTITE 
TO CONCRETE FLOOR 

STRUCTURAL FLOOR BEAM--------a-i 

-
lD

I 

n

SECTION THRU RECESSED BALCONY CEILING SECTION THRU HANDRAIL 

" 
.£! -
-�
�
c:,

�

REVISIONS 

I;!; 
en 
:::, 

u 
X 
w 
w "' i!: 0 .... 

0, 00 
en en "' -

:::. "' I 

LI... w "' .... 
0 >- "' 
w � '§: 00 
a:: �
w en w 00 
:r: 0 >- '-" a:: (0 

z 
<( 

�
� z a:: X 
a:: <( (l_ <( 
<( f'= LI... 
(l_ z 

:::, 0 
...J ...J en 0 
...J <( :;;: <( u

F I 
0 u 

0 ,.._ 
z 

;": 
<( N 

<( 0 "' a:: 
'-" LI... �
z 0 z 00 

'§: a:: 0 

� :::, (0 
<( OJ 

�
a:: a:: ...J w0 w 30 (l_ u en 0 .... G:
i!: a:: 

;;:; 
LI... 

(l_ 0 

(/) 

�

�w 

(/) 

CJ.z 
.,-11, �
..... <( 

.. a: 
.... I-

...... 
I 

(,) 
I 

....J 
w 

Cl 

0 
�

0 
LL 

2 

(,) 0
-

<r: 
C/) f-

U1 :r:: 
w =i f-

3: u _J 

by 

>-
0 

i!:
30
>-
a:: 
<( 
(l_ 

a:: 
0 

w 
...J 
0 
:r:
30
z 

0 
w 
u 
:::, 
0 
0 
a:: 
(l_ 
w 
a:: z 

0 
w en OJ en 
>- :::. 
0 a:: 
z w 

(l_ 

<( z 
:::. t:! 0 
z a:: 
<( 30

(/) 

<( 

w
0
>-

u 

<(
o::J
0
w 

Cl) (/) 
:;:; (/) ·-w
,-.:: u
-w
:l (1".

Date 
MARCH 5, 2018 

Drawn by 
GWL 

Checked by 
SPW 

Scale 
SHOWN 

Order No. 
TTS-105/#199204 

Sheet No. 

15 of 19 

AutoCAD SHX Text
RECESSED BALCONY DETAILS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
SPW

AutoCAD SHX Text
SECTION THRU RECESSED BALCONY CEILING

AutoCAD SHX Text
2

AutoCAD SHX Text
C

AutoCAD SHX Text
SECTION THRU RECESSED BALCONY CEILING

AutoCAD SHX Text
2

AutoCAD SHX Text
B

AutoCAD SHX Text
NOTCH TRIM #384620 FASTEN WITH  #12 x 3/4" S.D. SCREWS #104082 AT 2'-0" O.C. 

AutoCAD SHX Text
ANGLE 4"X4"X120" #380008, ATTACH TO STRUCTURAL BEAM W/ 3/8" DIA. BOLTS (2' 0.C. FIELD DRILL), ATTACH TO STUDS W/ SCREWS #760600

AutoCAD SHX Text
JOISTS 

AutoCAD SHX Text
JOISTS 

AutoCAD SHX Text
SOFFIT/WALL PANEL #367920 FASTEN @ 6" O.C. TO EVERY JOIST WITH #12 x 1 1/4" S.D. SCREWS #104172

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
INSIDE CORNER TRIM #380420  FASTEN TRIM TO PANEL WITH  #12 x 3/4" S.D. SCREWS #104082 @ 12" O.C. (CENTER OF EACH PANEL)

AutoCAD SHX Text
INSIDE CORNER TRIM #380420  FASTEN TRIM TO PANEL WITH #12 x 3/4"  S.D. SCREWS #104082 @ 12" O.C.   (CENTER OF EACH PANEL)

AutoCAD SHX Text
STEP TRIM #381420 FASTEN WITH #12 x 3/4" S.D. SCREWS #104082 @ 12" O.C.

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
INSIDE CORNER TRIM #380420  FASTEN TRIM TO PANEL WITH  #12 x 3/4" S.D. SCREWS #104082  @ 12" O.C. (CENTER OF EACH PANEL)

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
NOTE: SOME FIELD NOTCHING

AutoCAD SHX Text
NOTE:  FIELD WELD ALL AROUND

AutoCAD SHX Text
INSTALL DECKTITE #399149 AROUND RAILING SLEEVES BEFORE INSTALLING RAIL SYSTEM. FASTEN WITH TAPCONS #502840 FOR ATTACHING DECKTITE TO CONCRETE FLOOR

AutoCAD SHX Text
STRUCTURAL FLOOR BEAM

AutoCAD SHX Text
WITH 3/16" FILLET WELD

AutoCAD SHX Text
1/2" DIA. BOLT

AutoCAD SHX Text
2" OF CONCRETE BY OTHERS

AutoCAD SHX Text
OF FLOOR PANELS AND

AutoCAD SHX Text
RAILING POSTS

AutoCAD SHX Text
TRIM IS REQUIRED AROUND

AutoCAD SHX Text
SECTION THRU HANDRAIL

AutoCAD SHX Text
2

AutoCAD SHX Text
A

AutoCAD SHX Text
STEP TRIM #381420 FASTEN WITH #12 x 3/4" S.D. SCREWS #104082 @ 12" O.C.

AutoCAD SHX Text
INSIDE CORNER TRIM #380420  FASTEN TRIM TO PANEL WITH #12 x 3/4"  S.D. SCREWS #104082 @ 12" O.C.   (CENTER OF EACH PANEL)

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
RAKE TRIM #380820

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
FLOOR PANEL

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
STUD WALL

AutoCAD SHX Text
FASTEN WITH SCREWS #760600 @ 6" O.C.

AutoCAD SHX Text
RECESSED BALCONY FLOOR EDGE DETAIL

AutoCAD SHX Text
2"x2" CONCRETE POUR STOP ANGLE #387620 (ALIGN EDGE OF ANGLE TO EDGE OF WALL STUD)

AutoCAD SHX Text
WATER TIGHT EAVE ANGLE #380015 INSTALL BELOW INSIDE CLOSURE AND OUTSIDE OF WALL PANELS

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
RESIDENCE RECESSED AREA STEP TRIM DETAIL

AutoCAD SHX Text
EXTERIOR WALL PANEL

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
2" CONCRETE COVER (BY OTHERS)

AutoCAD SHX Text
2"x3" CONCRETE POUR STOP ANGLE #397016 ATTACH TO JOIST/END TRACK WITH SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
2" LEG

AutoCAD SHX Text
FASTEN TRIM TO FLOOR PANEL WITH #12 x 1 1/4" SCREWS #104172 AT 1'-0" O.C.

AutoCAD SHX Text
STEP TRIM #381320 FASTEN TRIM TO STUDS WITH #12 x 1 1/4" SCREWS #104172 AT 2'-0" O.C.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
15 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



AutoCAD SHX Text
HOUSE WRAP INFORMATION

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
SPW

AutoCAD SHX Text
STANDARD TYPICAL HOUSE WRAP INFORMATION

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
IMPORTANT: The details shown are standard details for Tyvek Homewrap and Tyvek Flexwrap.  Both of these products were not included in Fire Facilities material package and are required to be supplied by the G.C.  The tower supplied by Fire Facilities will vary from typical drawings shown, it is the G.C.'s responsibility to achieve proper product installation to ensure tower is as weatherproof as possible. The G.C. will be held accountable to use proper installation procedures provided by the manufacturers of all weatherproofing materials supplied by the G.C. 

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
16 of 19



SUGGESTED HANGER TRACK LAYOUT HANGER TRACK 2"

\�ND FLOOR 
JOIST LAYOUT \ \ 

X 5" 14 GA. "Z" #329007 CONNECT TRACKS TO 
SIDE OF JOISTS, PERPENDICULAR OR PARALLEL UNDER 

\�-_:_--::- ' _ _:_--::-_:_--::-_:_--::-_:_:-\--::- ' _ _:__�' -_-' -� =--=--- Ll 
_
-

_
' --*' -_-

'� --=--=--==-- ' - -$ 
I \ 

' I
fjlI 
!I
!I
I 

I 
i 

I I 
' i 
i\1 

\ 
' ' I I
! !I I
! ! I I

I I 
' ' I I
I I 

I I 
i i 
I I 

' i 
/f,1 

' ' I I
! !I I
! !I I

I I 
' ' I I
I I 

I I 
i i 
I I 
i i 
I I 

' ' 

\ 

\ 

� 
� 

\ 

\ 

� 

' I
I 

\ 

L--L_ I -, 
--�) 

' 

�\ 
/ II II I 

I I I I I 
\ / II //\ II I 

<�rfr, 1c -\ ct L -- c -� ----+ \- c cT c -c -----c - �

\j/ 

' - ----- - ------- - ____ --::---¥_ --- ------- -----�---------- -------4Ji
I I I I 

------ -----
' I I I I I 

I I I ' ' ' I I I ' �=�===II==� 
'j] I '
'I '
'I '

I ,, I
I j'

' 'I I 
' 'I I 
' 'I I 
' 'I I ' '

I I ' '

I'
I ' 

' I 
' I 
! I 
! I 

I 
iI 
' 

II 
' I 
' 

\ 

\ 

\ 

I \ 

h 

h 

\ 

l_ 

-----) 
\ 

h 

le 

I ' 
------ -----

I ____ ·, -----+ __________ --------dD 

BEAM LAYOUT JOIST PLAN BEAM OBSTRUCTION LAYOUT HANGER TRACK PLAN 

SCALE: 1/4" = /'-0" 

c:::::__-c::::::>---
::::::::::

:::::
-- ::::: / /

FIELD NOTCH HANGER -�
TRACKS THAT RUN 

////_
/

--=-°) 

1ST FLOOR HANGER TRACK/PARTITION WALL LAYOUT 

� FLOOR JOISTS
/ 8" x 2 1 /2" 16 GA. "CEE"

____,__ FASTEN HANGER TRACK TO EVERY
INTERSECTING JOIST WITH #12 x 
3/4" S.D. SCREWS #760600

{28 TOTAL} (23) MOVABLE-�
PARTITION WALLS #329026, 
(5) PARTITION WALL WITH 
WORKING DOOR #329102.

_____ T ________ _
' 

I 
' 

I 

' '
I I' '
I I' 'I I I 

' ' '
� --- ---' -- ,1 --
I I I I , I I ' I ' 

I I �--- --- -- ! ! -- --- ---! -----
1 I I I I I 
I I I I I 

J_____j_____ __ _ I ___________ I __ _ __ Le 
/II I I I ' 

' \ 

l-l__-, --� 

"i ! 
! ! ! I 

I� i II i i II I 
-�-=---::--=---::--l___--::--=---::--=---::--=---::--=---::--=---::--_j-_b __ -=_-=-1 _ ---=- \ L __ -=-�-+-=---=- --__l==-=--==-=---- - , 

1ST FLOOR PARTITION WALL PLAN 

FASTEN HANGER TRACK TO JOIST
WITH #12 x 3/4" S.D. SCREWS
#760600 AT 2' -0" O.C.

FLOOR JOISTS NOTE: LOCATIONS OF HANGER TRACKS AND PARTITION WALLS IS A SUGGESTION ONLY 
ERECTOR SHOULD COORDINATE ANAL PATTERNS WITH CUSTOMER. 

HANGER TRACK THAT RUNS WITH 
THE FLOOR JOISTS WILL START &
STOP AS SHOWN 

TYPICAL HANGER TRACK INTERSECTION DETAIL 

\3RD FLOOR 
\ JOIST LAYOUT

C_�' -- ' ------- -\- ' 
I � 

- - - - - ' --J 
\ 

' I ' ' I I ' 

" ' ' 

SUGGESTED HANGER TRACK LAYOUT HANGER TRACK 2"
X 5" 14 GA "Z" #329007 CONNECT TRACKS TO 
UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL

' "tr-1- ' '
I I' '
I I' '
I I \ 

I I 
! ! 

(,

I -

! 
I 

' '===#====#====f.� 
,.>---' I J II I I I 

' I � ! ! 
-

! ' ! 
I I 

� 

b 

r 

I I 
I I 

' ' 

I I

I I 

I I 
I I 
' ' 

I I 

I I 
f---+--- ! 

I 
'

II II ,""I I 
i i i i i � i 
I I I I I I 
i i i i � i 
I /v, I, 11 I 

I\ II ii � c els -I Ir , I / II II 11I i \ i i i i i 
'.1 \ / 11 A 11 1 1 

�;,..� \ ct�£_:_ ____ c- --=-*----" /=- \ __ c -Tc --c ------ --c -�

\// 

-I I' '
I I'

' '

I I' '

-===-- �----C--==--="4li
---!j 
---!j 
--- 1 ·1 --lr======l ·H / I f---------,� -, 'I :C> I 

L '
--��L--�I 

� i
' ' '
I I lf--'=7-_, I F===a a======P ' 

I 

I I 
' ' 

I I 
' ' 

= 
If---+----, ' 

If---+----, I\/ �

BEAM LAYOUT
JOIST PLAN 

BEAM OBSTRUCTION LAYOUT
HANGER TRACK PLAN 

2RD FLOOR HANGER TRACK/PARTITION WALL LAYOUT 
SCALE: 1/4" = 1'-0" 

{20 TOTALl (16) MOVABLE-�
PARTITION WALLS #329031, 
(4) PARTITION WALL WITH 
WORKING DOOR #329120.

--1----------i------
-=====�---=---_------l I I II I I I I I I I 

! I I , ____..-\ : 11 ___ _ _  
1� __ 

1 
I ' ' 

( 

' 

I 
' 

I 
' 

I 
'----------

1 

' 

k ----- I --- I L 
I � -1-L �L-�I _________ _ 

' '
I Ik ----- --- i 
' 'I I 
' ' 
k I 

' 

I 

,---1 
' ' I I 
' ' 
I I 

i 

- - � - = -= -cea/l,------- ----- ' 
' I I I D 
1------ ___ I I __ _ _____ I ____ _ 
I i i I i i , I ' I I I ' 

I I ________ _____ JI --- --- ____ _J
i i j i j I 

\I 

LJ__ -- i -- i j_ -- i ___ i -__ j -- -__ 'ec-----��--
• ' 

0
! j 

I i I ! 
,1 

I jI I I I I , I · 
l--tr:s----::-_:_-::-_:_-::-_:_-::-_:_-::-_:_-::- j-::-_:_-::-_:_-:-_:_4-_-=--=-J�\ __ L __ -=-�-�-=---=----I-==-=--==-=--- i !

F[ [ [ I I [ [ I [ [ -

3RD FLOOR PARTITION WALL PLAN 

--

c::-� -
-�., 
c::, 
.Q 

� 

REVISIONS 

w 
> 

VJ 
::::, 
__J 
0 
X w 
w ,....,
f---- 0 

.... 
0) 00 

VJ VJ '° �
::,, ,...., I 

u... � '° .... 
0 

,...., 
w VJ ;;:: 00 "" >- � w VJ 00 w 0 

('.) "" <D 
z 

<( 
� 

VJ 
z f---- "" X "" <( "-- <( 

<( "" u... 
"-- f---- z

::::, 0 
__J __J VJ 0 
__J <( :;,: <( 0 

f---- I 
0 0 

0 r--
z ;": <( N 
<( 0 ,...., "" 
('.) u... � 
z 0 z 00 

;;:: "" 0 
>- ::::, <D 

<( f---- CD 
� "" "" __J 

0 w ;;:: w 
"-- 0 

VJ 0 .... u... 
:r: "" ;;:, u... 
f---- "-- 0 

Cl) 

�

�w 

Cl) 

CJ.z 
.,,-_,I�
..... <(

"- a:
-- I-

T'"" 

I 
(.) 
I 

.....J 
w 

Cl 
0 
� 

_J 

LL 
0 2 

(.) 0 " 

<( 
en f--

w 
(/) I 
=:) f--

3: u _J 

by 

f----
::::, 
0 

:r: 
f----
30 

f----"" 
<( "--"" 
0 

w 
__J 
0 

i 
z 

0 w 
0
::::, 
0 
0 "" 
"--w"" z 

0 w VJ CD VJ 
f---- ::,, 
0 "" 
z w 
>- "--
<( z 
::,, � 
0 f----
z � <( 

(/) 
I-
:::J 
0 
<( 
_J 

_J 
w 

z 
<( 
()__ 

z 
0 
I-
I-
O:'. 
<( 
()__ 

w 

•• _J 
�m 
I:: <( 

>
-o 
gi ::,;: 
i5i 

Date: 
MARCH 5, 2018 

Drawn by: 
GWL 

Checked by: 

Scale: 
SHOWN 

Order Na. 
TTS-105/#199204 

Sheet No. 

17 of 19 

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
MOVABLE PARTITION PANEL LAYOUTS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
NOTE:  LOCATIONS OF HANGER TRACKS AND PARTITION WALLS IS A SUGGESTION ONLY

AutoCAD SHX Text
       ERECTOR SHOULD COORDINATE FINAL PATTERNS WITH CUSTOMER.

AutoCAD SHX Text
JOIST PLAN

AutoCAD SHX Text
TYPICAL HANGER TRACK INTERSECTION DETAIL

AutoCAD SHX Text
#760600 AT 2'-0" O.C.

AutoCAD SHX Text
WITH #12 x 3/4" S.D. SCREWS

AutoCAD SHX Text
FASTEN HANGER TRACK TO JOIST

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
FIELD NOTCH HANGER TRACKS THAT RUN PERPENDICULAR TO JOIST

AutoCAD SHX Text
FASTEN HANGER TRACK TO EVERY INTERSECTING JOIST WITH #12 x 3/4" S.D. SCREWS #760600

AutoCAD SHX Text
HANGER TRACK THAT RUNS WITH THE FLOOR JOISTS WILL START & STOP AS SHOWN

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
8" x 2 1/2" 16 GA. "CEE"

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
HANGER TRACK PLAN

AutoCAD SHX Text
1ST FLOOR HANGER TRACK/PARTITION WALL LAYOUT

AutoCAD SHX Text
1ST FLOOR PARTITION WALL PLAN

AutoCAD SHX Text
SUGGESTED HANGER TRACK LAYOUT HANGER TRACK 2"  HANGER TRACK LAYOUT HANGER TRACK 2" X 5" 14 GA. "Z" #329007 CONNECT  TRACKS TO UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL

AutoCAD SHX Text
{28 TOTAL} (23) MOVABLE PARTITION WALLS #329026,  (5) PARTITION WALL WITH WORKING DOOR #329102. #329102.#329102.

AutoCAD SHX Text
2ND FLOOR JOIST LAYOUT 

AutoCAD SHX Text
BEAM OBSTRUCTION LAYOUT

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
JOIST PLAN

AutoCAD SHX Text
HANGER TRACK PLAN

AutoCAD SHX Text
2RD FLOOR HANGER TRACK/PARTITION WALL LAYOUT

AutoCAD SHX Text
3RD FLOOR PARTITION WALL PLAN

AutoCAD SHX Text
HANGER TRACK 2" X 5" 14 GA. "Z" #329007

AutoCAD SHX Text
UP

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
BEAM LAYOUT

AutoCAD SHX Text
UP

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
3RD FLOOR JOIST LAYOUT 

AutoCAD SHX Text
BEAM LAYOUT

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
SUGGESTED HANGER TRACK LAYOUT HANGER TRACK 2"  HANGER TRACK LAYOUT HANGER TRACK 2" X 5" 14 GA. "Z" #329007 CONNECT  TRACKS TO UNDERSIDE OF JOISTS, PERPENDICULAR OR PARALLEL

AutoCAD SHX Text
BEAM OBSTRUCTION LAYOUT

AutoCAD SHX Text
{20 TOTAL} (16) MOVABLE PARTITION WALLS #329031,  (4) PARTITION WALL WITH WORKING DOOR #329120. #329120.#329120.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
17 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



--STAIR STRINGER A36 STEEL 
(HOT DIPPED GALVANIZED) 

3/8" DIA. CONCRETE ANCHOR (ONE PER STRINGER) 
ICBO REPORT 4514 APPROVED ANCHOR MINIMUM 
EMBEDMENT IS 1-3/4" SEE MANUFACTURES 
INSTRUCTIONS FOR INSTALLATION 

DETAIL 1 

1 1/4" ID SCHEDULE 40 STAIR RAILING 
(HOT DIPPED GALVANIZED) 

(2) 3/8" DIA. A307 BOLTS

BAR GRATING TREADS ' 
(HOT DIPPED GALVANIZED) ' 1111111111� 

' 
' 

' 

STAIR STRINGER A36 STEEL 
(HOT DIPPED GALVANIZED) 

DETAIL 3 

" 
" 

" 

(2) 3/8" BOLTS, FIELD DRILL.

GALV. BAR GRATE TREAD-� 

1" x 1" X 1/8" GALV. ANGLE 

• 

' 

CONCRETE 

FLOOR PANEL 

LI .· 

EXISTING FRAMING 

GALV. STRINGER 

DETAIL 11 

DETAIL 11 
. . - . .... . ... 

ATTACH GAP RAIL TO 
FLANGES WITH SET SCREW. 
FASTEN RAILING FLANGES 
#399297 TO STUDS WITH ( 4) 
SCREWS #392001 AND WHIZ 
NUTS #502910, (2) PER 
STUD 

2 �" FROM FACE OF STAIR HEADER 
TO CENTER OF BACK TO BACK STUDS 

ATTACH GAP RAIL POST TO -� 
BASE WITH SET SCREWS. 

. 
CD 

I 

n 

FASTEN VERTICAL BASE ___ _ _ __ 
#399293 TO CHANNEL WITH (2) 
3/8" DIA. BOLTS #760100 & 
WHIZ NUTS #625058 

FLOOR SUPPORT CHANNEL/JOIST 

0 SECTION THRU GAP RAIL 

J TRIM #358040 FASTEN 
HORIZONTAL PIECE TO DOUBLE 
STUDS (FASTEN VERTICAL PIECES T 
HORIZONTAL PIECE AT CORNERS) 
WITH #12 x 3/4" SCREWS #760604 

BACK TO BACK STUDS 

/
FINISHED 
FLOOR LINE 

LINER PANEL 

SECTION VIEW B 
(AREAS WITH LINER PANEL) 

L"""-DRILL HOLES IN CHANNEL 
J STAIR RISER TO CHANNEL 

���--,-,---'S=E�C�O,--;ND FLOOR 
' . . . . 

STAIR STRINGER 
GALVANIZED 

15 TREADS @ 10" (+1 1/4") = 151 1/4"

SECTION THRU STAIR 

TAIL 3 (TYP.) 

DETAIL 1 

GROUND FLOOR 

scale: N. T.S. 

I 
0 -
II 

CO =ro 
.I @ 
0 - {/) 

°" w
ii'. 

<D-

H 
GAP RAIL #399299 (SEE DETAIL 

RESIDENCE STAIR PLAN 

B)� H 

REVISIONS by 

e 

I 
a: 

! 
e

.5 �

c:: 
-�-
.9-
ti"' 
c:, 

.Q 

-5l 

ill 
� ::i � " 

g�� "' � 18
w 

E u
l"l .. 

:::,�J, � e« ... 
jo..'f 8.. co 
;;; � i: 
• • � � � -� � 

w> 
VJ 
::::, 
...J 0
w
w
i!: 
VJ VJ 

::,; 
LL. �0w VJ "" >-w VJ 

i!: c.,) 
z 

VJ z f-"" << "" 
CL f-
...J ...J 
...J < < 0 

f-0 0z 
;::: < 

c.,) LL. 

z 0 

3: >-< f-"" "" 0 w
VJ CL 

0
:r: "" 
f- CL 

ll!'i 

• 
.,, 
'!.. 
'11111. 
--

T""" 

I 
() 
I 

.....J 
w 

C) 

0 
�

0 
() 
en 
w 

�

Date: 

Drawn by: 

Checked by: 

Scale: 

Order Na. 

Sheet No. 

18 

f-
::::, 
0 

:r: 
f-
'.'ii: 
f-"" 
< 

r<") 
CL 

0 .... "" 
a, CX) 0
L{) 

-
r<") I w 
L{) .... ...J 

r<") 0 

3:
CX) 

i-

CX) w 0 z "" <D 

< � 0 w "" 
CL < 0 

LL. ::::, 
z 0 
::::, 0 0 

VJ 0 "" 
:.: CL w
I "" z 

0 r-- 0 < N w VJ 
0 r<") co VJ "" f- ::,; -

z CX) 0 "" "" 0 z w
::::, <D CL 
co 

� >-
...J < z 
3: 

w ::,; �0 
st LL. 0 f-

;;, 
LL. z �0 <

Cl) 

�

w r<") N 

st 50 CX) r--

I-
a, - I 
LC) I 0, 

() "' st "' 
z LC) 

r<") 
<D 

Cl) §: 
CX) 'iii"

<D VJ � <X) 

> 
w w co -f- - 0 X 

...J "' <D < 

Cl) 
0 

< - u... 
< Cl:'. X 

w 
CL w < e: LL. w z 

__J "" ::,
0 __J 

CJ 
LL. 

VJ
0 �-

LL. st <D 

0 0 I 
N 

z
<( r-- "' 

z 0 N I 
0 Cl:'. r<") 

0, 

VJ N 

z 0, 

5 � 
- Cl:'. CX) -0 ::, 0 8 

z (Il <D <X) 

< ...J ��
§: w 

I ww "" 
- st 0 LL. -

LL. ::l

<( 
"' 

LL. �0 

a: 
I-

_J 
LL 

0 . 
<(

f- qi 
(f) I :;:, O:'.'. ;:: -
:::J f- <( 

- f-
u _J :fl (/) 

6i 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

of 19 

AutoCAD SHX Text
STAIR

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
RESIDENCE STAIR PLAN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
GAP RAIL #399299 (SEE DETAIL B)

AutoCAD SHX Text
16 RISERS @ 8" = 10'-8" 

AutoCAD SHX Text
FIELD DRILL HOLES IN CHANNEL

AutoCAD SHX Text
AND BOLT STAIR RISER TO CHANNEL

AutoCAD SHX Text
SECTION THRU STAIR    scale: N.T.S.

AutoCAD SHX Text
STAIR STRINGER

AutoCAD SHX Text
GALVANIZED

AutoCAD SHX Text
SECOND FLOOR

AutoCAD SHX Text
GROUND FLOOR

AutoCAD SHX Text
DETAIL 3 (TYP.)

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
DETAIL 11

AutoCAD SHX Text
FLOOR PANEL

AutoCAD SHX Text
GALV. BAR GRATE TREAD

AutoCAD SHX Text
GALV. STRINGER

AutoCAD SHX Text
1" x 1" X 1/8" GALV. ANGLE

AutoCAD SHX Text
DETAIL 11

AutoCAD SHX Text
(2) 3/8" BOLTS, FIELD DRILL.

AutoCAD SHX Text
EXISTING FRAMING

AutoCAD SHX Text
CONCRETE

AutoCAD SHX Text
DETAIL 3

AutoCAD SHX Text
CONCRETE FLOOR

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
STAIR STRINGER A36 STEEL  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
3/8" DIA. CONCRETE ANCHOR (ONE PER STRINGER) ICBO REPORT 4514 APPROVED ANCHOR MINIMUM EMBEDMENT IS 1-3/4" SEE MANUFACTURES INSTRUCTIONS FOR INSTALLATION

AutoCAD SHX Text
1 1/4" ID SCHEDULE 40 STAIR RAILING (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
(2) 3/8" DIA. A307 BOLTS

AutoCAD SHX Text
BAR GRATING TREADS (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STAIR STRINGER A36 STEEL   (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
ATTACH GAP RAIL TO FLANGES WITH SET SCREW.  FASTEN RAILING FLANGES #399297 TO STUDS WITH (4) SCREWS #392001 AND WHIZ NUTS #502910, (2) PER STUD

AutoCAD SHX Text
J TRIM #358040 FASTEN HORIZONTAL PIECE TO DOUBLE STUDS (FASTEN VERTICAL PIECES TO HORIZONTAL PIECE AT CORNERS) WITH #12 x 3/4" SCREWS #760604

AutoCAD SHX Text
LINER PANEL

AutoCAD SHX Text
BACK TO BACK STUDS

AutoCAD SHX Text
BACK TO BACK STUDS

AutoCAD SHX Text
ATTACH GAP RAIL POST TO BASE WITH SET SCREWS.  FASTEN VERTICAL BASE #399293 TO CHANNEL WITH (2) 3/8" DIA. BOLTS #760100 & WHIZ NUTS #625058

AutoCAD SHX Text
SECTION VIEW B (AREAS WITH LINER PANEL)

AutoCAD SHX Text
FINISHED FLOOR LINE

AutoCAD SHX Text
FLOOR SUPPORT CHANNEL/JOIST

AutoCAD SHX Text
B

AutoCAD SHX Text
SECTION THRU GAP RAIL

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
18 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by



STAIR STRINGER A36 STEEL 
(HOT DIPPED GALVANIZED) 

3/8" DIA. CONCRETE ANCHOR (ONE PER STRINGER) 
ICBO REPORT 4514 APPROVED ANCHOR MINIMUM 

EMBEDMENT IS 1-3/4" SEE MANUFACTURES 
INSTRUCTIONS FOR INSTALLATION 

DETAIL 1 

1 1/4" ID SCHEDULE 40 STAIR RAILING 
(HOT DIPPED GALVANIZED) 

(2) 3/8" DIA. A307 BOLTS

BAR GRATING TREADS ' 
(HOT DIPPED GALVANIZED) ' 

' 
' 

' 

STAIR STRINGER A36 STEEL 
(HOT DIPPED GALVANIZED) 

DETAIL 3 

' 
<D 
...., 

CONCRETE FLOOR 

(2) 3/8" BOLTS, FIELD DRILL.

CONCRETE 

FLOOR PANEL 

.. 

EXISTING FRAMING 

GALV. STRINGER 

�-GALV. BAR GRATE TIREAD 

1" x 1" X 1/8" GALV. ANGLE 

DETAIL 11 

FLOOR OPENING TOE ANGLE #399000 -­
(INSTALL WITH HEMMED LEG UP) 
FASTEN ANGLE TO CONCRETE WITH 
TAPCONS #502840 @ 2' O.C. (MAX)

. 
c.o 
I 

I"") 

NOTE: HANDRAILS WILL HAVE 

A MINIMUM OFFSET FROM A 

WALL OF 2 INCHES 

CONCRETE COVER
FINISHED FLOOR LINE

�--i--1r=i=�
--�-c1----------,

LI 
LI 

<I 

2"x3" CONCRETE POUR STOP -----�HI=-----------1
ANGLE #397016 TO FLOOR
PANELS WITH SCREWS 
#760600 AT 2'-0" O.C.

SECTION THRU HANDRAIL 

DETAIL 11

FIELD DRILL HOLES IN CHANNEL � 

AND BOLT STAIR RISER TO 

CHANNEL 

STAIR STRINGER-� 

PRIME PAINTED 

DETAIL 11

FIELD DRILL HOLES IN CHANNEL � 

AND BOLT STAIR RISER TO 

CHANNEL 

STAIR STRINGER 

PRIME PAINTED 

DETAIL 1

8 TREADS @ 11" (+1 1/4') = 89.25" 

SECTION THRU STAIRS 

ODD 
ODD 

DETAIL 10

DOD 
DOD 

DETAIL 10

scale: N. T.S. 

0 
I 

in 
II 

';,, 
'b 

r-
IX) 

I <O

in <O

@ 

{/) "' w 
{/) 

ii: 
"' 

' 
0 
I 

in 
II 

';,, 
'b 

r-
IX) 

I <O

in <O

@ 

{/) "' w 
{/) "' 
"' 

;,. 
I 

in� 
II 

z 
�a 

;,. 
N 0::
--: 0

I r- 0
in @� 

{/) f-"' {/) 
w-
{/) � 
ii: 
"' 

;,.
I 

in� 
II� 

';,, 0 

;,. 
N 0:: 
--: 0r- 0
@� in 
{/) f-"' {/) 
w-
{/) � 
ii: 
"' 

GROUND FLOOR __ �

scale: N.T.S.

scale: N.T.S.

(2) 3/8" BOLTS, FIELD DRILL.
�-----BAR GRATE 

(HOT DIPPED GALVANIZED) 

BAR GRATE TREAD 
(HOT DIPPED GALVANIZED) 

1" x 1" x 1/8" ANGLE-­
(HOT DIPPED GALVANIZED) 

DETAIL 

\ I

00 
I

I"") 

1 0 

EXISTING FRAMING 

STRINGER 
(HOT DIPPED GALVANIZED) 

00 
I

00 

THIRD FLOOR STAIR & RAILING PLAN 

SECOND FLOOR STAIR & RAILING PLAN 

l 

l 

1" x 1/8" BAR 
GRATING BAND BOTH
ENDS GALVANIZED

,,---1" x 1 /8" BAR 
GRATING BAND BOTH
ENDS GALVANIZED

REVISIONS by 

e 

! 
.: 
C 

J 

.ii 
" ••
..m 

"' "'"' N � " 
8:il!il "' ... w . .., n. E 0 1 
:::, :i;; a) 
�eN .. ;a.er • 
�l� C 

• 
� �
� •• � 

w 
> 
(/) 
::::, 
_J 
0 
X w 
w 
F' 
(/) (/) 

:::. u... w 
0 I-
w (/) 
er >-
w (/) 

F' '-' 
z 

(/) 
I- z
0:: <
< fl"0.. 
_J _J 

< 
< 0 

I-0 0
z < 
< I-
'-' u... 
z 0 
;;.: 

� < 
0:: 0:: 0 w 

0.. 
(/) 0 
:r: 0:: 
I- 0.. 

� 

• 
.,, 
i!.. 
--

..... 

I 
0 
I 

....J 
w 

Cl 

0 
� 

0 
0 
(/) 
w 

3: 

Date 

Drawn by 

Checked by 

Scale 

Order No. 

Sheet No. 

I-
::::, 
0 

F' 
3: 
I-
er 
< 

"' 0.. 

0 v er 
0, co 0 "' -
"' I w "' v _J "' 0 

;;.: co 
;§ � 

w co 
0 z 

er <.O 
< 

� 0 
0:: X w 
0.. < 

0 
u... ::::, 

z 0 
::::, 0 0 
(/) 0 er- 0.. 

v w 
I er z 

0 r-- 0 
< N w (/) 0 "' (Il (/) er � I- :::.
z co 0 0:: 
0:: 0 z w 
::::, <.O 0.. 
(Il 

� >-
_J 

w 
< z 

;;.: :::. 
� 0 

v LL 0
- u... z 0:: "' 0 < ;;.: 

(/) 

:E 
w ...., Nst- 5 0 co ,-.. 

I-
"' - I "' I 0, 

cj "' st- .,.,
z "' ...., <O 

(/) co � 
<O 

ui <O 
� "" 

> 
w . co � 
F � 0 X
::J "' <O < 

(/) 
0 <( ._,, LL..
<1'. "' X w 

0.. w 
<1'. "' 
u.. L..

w z 
_J 0:: ::, 0 _J 

CJ 
u.. {/) 0 � -
u.. st- <O 

0 0 I N,-.. 

z 
<1'. r- .,., z 0 N I 

0 "' ...., 0, 

(/) 
N 

z 0, 

>
� 

- "' IX) � 
0 ::, 0 8 

z 
co <O "" 

<1'. _J �� 
§ w

w 
w"' 

- st- u L.. 
- c;: _J 

<( 
...., _J u.. � 0 

cc 
I-

_J 
LL 

L 
0 

. 
<( f-

� U) (fl I ;.:: 0:::
f- - <i:

0 _J " I-" (/) 

MARCH 5, 2018 

GWL 

SPW 

SHOWN 

TTS-105/#199204 

19 of 19 

AutoCAD SHX Text
STAIRS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
GROUND FLOOR

AutoCAD SHX Text
SECOND FLOOR

AutoCAD SHX Text
THIRD FLOOR

AutoCAD SHX Text
9 RISERS @ 7.125" = 5'-4"  (1ST FLOOR ONLY)

AutoCAD SHX Text
9 RISERS @ 7.125" = 5'-4"  (1ST FLOOR ONLY)

AutoCAD SHX Text
9 RISERS @ 6.6875" = 5'-0" 

AutoCAD SHX Text
9 RISERS @ 6.6875" = 5'-0" 

AutoCAD SHX Text
SECTION THRU STAIRS    scale: N.T.S.

AutoCAD SHX Text
FIELD DRILL HOLES IN CHANNEL AND BOLT STAIR RISER TO CHANNEL

AutoCAD SHX Text
PRIME PAINTED

AutoCAD SHX Text
STAIR STRINGER

AutoCAD SHX Text
FIELD DRILL HOLES IN CHANNEL AND BOLT STAIR RISER TO CHANNEL

AutoCAD SHX Text
STAIR STRINGER

AutoCAD SHX Text
PRIME PAINTED

AutoCAD SHX Text
DETAIL 3 (TYP.)

AutoCAD SHX Text
DETAIL 3 (TYP.)

AutoCAD SHX Text
FLOOR SUPPORT CHANNEL

AutoCAD SHX Text
FINISHED FLOOR LINE

AutoCAD SHX Text
SECTION THRU HANDRAIL

AutoCAD SHX Text
FLOOR OPENING TOE ANGLE #399000 (INSTALL WITH HEMMED LEG UP) FASTEN ANGLE TO CONCRETE WITH TAPCONS #502840 @ 2' O.C. (MAX)

AutoCAD SHX Text
CONCRETE COVER

AutoCAD SHX Text
2"x3" CONCRETE POUR STOP ANGLE #397016 TO FLOOR PANELS WITH SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
A

AutoCAD SHX Text
DETAIL 10

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
DETAIL 10

AutoCAD SHX Text
NOTE: HANDRAILS WILL HAVE A MINIMUM OFFSET FROM A WALL OF 2 INCHES

AutoCAD SHX Text
SECOND FLOOR STAIR & RAILING PLAN

AutoCAD SHX Text
scale:  N.T.S.

AutoCAD SHX Text
THIRD FLOOR STAIR & RAILING PLAN

AutoCAD SHX Text
scale:  N.T.S.

AutoCAD SHX Text
1" x 1/8" BAR GRATING BAND BOTH ENDS GALVANIZED

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
FLOOR PANEL

AutoCAD SHX Text
GALV. BAR GRATE TREAD

AutoCAD SHX Text
GALV. STRINGER

AutoCAD SHX Text
1" x 1" X 1/8" GALV. ANGLE

AutoCAD SHX Text
DETAIL 11

AutoCAD SHX Text
(2) 3/8" BOLTS, FIELD DRILL.

AutoCAD SHX Text
EXISTING FRAMING

AutoCAD SHX Text
CONCRETE

AutoCAD SHX Text
DETAIL 3

AutoCAD SHX Text
CONCRETE FLOOR

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
STAIR STRINGER A36 STEEL  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
3/8" DIA. CONCRETE ANCHOR (ONE PER STRINGER) ICBO REPORT 4514 APPROVED ANCHOR MINIMUM EMBEDMENT IS 1-3/4" SEE MANUFACTURES INSTRUCTIONS FOR INSTALLATION

AutoCAD SHX Text
1 1/4" ID SCHEDULE 40 STAIR RAILING (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
(2) 3/8" DIA. A307 BOLTS

AutoCAD SHX Text
BAR GRATING TREADS (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STAIR STRINGER A36 STEEL   (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
1" x 1/8" BAR GRATING BAND BOTH ENDS GALVANIZED

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
BAR GRATE (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
BAR GRATE TREAD (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STRINGER (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
1" x 1" x 1/8" ANGLE (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
DETAIL 10

AutoCAD SHX Text
EXISTING FRAMING

AutoCAD SHX Text
(2) 3/8" BOLTS, FIELD DRILL.

AutoCAD SHX Text
DETAIL 11

AutoCAD SHX Text
DETAIL 11

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
TOLL FREE (800) 929-3726 TOLL FREE FAX (866) 639-7012

AutoCAD SHX Text
- A DIVISION OF FIRE FACILITIES, INC.

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITH OUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
PROPERTY OF TACTICAL TRAINING SYSTEMS

AutoCAD SHX Text
WESCO MODEL HC-1

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
LITHIA, FL

AutoCAD SHX Text
MARCH 5, 2018

AutoCAD SHX Text
GWL

AutoCAD SHX Text
TTS-105/#199204

AutoCAD SHX Text
19 of 19

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by


	Sheets and Views
	00-titlepagehc-1-Model
	01-HC1A-Model
	02-HC1B-Model
	03-HC1C-Model
	04-HC1D-Model
	05-ABOLTHC-1-Model
	06-STRFRM-Model
	07-STRELEV-Model
	08-STRELEV2-Model
	09-SECTT-Model
	10-SECTR-Model
	11-JOIST-Model
	12-PSTUDELEV-Model
	13-MISC-Model
	14-MISC2-Model
	15-MISC3-Model
	16-MISC4-Model
	17-PARTITIONLAYOUT1-Model
	18-STAIR-Model
	19-STAIR2-Model




